



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096184	SAYYAD ABRAR ALI SAYYAD MANZOOR ALI - RUHI ANJUM 2023016402104386 (1)Mumbai-(10)	58651 32+	8+	40		FEC101 17+	17			58652 26+	13+	39		FEL101 18+	18		58655 29+	8+	37		FEL102 19+	19		18.00 97.50	5.42 --	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	
		58653 32+	15+	47		FEL103 19+	38			58654 32+	8	40		FEL104 21+	31		FEL105 24+	24								
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	E	5.00	5.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096185	BAIG TOHEED SAHER YASMEEN 2023016402104394 (1)Mumbai-(10)	58651 32E	10+	42		FEC101 16+	16			58652 5F	9+	14		FEL101 17+	17		58655 24+	7+	31		FEL102 24+	24		18.00 --	-- --	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	
		58653 16F	14+	30		FEL103 17+	28			58654 32E	10+	42		FEL104 21+	31		FEL105 34+	34								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096186	BHAGWAT PRAJJWAL SADASHIV VASUNDHARA 2022016402425005 (1)Mumbai-(10)	58651 32+	8+	40		FEC101 16+	16			58652 12F	6+	18		FEL101 16+	16		58655 24+	6+	30		FEL102 25+	25		18.00 --	-- --	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	
		58653 33+	10+	43		FEL103 20+	39			58654 35+	9+	44		FEL104 19+	33		FEL105 36+	36								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL-NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096187	DESAI HARSH MAHENDRA VRUSHALI 2023016402100551 (1)Mumbai-(10)	58651 33+	11+	44	1.00	FEC101 19+	19	24+	6+	30	58652 1.00	P 4.00	8.00	FEL101 0.50	C 7.00	3.50	58655 2.00	E 5.00	10.00	FEL102 0.50	O 10.00	5.00	18.00	96.50	5.36	--			
		58653 32	16+	48	1.00	FEL103 19+	38	32+	9+	41	58654 1.00	P 4.00	12.00	FEL104 1.00	D 6.00	6.00	FEL105 1.00	C 7.00	7.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096188	/ HAQUE SAYED AIMAN MAHMUDUL GHAZALA 2023016402116406 (1)Mumbai-(10)	58651 36+	10+	46	1.00	FEC101 17+	17	25+	6+	31	58652 1.00	P 4.00	8.00	FEL101 0.50	B 8.00	4.00	58655 2.00	C 7.00	14.00	FEL102 0.50	O 10.00	5.00	18.00	107.00	5.94	--			
		58653 42	8+	50	1.00	FEL103 20+	39	32+	8+	40	58654 1.00	P 4.00	12.00	FEL104 1.00	C 7.00	7.00	FEL105 1.00	B 8.00	8.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096189	KHAN MOHAMMAD KAIF AAMINA 2022016402424822 (1)Mumbai-(10)	58651 38+	8E	46	1.00	FEC101 12+	12	4F	6E	10	58652 1.00	F 0.00	0.00	FEL101 0.50	D 6.00	3.00	58655 2.00	F 0.00	0.00	FEL102 0.50	O 10.00	5.00	18.00	--	--				
		58653 32+	8+	40	1.00	FEL103 22+	43	32+	8+	40	58654 1.00	P 4.00	12.00	FEL104 1.00	B 8.00	8.00	FEL105 1.00	A 9.00	9.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096190	KHAN RASIL IRSHAD ALVINA 2023016402120516 (1)Mumbai-(10)	58651 32+	10+	42		FEC101 19+	19			58652 24+	6+	30		FEL101 15+	15		58655 29+	11+	40		FEL102 23+	23		18.00	100.50	5.58	--		
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00				
		58653 32	11+	43		FEL103 18+	37			58654 45+	14+	59		FEL104 14+	24		FEL105 36+	36											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	E	5.00	5.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096191	MANSURI AMMAAR TANVEER SANA 2023016402104251 (1)Mumbai-(10)	58651 AA	9+	9		FEC101 12+	12			58652 AA	10+	10		FEL101 15+	15		58655 8F	6+	14		FEL102 19+	19		18.00	--	--	--		
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	A	9.00	4.50				
		58653 14F	11+	25		FEL103 17+	33			58654 32+	9+	41		FEL104 17+	29		FEL105 34+	34											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096192	MISHRA HIMANSHU RATNAKAR SANDHYA 2023016402076867 (1)Mumbai-(10)	58651 32+	10+	42		FEC101 14+	14			58652 26+	6+	32		FEL101 13+	13		58655 27+	6+	33		FEL102 18+	18		18.00	97.00	5.39	--		
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00				
		58653 62	8+	70		FEL103 18+	37			58654 32+	9+	41		FEL104 18+	28		FEL105 28+	28											
		3.00	B	8.00	24.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096193	QAZI SUFIYAN AHMED SAMIRA 2022016401318492 (1)Mumbai-(10)	58651 33+	13+	46		FEC101 --	24+	24		58652 11F	6+	17		FEL101 --	21+	21		58655 24+	14+	38		FEL102 --	23+	23	18.00	--			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	--	--		
		58653 32+	8+	40		FEL103 --	24+	48		58654 32+	0F	32		FEL104 --	23+	39		FEL105 --	45+	45									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096194	/ ALISHA SALIM SHAIKH MEHAK SHAIKH 2023016402076732 (1)Mumbai-(10)	58651 32+	9+	41		FEC101 --	17+	17		58652 26+	10+	36		FEL101 --	17+	17		58655 35+	7+	42		FEL102 --	23+	23	18.00	109.50			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.08	--		
		58653 44	9+	53		FEL103 --	21+	38		58654 42+	8+	50		FEL104 --	22+	32		FEL105 --	37+	37									
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096195	/ SHAIKH SALWA KAFEEL ARSHIYA 2023016402115241 (1)Mumbai-(10)	58651 33+	14+	47		FEC101 --	16+	16		58652 24+	11+	35		FEL101 --	20+	20		58655 24+	9+	33		FEL102 --	23+	23	18.00	--			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 AA	11+	11		FEL103 --	21+	40		58654 61+	14+	75		FEL104 --	22+	34		FEL105 --	35+	35									
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	A	9.00	27.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096196	SIDDIQUE ABDUL AZIZ ZAFRURREHMAN - UMME GAFEERA 2023016402080575 (1)Mumbai-(10)	58651 32+	12+	44	4	FEC101 19+	19	19	19	58652 24+	10+	34	34	FEL101 22+	22	22	22	58655 26+	7+	33	33	FEL102 20+	20	20	20	Unsuccessful 18.00 --			
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 19F	9+	28	28	FEL103 19+	32	32	32	58654 32+	7F	39	39	FEL104 20+	32	32	32	FEL105 34+	34	34	34								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096197	SONVANE SAMEERA SACHIN KALPANA 2023016402086831 (1)Mumbai-(10)	58651 32+	8+	40	40	FEC101 19+	19	19	19	58652 24+	6+	30	30	FEL101 19+	19	19	19	58655 24+	8+	32	32	FEL102 23+	23	23	23	Successful 18.00 93.50			
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.19 --			
		58653 32	13+	45	45	FEL103 18+	29	29	29	58654 32+	9+	41	41	FEL104 20+	30	30	30	FEL105 32+	32	32	32								
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096198	WAGHOO MOHAMMED HUSAIN SHAMSHEER - SAMEENA 2023016402114091 (1)Mumbai-(10)	58651 32+	9+	41	41	FEC101 15+	15	15	15	58652 24+	6+	30	30	FEL101 18+	18	18	18	58655 5F	8+	13	13	FEL102 23+	23	23	23	Unsuccessful 18.00 --			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		58653 20F	9+	29	29	FEL103 19+	34	34	34	58654 33+	6F	39	39	FEL104 22+	32	32	32	FEL105 35+	35	35	35								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096199	ARYA VINIT KAILASHCHANDRA DIVYA - DIVYA 2023016402059633 (1)Mumbai-(126)	58651 AA	AA	AA	AA	FEC101 --	21+	21	21	58652 AA	7+	7	7	FEL101 --	20+	20	20	58655 28+	10+	38	38	FEL102 --	22+	22	22	18.00 --
		3.00	F	0.00	AB	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 AA	10+	10	10	FEL103 --	21+	40	40	58654 AA	10+	10	10	FEL104 --	23+	40	40	FEL105 --	38+	38	38					
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096200	ATARA PRATHAM KISHOR PARVATI 2023016402071673 (1)Mumbai-(126)	58651 21F	8+	29	29	FEC101 --	19+	19	19	58652 25+	7+	32	32	FEL101 --	20+	20	20	58655 27+	7+	34	34	FEL102 --	19+	19	19	18.00 --
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --
		58653 11F	12+	23	23	FEL103 --	20+	36	36	58654 32E	10+	42	42	FEL104 --	21+	40	40	FEL105 --	43+	43	43					
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096201	BAGAL PRATHAMESH ARUN NANDINI 2023016402065003 (1)Mumbai-(126)	58651 36+	13+	49	49	FEC101 --	22+	22	22	58652 34+	8+	42	42	FEL101 --	21+	21	21	58655 37+	10+	47	47	FEL102 --	21+	21	21	18.00 123.00
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	6.83 --
		58653 40	9+	49	49	FEL103 --	20+	39	39	58654 40+	15+	55	55	FEL104 --	24+	42	42	FEL105 --	43+	43	43					
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096202	BHANUSHALI SHREY PRAHLAD HETAL 2023016402056847 (1)Mumbai-(126)	58651 OF	13+	13		FEC101 --	19+	19		58652 15F	6+	21		FEL101 --	18+	18		58655 28E	7+	35		FEL102 --	19+	19	18.00 --				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --			
		58653 AA	13+	13		FEL103 --	18+	35		58654 43E	12+	55		FEL104 --	23+	40		FEL105 --	41+	41									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096203	DEBNATH NEHA SHAMBHU RAMA 2023016402060226 (1)Mumbai-(126)	58651 32+	8+	40		FEC101 --	19+	19		58652 30+	9+	39		FEL101 --	18+	18		58655 24+	7+	31		FEL102 --	17+	17	18.00 --				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 35+	8+	43		FEL103 --	18+	35		58654 5F	10+	15		FEL104 --	19+	36		FEL105 --	34+	34									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096204	FURIYAKEVALKISHOR HIRAL 2023016402070213 (1)Mumbai-(126)	58651 32	8+	40		FEC101 --	19+	19		58652 32+	7+	39		FEL101 --	20+	20		58655 31+	10+	41		FEL102 --	20+	20	18.00 106.00				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.89 --			
		58653 32+	11+	43		FEL103 --	18+	39		58654 32+	8+	40		FEL104 --	20+	37		FEL105 --	45+	45									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096205	PRATIK PRASHANT GAIDHANI PRADNYA 2023016402058564 (1)Mumbai-(126)	58651 17F	9+	26		FEC101 ---	20+	20		58652 25+	6+	31		FEL101 ---	20+	20		58655 24+	6+	30		FEL102 ---	20+	20	Unsuccessful 18.00 --				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 18F	11+	29		FEL103 ---	20+	37		58654 32+	11+	43		FEL104 ---	23+	43		FEL105 ---	42+	42									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096206	/ NAVYA GANDOTRA DEEPIKA 2023016402090337 (1)Mumbai-(126)	58651 32+	8+	40		FEC101 ---	20+	20		58652 26+	9+	35		FEL101 ---	19+	19		58655 32+	7+	39		FEL102 ---	18+	18	Successful 18.00 104.50				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	5.81 --			
		58653 38	8+	46		FEL103 ---	17+	32		58654 33+	10+	43		FEL104 ---	23+	40		FEL105 ---	37+	37									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096207	GANDHARV MAHESH GAONKAR SAYLI 2023016402058467 (1)Mumbai-(126)	58651 6F	8+	14		FEC101 ---	23+	23		58652 28+	6+	34		FEL101 ---	19+	19		58655 26+	6+	32		FEL102 ---	21+	21	Unsuccessful 18.00 --				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 8F	8+	16		FEL103 ---	20+	36		58654 4F	8+	12		FEL104 ---	23+	40		FEL105 ---	41+	41									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096208	/ JAIN KINJAL BASANT LALITA	58651				FEC101				58652				FEL101				58655				FEL102			Successful	
		32+	18+	50		--	22+	22		24+	7+	31		--	20+	20		39	7+	46		--	19+	19	18.00 119.50	
	2023016402060106																									
	(1)Mumbai- (126)	58653				FEL103				58654				FEL104				FEL105								
		38	14+	52		--	23+	42		32	11+	43		--	23+	40		--	46+	46						
		3.00 D	6.00	18.00	1.00 O	10.00	10.00	2.00 P	4.00	8.00	0.50 O	10.00	5.00	2.00 C	7.00	14.00	0.50 A	9.00	4.50						6.64 --	



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096211	LATHIA UDAY VIJAY PURVI 2023016402071553 (1)Mumbai-(126)	58651 32+ 10+ 42 3.00 P 4.00 12.00	FEC101 1.00 O 21+ 10.00 10.00	58652 24+ 7+ 31 2.00 P 4.00 8.00	FEL101 1.00 O 21+ 10.00 5.00	58655 24+ 7+ 31 2.00 P 4.00 8.00	FEL102 1.00 O 19+ 9.00 4.50	Successful 18.00 100.50 5.58 --																					
		58653 32 8+ 40 3.00 P 4.00 12.00	FEL103 1.00 A 19+ 9.00 9.00	58654 32+ 9+ 41 3.00 P 4.00 12.00	FEL104 1.00 O 23+ 10.00 10.00	FEL105 1.00 O 43+ 43 1.00 O 10.00 10.00	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --																						
7096212	MANDHARE ABHIJIT NITIN NEHA 2022016402063726 (1)Mumbai-(126)	58651 32+ 8+ 40 3.00 P 4.00 12.00	FEC101 1.00 O 21+ 10.00 10.00	58652 24+ 6+ 30 2.00 P 4.00 8.00	FEL101 1.00 O 23+ 10.00 5.00	58655 28+ 12+ 40 2.00 D 6.00 12.00	FEL102 1.00 O 20+ 10.00 5.00	Successful 18.00 102.00 5.67 --																					
		58653 32 9+ 41 3.00 P 4.00 12.00	FEL103 1.00 B 20+ 8.00 8.00	58654 33 8+ 41 3.00 P 4.00 12.00	FEL104 1.00 A 22+ 9.00 9.00	FEL105 1.00 A 38+ 38 1.00 A 9.00 9.00	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --																						
7096213	MHATRE SANIDHYA MANOHAR MANISHI 2022016402060167 (1)Mumbai-(126)	58651 32+ 8+ 40 3.00 P 4.00 12.00	FEC101 1.00 O 20+ 10.00 10.00	58652 24+ 6+ 30 2.00 P 4.00 8.00	FEL101 1.00 O 22+ 10.00 5.00	58655 25+ 7+ 32 2.00 P 4.00 8.00	FEL102 1.00 O 21+ 10.00 5.00	Unsuccessful 18.00 -- -- --																					
		58653 32+ 8+ 40 3.00 P 4.00 12.00	FEL103 1.00 C 19+ 7.00 7.00	58654 24F 12+ 36 3.00 F 0.00 0.00	FEL104 1.00 O 24+ 10.00 10.00	FEL105 1.00 O 40+ 40 1.00 O 10.00 10.00	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --																						

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096214	OZA ANKITKUMAR DHANRAJ DIMPLE	58651				FEC101				58652				FEL101				58655				FEL102				Successful			
		33+	11+	44		---	20+	20		28+	10+	38		---	19+	19		37+	10+	47		---	19+	19		18.00 118.00			
	2023016402059552	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	C	7.00	14.00	0.50	A	9.00	4.50	6.56 --			
	(1)Mumbai-(126)	58653				FEL103				58654				FEL104				FEL105											
		40	12+	52		---	20+	35		32+	13+	45		---	23+	41		---	42+	42									
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096215	OZA DHRUWIN RAJESH LEELA RAJESH OZA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful			
		32+	13+	45		---	19+	19		28+	7+	35		---	23+	23		28+	7+	35		---	18+	18		18.00 --			
	2022016402058516	3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	-- --			
	(1)Mumbai-(126)	58653				FEL103				58654				FEL104				FEL105											
		6F	10+	16		---	16+	36		32+	9+	41		---	19+	38		---	33+	33									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096216	PADGHAWALA MURTUZA HUSAIN FARIDA	58651				FEC101				58652				FEL101				58655				FEL102				Successful			
		38+	13+	51		---	21+	21		26+	8+	34		---	23+	23		35+	7+	42		---	21+	21		18.00 112.00			
	2022016402063517	3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.22 --			
	(1)Mumbai-(126)	58653				FEL103				58654				FEL104				FEL105											
		32+	12+	44		---	19+	38		32+	8+	40		---	23+	42		---	39+	39									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096217	PANCHAL DHRUVEN KETAN NEELAM 2022016402057262 (1)Mumbai-(126)	58651 20F	8+	28		FEC101 ---	20+	20		58652 25+	9+	34		FEL101 ---	20+	20		58655 27+	7+	34		FEL102 ---	21+	21	18.00	Unsuccessful --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--		
		58653 32+	8+	40		FEL103 ---	21+	35		58654 AA	8+	8		FEL104 ---	19+	37		FEL105 ---	39+	39									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096218	AYUSH ROHIT PATEL MAYA 2023016402058324 (1)Mumbai-(126)	58651 32+	9+	41		FEC101 ---	20+	20		58652 32+	6+	38		FEL101 ---	18+	18		58655 25+	6+	31		FEL102 ---	20+	20	18.00	Successful 110.00			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.11	--		
		58653 48	10+	58		FEL103 ---	17+	33		58654 39+	9+	48		FEL104 ---	21+	38		FEL105 ---	41+	41									
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096219	RUSHAB ANIL PENDURKAR ANITA 2023016402059915 (1)Mumbai-(126)	58651 33+	13+	46		FEC101 ---	21+	21		58652 24+	7+	31		FEL101 ---	20+	20		58655 24+	9+	33		FEL102 ---	20+	20	18.00	Successful 114.00			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.33	--		
		58653 36	13+	49		FEL103 ---	21+	40		58654 42+	13+	55		FEL104 ---	24+	42		FEL105 ---	44+	44									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096220	RATHOD RAHUL PRAKASH POONAM 2022016402064084 (1)Mumbai-(126)	58651 34+	8+	42		FEC101 --	20+	20		58652 27+	AA	27		FEL101 --	23+	23		58655 24+	6+	30		FEL102 --	20+	20	18.00 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 AA	8+	8		FEL103 --	21+	38		58654 AA	9+	9		FEL104 --	24+	42		FEL105 --	40+	40						
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096221	ROHAN RANJIV RATHOD RANJANA 2023016402071731 (1)Mumbai-(126)	58651 18F	8+	26		FEC101 --	21+	21		58652 25+	6+	31		FEL101 --	19+	19		58655 24+	7+	31		FEL102 --	16+	16	18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 14F	11+	25		FEL103 --	19+	36		58654 33+	14+	47		FEL104 --	23+	40		FEL105 --	44+	44						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096222	RAVAL MAYANK PRAKASH DEEPA 2023016402058483 (1)Mumbai-(126)	58651 32+	9+	41		FEC101 --	18+	18		58652 28+	6+	34		FEL101 --	18+	18		58655 32+	10+	42		FEL102 --	17+	17	18.00 103.50	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	5.75 --
		58653 38+	8+	46		FEL103 --	16+	36		58654 32	9+	41		FEL104 --	21+	39		FEL105 --	44+	44						
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096223	SHAH PARAM BHADRESH PRITI 2023016402069612 (1)Mumbai-(126)	58651 33	8+	41		FEC101 19+	19		58652 24+	9+	33		FEL101 19+	19		58655 34+	9+	43		FEL102 18+	18		Successful 18.00 105.50			
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	5.86 --
		58653 32+	9+	41		FEL103 19+	38		58654 36+	13+	49		FEL104 23+	41		FEL105 44+	44									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096224	SAMBHAV PANKAJ SHAH MAMTA PANKAJ SHAH 2023016402058131 (1)Mumbai-(126)	58651 38	15+	53		FEC101 19+	19		58652 24+	7+	31		FEL101 18+	18		58655 26+	6+	32		FEL102 18+	18		Successful 18.00 105.00			
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.83 --
		58653 32+	13+	45		FEL103 18+	37		58654 34+	8+	42		FEL104 21+	38		FEL105 41+	41									
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096225	JAYSHRI PANKAJ SHINDE SUNITA 2023016402065193 (1)Mumbai-(126)	58651 17F	9+	26		FEC101 22+	22		58652 24+	6+	30		FEL101 19+	19		58655 24+	7+	31		FEL102 18+	18		Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 28F	11+	39		FEL103 20+	38		58654 33+	8+	41		FEL104 22+	39		FEL105 36+	36									
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096226	SHIVAM SURYAWANSHI KAVITA 2022016402060643 (1)Mumbai-(126)	58651 32	8+	40		FEC101 19+	19		58652 26+	7+	33		FEL101 19+	19		58655 24+	9+	33		FEL102 18+	18		Successful 18.00	98.50			
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.47	--
		58653 37+	8+	45		FEL103 16+	35		58654 32+	8+	40		FEL104 19+	35		FEL105 40+	40										
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096227	VADHWANA KUSH KAMLESH MAMTA 2023016402056816 (1)Mumbai-(126)	58651 44+	8+	52		FEC101 21+	21		58652 25	9+	34		FEL101 18+	18		58655 24+	7+	31		FEL102 19+	19		Successful 18.00	108.50			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	6.03	--
		58653 32+	9+	41		FEL103 22+	41		58654 32+	8+	40		FEL104 24+	41		FEL105 44+	44										
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096228	SAINATH M VADJE VASANTI 2023016402059826 (1)Mumbai-(126)	58651 33+	11+	44		FEC101 22+	22		58652 30+	7+	37		FEL101 22+	22		58655 33+	8+	41		FEL102 20+	20		Successful 18.00	110.00			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.11	--
		58653 32+	11+	43		FEL103 21+	43		58654 37+	12+	49		FEL104 22+	39		FEL105 44+	44										
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096229	/ VAIDYA KAVYALAKSHMI KESHAO PRAGATI 2023016402060756 (1)Mumbai-(126)	58651 43+	8E	51	18.00	FEC101 1--	18+	18	8.00	58652 30+	9+	39	12.00	FEL101 1--	19+	19	9.00	58655 36+	8+	44	12.00	FEL102 1--	18+	18	18.00	Unsuccessful 18.00 --			
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	-- --			
		58653 8F	9+	17	0.00	FEL103 1--	19+	38	9.00	58654 32+	8+	40	12.00	FEL104 1--	22+	39	9.00	FEL105 1--	42+	42	10.00								
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096230	VEKARIA DEVANG GAJENDRA SONAL 2023016402058815 (1)Mumbai-(126)	58651 34+	8+	42	12.00	FEC101 1--	21+	21	10.00	58652 24+	7+	31	8.00	FEL101 1--	20+	20	5.00	58655 30+	11+	41	12.00	FEL102 1--	21+	21	18.00	Successful 18.00 105.00			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.83 --			
		58653 33+	8+	41	12.00	FEL103 1--	19+	39	9.00	58654 36+	12+	48	15.00	FEL104 1--	21+	38	9.00	FEL105 1--	35+	35	8.00								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096231	ADVANI DEEPAK SHANKER KAVITA 2022016402219231 (1)Mumbai-(366)	58651 32+	8+	40	12.00	FEC101 1--	10+	10	4.00	58652 24+	6+	30	8.00	FEL101 1--	11+	11	2.00	58655 26+	6+	32	8.00	FEL102 1--	13+	13	18.00	Successful 18.00 83.00			
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	4.61 --			
		58653 37	8+	45	15.00	FEL103 1--	14+	26	6.00	58654 32+	9+	41	12.00	FEL104 1--	18+	38	9.00	FEL105 1--	21+	21	4.00								
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096232	ATHWANI SAHIL CHETAN SIMRAN 2022016402211781 (1)Mumbai-(366)	58651 33+	9+	42		FEC101 15+	15		58652 27	10+	37		FEL101 17+	17	58655 34+	41+	38	FEL102 13+	13		Successful 18.00	104.50					
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	D	6.00	3.00	5.81	--
		58653 32+	14+	46		FEL103 21+	43		58654 32+	10+	42		FEL104 23+	44	FEL105 44+	44											
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096233	BABLANI MANAV KEWALAL POOJA 2022016402216894 (1)Mumbai-(366)	58651 32+	13+	45		FEC101 12+	12		58652 24+	13+	37		FEL101 16+	16	58655 24+	6+	30	FEL102 10+	10		Unsuccessful 18.00	--					
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	--	--
		58653 11F	8+	19		FEL103 13+	23		58654 9F	12+	21		FEL104 14+	28	FEL105 40+	40											
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096234	JAKHARIYA SAHIL HITESH BHAVANA 2022016402222496 (1)Mumbai-(366)	58651 32E	8+	40		FEC101 11+	11		58652 19F	8+	27		FEL101 18+	18	58655 24+	7+	31	FEL102 10+	10		Unsuccessful 18.00	--					
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	--	--
		58653 34+	8+	42		FEL103 11+	21		58654 34+	8+	42		FEL104 18+	35	FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096235	JATIN SURESH JHAMNANI KIRAN 2022016402216205 (1)Mumbai-(366)	58651 26F	8+	34		FEC101 11+	11			58652 24+	6+	30		FEL101 10+	10		58655 26+	9+	35		FEL102 14+	14		18.00 --		
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	-- --
		58653 32+	10+	42		FEL103 13+	23			58654 49+	9+	58		FEL104 14+	28		FEL105 36+	36								
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096236	MOTWANI HEMANT SANJAY ANJALI 2022016402216082 (1)Mumbai-(366)	58651 32+	9+	41		FEC101 12+	12			58652 27+	6+	33		FEL101 17+	17		58655 24+	8+	32		FEL102 10+	10		18.00 --		
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	-- --
		58653 23F	10+	33		FEL103 16+	26			58654 36+	8+	44		FEL104 20+	40		FEL105 38+	38								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096237	NAGARE ROHIT SAMPAT SUNITA 2022016400998431 (1)Mumbai-(366)	58651 32+	8+	40		FEC101 13+	13			58652 15F	7+	22		FEL101 19+	19		58655 24E	7+	31		FEL102 13+	13		18.00 --		
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --
		58653 36+	10+	46		FEL103 14+	24			58654 32+	8+	40		FEL104 21+	41		FEL105 45+	45								
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096238	RANGWANI KRISHNA DEEAPK HEMA 2022016402215585 (1)Mumbai-(366)	58651 41+	8+	49		FEC101 16+	16			58652 27+	9+	36		FEL101 23+	23		58655 25+	9+	34		FEL102 15+	15			Successful 18.00 103.50 5.75 --	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	
		58653 34	9+	43		FEL103 17+	35			58654 37+	8+	45		FEL104 21+	37		FEL105 43+	43								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096239	/ VISHINDASANI TANVI DEEPAK VISHAKA 2022016402219463 (1)Mumbai-(366)	58651 32+	9+	41		FEC101 18+	18			58652 24E	6+	30		FEL101 20+	20		58655 24E	9+	33		FEL102 17+	17			Unsuccessful 18.00 -- -- --	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	
		58653 28F	10+	38		FEL103 19+	33			58654 32+	9+	41		FEL104 21+	39		FEL105 38+	38								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096240	AHER CHINMAY PRASHANT SEEMA 2023016400710142 (2)Dadar-(356)	58651 40+	8+	48		FEC101 20+	20			58652 25	10+	35		FEL101 23+	23		58655 24+	9+	33		FEL102 23+	23			Successful 18.00 100.00 5.56 --	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	
		58653 36	8+	44		FEL103 14+	27			58654 33	10+	43		FEL104 24+	46		FEL105 32+	32								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096241	/ BAGUL KHUSHI NAMDEV SAMRATA 2023016400702123 (2)Dadar-(356)	58651 32	9+	41		FEC101 --	21+	21		58652 28+	13+	41		FEL101 --	22+	22		58655 24+	8+	32		FEL102 --	23+	23	18.00	103.00			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.72	--		
		58653 33+	8+	41		FEL103 --	16+	31		58654 32+	10+	42		FEL104 --	24+	44		FEL105 --	40+	40									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096242	CHAUDHARI CHETAN VINOD LALITA 2023016400702162 (2)Dadar-(356)	58651 48+	12+	60		FEC101 --	19+	19		58652 19F	6+	25		FEL101 --	21+	21		58655 16F	6+	22		FEL102 --	22+	22	18.00	--			
		3.00	C	7.00	21.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	--	--		
		58653 40+	10+	50		FEL103 --	16+	31		58654 32+	9+	41		FEL104 --	23+	43		FEL105 --	39+	39									
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096243	DHONDGE DHANVEN SUBODH SHRAVANI 2023016400716235 (2)Dadar-(356)	58651 32+	12+	44		FEC101 --	19+	19		58652 24+	6+	30		FEL101 --	23+	23		58655 26+	7+	33		FEL102 --	22+	22	18.00	99.00			
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.50	--		
		58653 32	8+	40		FEL103 --	18+	35		58654 33+	10+	43		FEL104 --	24+	45		FEL105 --	40+	40									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE						
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G							
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11														
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G							
7096244	SIDDHESH VITTHAL GARJE SHAHABAI 2023016400703285 (2) Dadar- (356)	58651 32+	15+	47	47	FEC101 ---	21+	21	21	24+	9+	33	33	FEL101 ---	21+	21	21	21	58655 34+	11+	45	45	FEL102 ---	23+	23	23	23	18.00	120.00	6.67	--	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00							
		58653 32	12+	44	44	FEL103 ---	21+	41	41	50+	14+	64	64	FEL104 ---	23+	42	42	42	FEL105 ---	40+	40	40										
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00											
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																						
7096245	GHARKAR SAHIL ANIL ANAMIKA 2023016400703664 (2) Dadar- (356)	58651 32	13+	45	45	FEC101 ---	20+	20	20	24+	9+	33	33	FEL101 ---	22+	22	22	22	58655 26+	9+	35	35	FEL102 ---	21+	21	21	21	18.00	106.00	5.89	--	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00							
		58653 32	8+	40	40	FEL103 ---	16+	31	31	32+	16+	48	48	FEL104 ---	23+	42	42	42	FEL105 ---	39+	39	39										
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00											
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																						
7096246	GOUD PRETI ABHIMANYU LAXMI LAXMI 2023016400716185 (2) Dadar- (356)	58651 34+	16+	50	50	FEC101 ---	20+	20	20	32+	11+	43	43	FEL101 ---	22+	22	22	22	58655 43+	11+	54	54	FEL102 ---	23+	23	23	23	18.00	126.00	7.00	--	
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	B	8.00	16.00	0.50	O	10.00	5.00							
		58653 38	11+	49	49	FEL103 ---	18+	35	35	40+	15+	55	55	FEL104 ---	24+	44	44	44	FEL105 ---	38+	38	38										
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00											
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																						

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096247	GUPTA ANKIT RAJESH MITHILESH MITHILESH 2023016400716355 (2) Dadar- (356)	58651 17F	16+	33		FEC101 --	20+	20		58652 35+	6+	41		FEL101 --	21+	21		58655 25+	9+	34		FEL102 --	22+	22	18.00 --				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 35+	8+	43		FEL103 --	17+	33		58654 32+	8+	40		FEL104 --	23+	46		FEL105 --	38+	38									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096248	GUPTA RUDRA RAJENDRA NIRMALA 2022016402150232 (2) Dadar- (356)	58651 32+	15+	47		FEC101 --	13+	13		58652 24E	6+	30		FEL101 --	21+	21		58655 24+	6+	30		FEL102 --	24+	24	18.00 --				
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 25F	8+	33		FEL103 --	17+	38		58654 28F	8+	36		FEL104 --	21+	41		FEL105 --	41+	41									
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096249	/ SNEHA BANDU INGALE ANITA 2023016400702324 (2) Dadar- (356)	58651 AA	8+	8		FEC101 --	19+	19		58652 24+	RR	RR		FEL101 --	21+	21		58655 24E	8+	32		FEL102 --	22+	22	18.00 --				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	F	0.00	RR	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 AA	8+	8		FEL103 --	15+	27		58654 21F	9+	30		FEL104 --	24+	42		FEL105 --	36+	36									
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096250	YASH LAWOO KADAM PRIYANKA 2022016402152931 (2) Dadar- (356)	58651 3F	9+	12		FEC101 1--	12+	12		58652 8F	8+	16		FEL101 1--	20+	20		58655 30+	9+	39		FEL102 1--	22+	22	18.00 --	
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 11F	8+	19		FEL103 1--	18+	36		58654 1F	8+	9		FEL104 1--	21+	40		FEL105 1--	34+	34						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096251	KAMBLE AVANISH DADASAHEB SUJATA 2023016400702622 (2) Dadar- (356)	58651 32+	9+	41		FEC101 1--	22+	22		58652 29	6+	35		FEL101 1--	23+	23		58655 24+	8+	32		FEL102 1--	23+	23	18.00 108.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.00 --
		58653 36	10+	46		FEL103 1--	20+	39		58654 32+	15+	47		FEL104 1--	24+	44		FEL105 1--	39+	39						
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096252	/ KHOT SHRAVANI NIRAJ NEHA 2022016402152513 (2) Dadar- (356)	58651 32+	15+	47		FEC101 1--	11+	11		58652 24+	9+	33		FEL101 1--	21+	21		58655 32+	9+	41		FEL102 1--	24+	24	18.00 100.00	
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.56 --
		58653 32+	12+	44		FEL103 1--	20+	38		58654 32+	8+	40		FEL104 1--	21+	40		FEL105 1--	36+	36						
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096253	MALVE AARYAN PRASANNAJIT SUSHMA 2023016400716394 (2) Dadar- (356)	58651 9F	9+	18		FEC101 --	19+	19		58652 24+	6+	30		FEL101 --	22+	22		58655 24+	6+	30		FEL102 --	22+	22	18.00 --	Unsuccessful			
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 6F	8+	14		FEL103 --	12+	24		58654 32+	8+	40		FEL104 --	23+	46		FEL105 --	41+	41									
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096254	MANE PRATHAMESH TANAJI VIJAYA 2022016402153095 (2) Dadar- (356)	58651 32+	12+	44		FEC101 --	10+	10		58652 AA	9+	9		FEL101 --	21+	21		58655 24+	9+	33		FEL102 --	24+	24	18.00 --	ABS			
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 AA	8+	8		FEL103 --	18+	37		58654 AA	9+	9		FEL104 --	20+	39		FEL105 --	39+	39									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096255	SHIVAM GANPAT NANHE GEETA 2022016402142952 (2) Dadar- (356)	58651 26F	8+	34		FEC101 --	11+	11		58652 24+	9+	33		FEL101 --	14+	14		58655 32+	8+	40		FEL102 --	24+	24	18.00 --	Unsuccessful			
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 32+	11+	43		FEL103 --	15+	28		58654 36+	8+	44		FEL104 --	21+	39		FEL105 --	39+	39									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096256	RUGGED NISHANT NIKALE CHANDRAMUKHI 2022016402150174 (2) Dadar- (356)	58651 37+	10+	47		FEC101 12+	12			58652 17F	9+	26		FEL101 20+	20		58655 27+	7+	34		FEL102 22+	22		18.00	--				
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 32+	8+	40		FEL103 19+	37			58654 32+	8+	40		FEL104 22+	44		FEL105 33+	33											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096257	/ PADALE SIDDHI DNYANDEV ANITA 2023016400710656 (2) Dadar- (356)	58651 26F	10+	36		FEC101 19+	19			58652 35E	7+	42		FEL101 22+	22		58655 29+	9+	38		FEL102 23+	23		18.00	--				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 35E	11+	46		FEL103 15+	29			58654 38E	8+	46		FEL104 24+	45		FEL105 36+	36											
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096258	PANDEY PEHAL DILIP POOJA 2022016401486397 (2) Dadar- (356)	58651 7F	RR	RR		FEC101 10+	10			58652 26E	RR	RR		FEL101 16+	16		58655 24+	RR	RR		FEL102 14+	14		18.00	--				
		3.00	F	0.00	RR	1.00	P	4.00	4.00	2.00	F	0.00	RR	0.50	C	7.00	3.50	2.00	F	0.00	RR	0.50	D	6.00	3.00	-- --			
		58653 14F	8+	22		FEL103 12+	27			58654 32E	RR	RR		FEL104 20+	38		FEL105 39+	39											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	RR	1.00	A	9.00	9.00	1.00	A	9.00	9.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096259	PANIGRAHI SAURAV KAILASH GEETA 2023016400710954 (2) Dadar- (356)	58651 10F	8+	18		FEC101 10F	19+	19		58652 8F	11+	19		FEL101 10F	21+	21		58655 27E	8+	35		FEL102 10F	23+	23	18.00 --	
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40		FEL103 10F	18+	35		58654 25F	8+	33		FEL104 10F	24+	43		FEL105 10F	40+	40						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096260	PAWAR BHAVESH ISHWAR MANISHA 2022016402153041 (2) Dadar- (356)	58651 AA	RR	RR		FEC101 AA	10+	10		58652 AA	RR	RR		FEL101 AA	16+	16		58655 24+	RR	RR		FEL102 AA	14+	14	18.00 --	
		3.00	F	0.00	RR	1.00	P	4.00	4.00	2.00	F	0.00	RR	0.50	C	7.00	3.50	2.00	F	0.00	RR	0.50	D	6.00	3.00	-- --
		58653 AA	RR	RR		FEL103 AA	13+	24		58654 AA	8+	8		FEL104 AA	20+	38		FEL105 AA	25+	25						
		3.00	F	0.00	RR	1.00	E	5.00	5.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	D	6.00	6.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7096261	RAYEEN SIRAJ ABDUAL KALAM KHATIJA KHATUN 2021016402167972 (2) Dadar- (356)	58651 RR	9+	RR		FEC101 RR	15+	15		58652 RR	10+	34		FEL101 RR	23+	23		58655 24+	14+	38		FEL102 RR	21+	21	18.00 --	
		3.00	F	0.00	RR	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 66+	12+	78		FEL103 66+	19+	37		58654 68+	17+	85		FEL104 66+	19+	34		FEL105 66+	40+	40						
		3.00	A	9.00	27.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096262	SALUNKHE VINAYAK JAYSHING UJAWALA 2022016402141113 (2) Dadar- (356)	58651 35+	8+	43		FEC101 14+	14			58652 16F	6+	22		FEL101 23+	23		58655 24+	8+	32		FEL102 24+	24		18.00 --		
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 35+	8+	43		FEL103 24+	47			58654 25F	8+	33		FEL104 21+	42		FEL105 41+	41								
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096263	/ SHELKE KOMAL VIJAY LATA 2022016402152985 (2) Dadar- (356)	58651 35+	15+	50		FEC101 12+	12			58652 25+	6+	31		FEL101 21+	21		58655 24+	6+	30		FEL102 19+	19		18.00 101.50		
		3.00	D	6.00	18.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.64 --
		58653 34	9+	43		FEL103 21+	41			58654 32+	11+	43		FEL104 20+	40		FEL105 38+	38								
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096264	OMKAR SHINDE KAVITA SHINDE 2022016402157201 (2) Dadar- (356)	58651 24F	11+	35		FEC101 10+	10			58652 28+	6+	34		FEL101 17+	17		58655 24+	8+	32		FEL102 21+	21		18.00 --		
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40		FEL103 18+	35			58654 36+	8+	44		FEL104 20+	40		FEL105 42+	42								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096265	/ SHINDE SAKSHI JAYSINGH SANGEETA 2022016402141241 (2) Dadar- (356)	58651 44+	10+	54	54	FEC101 17+	17	17	17	58652 16F	6+	22	22	FEL101 22+	22	22	22	58655 31+	11+	42	42	FEL102 22+	22	22	22	18.00 -- -- --			
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 32+	8+	40	40	FEL103 20+	39	39	39	58654 37+	8+	45	45	FEL104 23+	46	46	46	FEL105 39+	39	39	39								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096266	/ SHIRKE SHRAVANI RAMDAS RENUKA 2023016400716316 (2) Dadar- (356)	58651 21F	10+	31	31	FEC101 20+	20	20	20	58652 26+	9+	35	35	FEL101 22+	22	22	22	58655 24+	10+	34	34	FEL102 23+	23	23	23	18.00 -- -- --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 34+	8+	42	42	FEL103 17+	33	33	33	58654 45+	9+	54	54	FEL104 24+	45	45	45	FEL105 36+	36	36	36								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096267	SONONE PRATHAM NARESH MANSI 2022016402157182 (2) Dadar- (356)	58651 32+	8+	40	40	FEC101 12+	12	12	12	58652 16F	6+	12	12	FEL101 19+	19	19	19	58655 17F	8+	25	25	FEL102 24+	24	24	24	18.00 -- -- --			
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		58653 2F	8+	10	10	FEL103 17+	36	36	36	58654 46+	10+	56	56	FEL104 20+	39	39	39	FEL105 31+	31	31	31								
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096268	TADE HARSH YASHWANT VARSHA 2022016402142735 (2) Dadar- (356)	58651 36+	9+	45		FEC101 16+	16			58652 11F	7+	18		FEL101 23+	23		58655 24+	10+	34		FEL102 23+	23			18.00 --				
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 35+	13+	48		FEL103 24+	46			58654 34+	9+	43		FEL104 20+	40		FEL105 34+	34											
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096269	TAWADE ARYAN ATUL ADITI 2023016400710803 (2) Dadar- (356)	58651 25F	13+	38		FEC101 19+	19			58652 24+	6+	30		FEL101 22+	22		58655 26+	10+	36		FEL102 24+	24			18.00 --				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 35E	10+	45		FEL103 18+	36			58654 32+	8+	40		FEL104 24+	43		FEL105 37+	37											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096270	VEDE ATHARV VINAYAK ANJANA ANJANA 2023016400703641 (2) Dadar- (356)	58651 32+	12+	44		FEC101 17+	17			58652 27	9+	36		FEL101 23+	23		58655 26+	9+	35		FEL102 21+	21			18.00 104.00				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.78 --			
		58653 32+	8+	40		FEL103 18+	35			58654 32+	13+	45		FEL104 24+	44		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096271	JOHN CYRUS DINESH SAHAYA KALAIARASI 2023016400640205 (2) Dadar- (736)	58651 32E	11+	43		FEC101 12+	12			58652 24+	6+	30		FEL101 15+	15		58655 24+	9+	33		FEL102 17+	17		18.00 --		
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 15F	10+	25		FEL103 15+	29			58654 40+	8+	48		FEL104 13+	26		FEL105 29+	29								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096272	FERNANDES ARTHUR AGNELO ANJALI 2022016402064552 (2) Dadar- (736)	58651 32+	12+	44		FEC101 10+	10			58652 3F	9+	12		FEL101 22+	22		58655 24+	7+	31		FEL102 21+	21		18.00 --		
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32+	9+	41		FEL103 16+	33			58654 32+	11+	43		FEL104 18+	36		FEL105 31+	31								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	8.00	8.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096273	FERNANDES JASON VIJAY MICHELLE 2023016400641062 (2) Dadar- (736)	58651 32	8+	40		FEC101 16+	16			58652 30+	9+	39		FEL101 20+	20		58655 24+	6+	30		FEL102 20+	20		18.00 97.00		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.39 --
		58653 32+	8+	40		FEL103 16+	28			58654 32+	10+	42		FEL104 18+	36		FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096274	FERNANDES JORDAN JOAQUIM LYNETTE 2022016400004917 (2) Dadar- (736)	58651 32+	18+	50		FEC101 12+	12			58652 25+	7+	32		FEL101 22+	22			58655 24+	6+	30		FEL102 22+	22			Unsuccessful 18.00 --			
		3.00	D	6.00	18.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 41E	9+	50		FEL103 16+	33			58654 16F	8+	24		FEL104 17+	33			FEL105 25+	25										
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096275	MATHEW MARTIN MANOJ MISSY 2022016402064351 (2) Dadar- (736)	58651 36+	8+	44		FEC101 11+	11			58652 24+	6+	30		FEL101 22+	22			58655 37+	8+	45		FEL102 22+	22			Successful 18.00 105.00			
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	5.83 --			
		58653 32	8+	40		FEL103 18+	36			58654 48+	8+	56		FEL104 20+	39			FEL105 40+	40										
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096276	SIDDHATH MURAMKAR PRITI 2023016400640871 (2) Dadar- (736)	58651 36+	12+	48		FEC101 16+	16			58652 32+	8+	40		FEL101 16+	16			58655 35+	8+	43		FEL102 11+	11			Unsuccessful 18.00 --			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	P	4.00	2.00	-- --			
		58653 22F	12+	34		FEL103 16+	31			58654 19F	12+	31		FEL104 13+	26			FEL105 32+	32										
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL-NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI	GRADE
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096277	PATHARE SHUBHAM SANDESH SHARVARI	58651				FEC101				58652				FEL101				58655				FEL102							Unsuccessful
		33+	9+	42		--	25+	25		11F	12+	23		--	23+	23		5F	6+	11		--	21+	21					18.00 --
	2023016400640921	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00				-- --
	(2) Dadar- (736)	58653				FEL103				58654				FEL104				FEL105											
		0F	8+	8		--	16+	29		9F	17+	26		--	15+	30		--	33+	33									
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096278	PATIL SANCHIT KRISHNA SUSHILA	58651				FEC101				58652				FEL101				58655				FEL102							Successful
		32+	12+	44		--	14+	14		27+	8+	35		--	18+	18		28	7+	35		--	13+	13					18.00 95.00
	2023016400640975	3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00				5.28 --
	(2) Dadar- (736)	58653				FEL103				58654				FEL104				FEL105											
		39	12+	51		--	15+	28		32+	11+	43		--	17+	32		--	33+	33									
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096279	SAWANT ATHARVA ANAND MANGAL	58651				FEC101				58652				FEL101				58655				FEL102							Successful
		34+	11+	45		--	25+	25		28+	6+	34		--	21+	21		32+	9+	41		--	21+	21					18.00 107.00
	2023016400645922	3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00				5.94 --
	(2) Dadar- (736)	58653				FEL103				58654				FEL104				FEL105											
		32	11+	43		--	14+	29		37	12+	49		--	16+	32		--	41+	41									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096280	/ THORAT SANJALI SHASHIKANT VAISHALI 2023016400646055 (2)Dadar-(736)	58651 32+	11+	43		FEC101 --	24+	24		58652 24+	8+	32		FEL101 --	21+	21		58655 28+	7+	35		FEL102 --	22+	22	Successful 18.00 96.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.33 --
		58653 35+	8+	43		FEL103 --	18+	34		58654 32	8+	40		FEL104 --	15+	31		FEL105 --	35+	35						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096281	TRINIDAD AUSTIN REMETH ARKAN 2023016400640565 (2)Dadar-(736)	58651 41	10+	51		FEC101 --	10+	10		58652 24+	6+	30		FEL101 --	23+	23		58655 24+	11+	35		FEL102 --	19+	19	Successful 18.00 97.50	
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	5.42 --
		58653 32	8+	40		FEL103 --	18+	32		58654 36+	9+	45		FEL104 --	12+	26		FEL105 --	35+	35						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096282	AGRAWAL MEDHANSH NITIN PREETI 2022016402353581 (3)Andheri-(238)	58651 35+	13+	48		FEC101 --	24+	24		58652 24+	11+	35		FEL101 --	19+	19		58655 24+	13+	37		FEL102 --	20+	20	Successful 18.00 109.50	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.08 --
		58653 32+	8+	40		FEL103 --	15+	34		58654 37	17+	54		FEL104 --	22+	42		FEL105 --	37+	37						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096283	AMESAR YUVRAJ SANJEEV KASHISH 2023016402053331 (3)Andheri-(238)	58651 13F	8+	21		FEC101 ---	18+	18		58652 27+	15+	42		FEL101 ---	12+	12		58655 27+	12+	39		FEL102 ---	18+	18	18.00 --	
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	D	6.00	12.00	0.50	E	5.00	2.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	-- --
		58653 48+	8+	56		FEL103 ---	12+	34		58654 32+	19+	51		FEL104 ---	19+	37		FEL105 ---	39+	39						
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096284	PURAB VIJAY BALANI POONAM 2023016402052447 (3)Andheri-(238)	58651 33+	8+	41		FEC101 ---	22+	22		58652 27+	15+	42		FEL101 ---	20+	20		58655 31+	13+	44		FEL102 ---	22+	22	18.00 121.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.72 --
		58653 44	8+	52		FEL103 ---	13+	35		58654 43+	17+	60		FEL104 ---	19+	37		FEL105 ---	40+	40						
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096285	CHAVDA SHLOK MUKESH SAPNA 2022016400688104 (3)Andheri-(238)	58651 36+	14+	50		FEC101 ---	10+	10		58652 25+	6+	31		FEL101 ---	15+	15		58655 36+	6+	42		FEL102 ---	20+	20	18.00 --	
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40		FEL103 ---	10+	28		58654 5F	8+	13		FEL104 ---	23+	34		FEL105 ---	38+	38						
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096286	GABA DEVAESH JAI RUCHI 2023016402051483 (3)Andheri-(238)	58651 32E	9+	41		FEC101 ---	23+	23		58652 13F	15+	28		FEL101 ---	17+	17		58655 25E	11+	36		FEL102 ---	23+	23	18.00 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 13F	8+	21		FEL103 ---	13+	35		58654 8F	17+	25		FEL104 ---	19+	35		FEL105 ---	42+	42						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096287	KEWLANI DEV MANOJ ROSHNI 2023016402052784 (3)Andheri-(238)	58651 41	18+	59		FEC101 ---	24+	24		58652 24+	15+	39		FEL101 ---	12+	12		58655 25+	9+	34		FEL102 ---	19+	19	18.00 116.00	
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	E	5.00	2.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	6.44 --
		58653 32+	8+	40		FEL103 ---	15+	38		58654 33+	18+	51		FEL104 ---	24+	44		FEL105 ---	42+	42						
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096288	KRIPLANI KRISHNA MANOJ BINJAL 2023016402046555 (3)Andheri-(238)	58651 32+	11+	43		FEC101 ---	23+	23		58652 32	15+	47		FEL101 ---	16+	16		58655 25+	10+	35		FEL102 ---	22+	22	18.00 108.50	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.03 --
		58653 32	8+	40		FEL103 ---	15+	37		58654 33	14+	47		FEL104 ---	23+	39		FEL105 ---	42+	42						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE					
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7096289	/ LAHRANI KASHISH PRAKASH NIKITA 2023016402050882 (3)Andheri-(238)	58651 43+	16+	59	5	FEC101 ---	24+	24	24	58652 32	15+	47	47	FEL101 ---	21+	21	21	21	58655 24+	12+	36	36	FEL102 ---	21+	21	21	21	18.00	117.00	6.50	--
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	14.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	10.00	0.50	O	10.00	5.00	6.50	--		
		58653 38+	8+	46	46	FEL103 ---	15+	38	38	58654 32+	10+	42	42	FEL104 ---	21+	39	39	39	FEL105 ---	40+	40	40	40	40	40	40	40	40	40	40	40
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	10.00	10.00	10.00	10.00	10.00	10.00	10.00	10.00	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																					
7096290	/ MIHANI SANIYA MAHESH BHARTI 2022016402353291 (3)Andheri-(238)	58651 43	20+	63	63	FEC101 ---	19+	19	19	58652 24+	7+	31	31	FEL101 ---	16+	16	16	16	58655 24+	8+	32	32	FEL102 ---	18+	18	18	18	18.00	105.50	5.86	--
		3.00	C	7.00	21.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	8.00	0.50	B	8.00	4.00	5.86	--		
		58653 40+	8+	48	48	FEL103 ---	17+	27	27	58654 32+	11+	43	43	FEL104 ---	20+	38	38	38	FEL105 ---	40+	40	40	40	40	40	40	40	40	40	40	40
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	10.00	10.00	10.00	10.00	10.00	10.00	10.00	10.00	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																					
7096291	OAK AARYAN MAHESH PREETI 2023016402053354 (3)Andheri-(238)	58651 50	14+	64	64	FEC101 ---	17+	17	17	58652 25+	15+	40	40	FEL101 ---	14+	14	14	14	58655 24+	10+	34	34	FEL102 ---	20+	20	20	20	18.00	117.00	6.50	--
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	12.00	0.50	D	6.00	3.00	2.00	E	5.00	10.00	10.00	0.50	O	10.00	5.00	6.50	--		
		58653 45+	8+	53	53	FEL103 ---	15+	38	38	58654 32+	17+	49	49	FEL104 ---	15+	31	31	31	FEL105 ---	40+	40	40	40	40	40	40	40	40	40	40	40
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	10.00	10.00	10.00	10.00	10.00	10.00	10.00	10.00	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																					

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.		PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE		
			CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096292	PANJABI TUSHAR KAMLESH MAHEK		58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful		
	2023016402050955		22F	11+	33		---	23+	23		24+	10+	34		---	14+	14		24+	10+	34		---	19+	19		18.00 --		
	(3)Andheri-(238)		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --		
			58653				FEL103				58654				FEL104				FEL105										
			32E	8+	40		---	16+	39		32+	10+	42		---	14+	32		---	42+	42								
			3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00							
			Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																		
7096293	RAJPAL NAMAN MANOJ BHARTI		58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful		
	2022016402353557		27F	8+	35		---	14+	14		11F	8+	19		---	11+	11		27E	6+	33		---	17+	17		18.00 --		
	(3)Andheri-(238)		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --		
			58653				FEL103				58654				FEL104				FEL105										
			5F	10+	15		---	10+	30		32E	8+	40		---	10+	20		---	35+	35								
			3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	P	4.00	4.00	1.00	B	8.00	8.00							
			Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																		
7096294	/ THADANI NEHA AMIT KOMAL		58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful		
	2023016402051831		32+	9+	41		---	23+	23		30+	15+	45		---	23+	23		24+	12+	36		---	22+	22		18.00 --		
	(3)Andheri-(238)		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --		
			58653				FEL103				58654				FEL104				FEL105										
			20F	13+	33		---	19+	42		32+	14+	46		---	23+	38		---	41+	41								
			3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00							
			Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																		

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096295	UTTAMANI MITUL ANIL KOMAL 2023016402052915 (3)Andheri-(238)	58651 32+	13+	45	100	FEC101 --	24+	24	100	58652 33	15+	48	100	FEL101 --	16+	16	100	58655 24+	12+	36	100	FEL102 --	19+	19	100	Successful 18.00 118.00 6.56 --	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50		
		58653 42	8+	50	100	FEL103 --	14+	37	100	58654 32+	13+	45	100	FEL104 --	23+	41	100	FEL105 --	41+	41	100						
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096296	VASWANI MOHAK REKHA 2023016402046571 (3)Andheri-(238)	58651 32+	13+	45	100	FEC101 --	19+	19	100	58652 14F	13+	27	100	FEL101 --	19+	19	100	58655 25E	11+	36	100	FEL102 --	20+	20	100	Unsuccessful 18.00 --	
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --	
		58653 32+	8+	40	100	FEL103 --	10+	32	100	58654 32E	11+	43	100	FEL104 --	23+	39	100	FEL105 --	40+	40	100						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096297	AVHAD SHUBHAM SURESH PRANJALI 2023016400875842 (3)Andheri-(524)	58651 1F	11+	12	100	FEC101 --	16+	16	100	58652 11F	6+	17	100	FEL101 --	18+	18	100	58655 2F	9+	11	100	FEL102 --	15+	15	100	Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	-- --	
		58653 5F	10+	15	100	FEL103 --	16+	33	100	58654 6F	9+	15	100	FEL104 --	18+	35	100	FEL105 --	44+	44	100						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096298	AYARE SAHIL MAHESH SHILPA 2022016402193807 (3)Andheri-(524)	58651 32+	13+	45	100.00	FEC101 --	22+	22	100.00	58652 24+	6+	30	100.00	FEL101 --	22+	22	100.00	58655 24+	13+	37	100.00	FEL102 --	19+	19	100.00	Successful 18.00 109.50 6.08 --			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50				
		58653 39	9+	48	100.00	FEL103 --	23+	41	100.00	58654 32+	11+	43	100.00	FEL104 --	24+	40	100.00	FEL105 --	45+	45	100.00								
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096299	DADHEECH ARYAN AJAY NAMITA 2023016400878032 (3)Andheri-(524)	58651 39E	11+	50	100.00	FEC101 --	20+	20	100.00	58652 18F	7+	25	100.00	FEL101 --	17+	17	100.00	58655 27+	6+	33	100.00	FEL102 --	16+	16	100.00	Unsuccessful 18.00 --			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50				
		58653 27F	9+	36	100.00	FEL103 --	19+	38	100.00	58654 32+	9+	41	100.00	FEL104 --	18+	37	100.00	FEL105 --	42+	42	100.00								
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096300	DHADAVE SUJAL MAHADEV MANASI 2023016400878314 (3)Andheri-(524)	58651 32+	14+	46	100.00	FEC101 --	15+	15	100.00	58652 25+	8+	33	100.00	FEL101 --	17+	17	100.00	58655 24+	8+	32	100.00	FEL102 --	17+	17	100.00	Unsuccessful 18.00 --			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50				
		58653 17F	8+	25	100.00	FEL103 --	19+	38	100.00	58654 16F	11+	27	100.00	FEL104 --	17+	34	100.00	FEL105 --	43+	43	100.00								
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00





University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096304	KHAN MOHAMED RIFAKHATH SADHATH - HYARUNNISHA 2023016400878024 (3)Andheri-(524)	58651 32+	15+	47	100	FEC101 16+	16	16	100	58652 24+	14+	38	100	FEL101 17+	17	17	100	58655 35	8+	43	100	FEL102 16+	16	16	100	Successful 18.00 111.00 6.17 --
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	C	7.00	3.50	
		58653 42	11+	53	100	FEL103 19+	39	39	100	58654 32+	14+	46	100	FEL104 19+	34	34	100	FEL105 38+	38	38	100					
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096305	MAHARAJ SUMEET SUBHASH RANJU 2022016402215403 (3)Andheri-(524)	58651 34+	8+	42	100	FEC101 15+	15	15	100	58652 24+	9+	33	100	FEL101 20+	20	20	100	58655 24+	6+	30	100	FEL102 16+	16	16	100	Successful 18.00 94.50 5.25 --
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	
		58653 32	8+	40	100	FEL103 18+	33	33	100	58654 32+	9+	41	100	FEL104 21+	40	40	100	FEL105 44+	44	44	100					
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096306	MISHRA AADITYA AJAY SUNITA 2022016402203232 (3)Andheri-(524)	58651 14F	8+	22	100	FEC101 17+	17	17	100	58652 24+	6+	30	100	FEL101 20+	20	20	100	58655 24+	8+	32	100	FEL102 22+	22	22	100	Unsuccessful 18.00 -- -- --
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	
		58653 32+	8+	40	100	FEL103 21+	38	38	100	58654 47+	16+	63	100	FEL104 22+	38	38	100	FEL105 43+	43	43	100					
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	C	7.00	21.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096307	PATIL VIRAJ VILAS SUGANDHA 2023016400877671 (3)Andheri-(524)	58651 9F	11+	20		FEC101 17+	17			58652 25E	7+	32		FEL101 14+	14		58655 24+	9+	33		FEL102 16+	16		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 17F	8+	25		FEL103 19+	38			58654 15F	13+	28		FEL104 19+	36		FEL105 42+	42											
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096308	PENSHANWAR PRUTHVIRAJ DHANANJAY - DHANASHREE 2022016402224553 (3)Andheri-(524)	58651 32	10+	42		FEC101 16+	16			58652 32+	6+	38		FEL101 21+	21		58655 30+	6+	36		FEL102 17+	17		18.00	108.50				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	6.03 --			
		58653 32+	15+	47		FEL103 18+	38			58654 32	13+	45		FEL104 22+	42		FEL105 45+	45											
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096309	SHENDE SWASTIK KHUSHAL MEGHNA 2023016400876605 (3)Andheri-(524)	58651 32+	12+	44		FEC101 16+	16			58652 24+	9+	33		FEL101 20+	20		58655 26+	11+	37		FEL102 21+	21		18.00	--				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 34E	10+	44		FEL103 19+	39			58654 17F	14+	31		FEL104 19+	37		FEL105 41+	41											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096310	SHETTY ANIRUDH BALKRISHNA PREMA 2023016400876876 (3)Andheri-(524)	58651 36+	12+	48	48	FEC101 16+	16	16	16	58652 26+	7+	33	33	FEL101 10+	10	10	10	10	58655 25+	6+	31	31	FEL102 18+	18	18	18	18.00 --		
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --		
		58653 13F	12+	25	25	FEL103 20+	41	41	41	58654 10F	15+	25	25	FEL104 22+	40	40	40	40	FEL105 41+	41	41	41							
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	10.00	1.00	O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096311	ISHAN SINGH MADHU 2022016402203611 (3)Andheri-(524)	58651 35+	15+	50	50	FEC101 20+	20	20	20	58652 36+	6+	42	42	FEL101 20+	20	20	20	20	58655 31+	7+	38	38	FEL102 19+	19	19	19	18.00 --		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	-- --		
		58653 32+	8+	40	40	FEL103 16+	34	34	34	58654 18F	11+	29	29	FEL104 21+	40	40	40	40	FEL105 43+	43	43	43							
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	10.00	1.00	O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096312	SONAR YASH HEMANT MANJU 2023016400876451 (3)Andheri-(524)	58651 32+	9+	41	41	FEC101 15+	15	15	15	58652 6F	6+	12	12	FEL101 15+	15	15	15	15	58655 24E	9+	33	33	FEL102 16+	16	16	16	18.00 --		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --		
		58653 8F	12+	20	20	FEL103 18+	37	37	37	58654 32+	12+	44	44	FEL104 19+	37	37	37	37	FEL105 43+	43	43	43							
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	8.00	1.00	O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096313	TIWARI PRINCE ASHISH KANCHAN 2022016402204347 (3)Andheri-(524)	58651 32+	11+	43		FEC101 --	21+	21		58652 24+	9+	33		FEL101 --	23+	23		58655 31+	10+	41		FEL102 --	24+	24	18.00 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 25F	15+	40		FEL103 --	24+	44		58654 32+	11+	43		FEL104 --	24+	43		FEL105 --	46+	46						
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096314	BAGWAN FARID MOHAMMED SHABANA 2023016402242617 (3)Andheri-(532)	58651 54+	10+	64		FEC101 --	18+	18		58652 24+	13+	37		FEL101 --	21+	21		58655 24+	8+	32		FEL102 --	19+	19	18.00 --	
		3.00	C	7.00	21.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 19F	8+	27		FEL103 --	18+	38		58654 32+	12+	44		FEL104 --	18+	34		FEL105 --	42+	42						
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096315	CHAVAN AADITI SUDHAKAR VAISHNAVI 2023016402249617 (3)Andheri-(532)	58651 34E	8+	42		FEC101 --	14+	14		58652 24+	6+	30		FEL101 --	12+	12		58655 36E	12+	48		FEL102 --	19+	19	18.00 --	
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	2.00	C	7.00	14.00	0.50	A	9.00	4.50	-- --
		58653 18F	8+	26		FEL103 --	14+	33		58654 32E	8+	40		FEL104 --	15+	32		FEL105 --	39+	39						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096316	SHLOK PANKAJ CHAVAN MANDA CHAVAN 2023016402241355 (3)Andheri-(532)	58651 32+	12+	44	100.00	FEC101 1--	20+	20	100.00	58652 24+	9+	33	100.00	FEL101 1--	17+	17	100.00	58655 33+	8+	41	100.00	FEL102 1--	20+	20	100.00	Successful 18.00 105.50			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.86 --			
		58653 32+	8+	40	100.00	FEL103 1--	20+	41	100.00	58654 37	13+	50	100.00	FEL104 1--	18+	34	100.00	FEL105 1--	36+	36	100.00								
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096317	/ CHOUDHARY KHUSHBU MANGLARAM MULIDEVI 2023016402242591 (3)Andheri-(532)	58651 9F	8+	17	100.00	FEC101 1--	21+	21	100.00	58652 24+	8+	32	100.00	FEL101 1--	16+	16	100.00	58655 29+	7+	36	100.00	FEL102 1--	21+	21	100.00	Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 32+	8+	40	100.00	FEL103 1--	21+	42	100.00	58654 24F	8+	32	100.00	FEL104 1--	16+	31	100.00	FEL105 1--	41+	41	100.00								
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096318	DHAMALE ADITYA MADHUKAR MOHINI 2022016402262973 (3)Andheri-(532)	58651 42+	10+	52	100.00	FEC101 1--	21+	21	100.00	58652 26+	12+	38	100.00	FEL101 1--	23+	23	100.00	58655 24+	9+	33	100.00	FEL102 1--	20+	20	100.00	Successful 18.00 118.00			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.56 --			
		58653 32	13+	45	100.00	FEL103 1--	19+	39	100.00	58654 42+	8+	50	100.00	FEL104 1--	18+	35	100.00	FEL105 1--	42+	42	100.00								
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096319	/ DHOTRE DHARA VIJAY POOJA 2022016402261985 (3)Andheri-(532)	58651 32+	10+	42		FEC101 --	21+	21		58652 24+	9+	33		FEL101 --	22+	22		58655 31+	8+	39		FEL102 --	22+	22	18.00	105.00	Successful		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.83	--		
		58653 32	14+	46		FEL103 --	19+	37		58654 32+	8+	40		FEL104 --	18+	36		FEL105 --	40+	40									
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096320	GAVALI BHARGAV VIJAYKUMAR SUDHA 2022016402255613 (3)Andheri-(532)	58651 33+	8+	41		FEC101 --	18+	18		58652 24+	10+	34		FEL101 --	18+	18		58655 27+	10+	37		FEL102 --	21+	21	18.00	--	Unsuccessful		
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--		
		58653 32+	13+	45		FEL103 --	19+	40		58654 8F	8+	16		FEL104 --	18+	36		FEL105 --	35+	35									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096321	GHUTUKADE MAHESH SHAHAJI ALKA 2023016402240827 (3)Andheri-(532)	58651 43+	10+	53		FEC101 --	19+	19		58652 32+	12+	44		FEL101 --	20+	20		58655 35+	11+	46		FEL102 --	20+	20	18.00	132.00	Successful		
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	7.33	--		
		58653 49	11+	60		FEL103 --	20+	41		58654 35+	16+	51		FEL104 --	20+	42		FEL105 --	40+	40									
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096322	GIRI ABINASH MURALIDHARA SUKANTI 2023016402241115 (3)Andheri-(532)	58651 35+	8+	43		FEC101 18+	18			58652 25+	11+	36		FEL101 19+	19		58655 31+	7+	38		FEL102 21+	21		18.00	108.50		
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.03	--
		58653 37	8+	45		FEL103 20+	40			58654 36+	12+	48		FEL104 16+	31		FEL105 40+	40									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096323	KADAM ABHISHEK SANTOSH VARSHA 2023016400286125 (3)Andheri-(532)	58651 35+	8+	43		FEC101 20+	20			58652 24+	10+	34		FEL101 18+	18		58655 24+	6+	30		FEL102 20+	20		18.00	--		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--
		58653 28F	8+	36		FEL103 20+	41			58654 37+	8+	45		FEL104 16+	32		FEL105 38+	38									
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096324	KANDALKAR NIHAR DEVEDRA MEGHA 2023016402246236 (3)Andheri-(532)	58651 33+	10+	43		FEC101 20+	20			58652 24+	8+	32		FEL101 16+	16		58655 45	6+	51		FEL102 18+	18		18.00	107.50		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	C	7.00	14.00	0.50	B	8.00	4.00	5.97	--
		58653 32+	8+	40		FEL103 18+	38			58654 37+	18+	55		FEL104 20+	38		FEL105 36+	36									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096325	/ KENY PRATHA HEMANT RAKHI	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		32+	8+	40		--	19+	19		24+	10+	34		--	18+	18		24+	6+	30		--	20+	20		18.00 --
	2023016402239213	3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
	(3)Andheri-(532)	58653				FEL103				58654				FEL104				FEL105								
		32+	8+	40		--	20+	41		11F	15+	26		--	19+	39		--	41+	41						
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096326	KHOPKAR SIDDHANT KISHOR SEEMA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		32+	11+	43		--	21+	21		24+	12+	36		--	20+	20		26+	9+	35		--	21+	21		18.00 --
	2023016402241011	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
	(3)Andheri-(532)	58653				FEL103				58654				FEL104				FEL105								
		14F	10+	24		--	20+	41		32+	14+	46		--	18+	37		--	40+	40						
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096327	/ KOLWALKAR AARYA JIGNESH VAIBHAVI	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		16F	8+	24		--	20+	20		33+	12+	45		--	20+	20		31+	11+	42		--	21+	21		18.00 --
	2023016402244817	3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
	(3)Andheri-(532)	58653				FEL103				58654				FEL104				FEL105								
		32+	11+	43		--	20+	41		37+	12+	49		--	19+	38		--	39+	39						
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096328	PANKAJ KUMAR RAJENDRA PRASAD KUMAVAT - SUNITA 2023016402245024 (3)Andheri-(532)	58651 49	15+	64		FEC101 --	20+	20		58652 24+	7+	31		FEL101 --	15+	15		58655 24+	7+	31		FEL102 --	20+	20	18.00 111.50	
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.19 --
		58653 32+	8+	40		FEL103 --	21+	42		58654 39+	11+	50		FEL104 --	16+	34		FEL105 --	39+	39						
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096329	MAKRANI SANJ MOHAMMEDINTEKAB MINAZ BANU 2022016402255652 (3)Andheri-(532)	58651 32+	8+	40		FEC101 --	19+	19		58652 26E	6+	32		FEL101 --	20+	20		58655 24+	6+	30		FEL102 --	19+	19	18.00 --	
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 15F	9+	24		FEL103 --	18+	36		58654 33+	8+	41		FEL104 --	16+	34		FEL105 --	41+	41						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096330	MALANDKAR SARVESH PRAVIN NISHA 2023016402236501 (3)Andheri-(532)	58651 32	8+	40		FEC101 --	21+	21		58652 25+	10+	35		FEL101 --	18+	18		58655 24+	6+	30		FEL102 --	20+	20	18.00 101.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.61 --
		58653 32+	8+	40		FEL103 --	21+	42		58654 34+	8+	42		FEL104 --	17+	35		FEL105 --	42+	42						
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096331	MANDAR MANGESH MALI SAVITA 2022016402263535 (3)Andheri-(532)	58651 38	8+	46		FEC101 ---	20+	20		58652 24+	10+	34		FEL101 ---	22+	22		58655 24+	10+	34		FEL102 ---	19+	19	18.00 118.50	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	6.58 --
		58653 53	14+	67		FEL103 ---	21+	42		58654 37+	10+	47		FEL104 ---	18+	36		FEL105 ---	40+	40						
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096332	MANDHARE YASH RAMESH RANI 2023016402245016 (3)Andheri-(532)	58651 32+	8+	40		FEC101 ---	19+	19		58652 25+	8+	33		FEL101 ---	16+	16		58655 24+	8+	32		FEL102 ---	18+	18	18.00 96.50	
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.36 --
		58653 33	8+	41		FEL103 ---	20+	41		58654 32+	10+	42		FEL104 ---	18+	36		FEL105 ---	42+	42						
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096333	MESTRY SANMAY TUSHAR KANCHAN 2023016402244802 (3)Andheri-(532)	58651 43	13+	56		FEC101 ---	19+	19		58652 24+	11+	35		FEL101 ---	19+	19		58655 32+	9+	41		FEL102 ---	19+	19	18.00 119.00	
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	A	9.00	4.50	6.61 --
		58653 42+	10+	52		FEL103 ---	20+	41		58654 42+	11+	53		FEL104 ---	15+	33		FEL105 ---	37+	37						
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096334	MORE PIYUSH GANESH REKHA 2022016402265913 (3)Andheri-(532)	58651 21F	8+	29		FEC101 18+	18			58652 24+	9+	33		FEL101 23+	23		58655 24+	6+	30		FEL102 21+	21		18.00	--				
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 40+	11+	51		FEL103 18+	33			58654 32+	8+	40		FEL104 18+	35		FEL105 40+	40											
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096335	MORE PRATHMESH PRAKASH SUNITA 2023016402245055 (3)Andheri-(532)	58651 25F	10+	35		FEC101 19+	19			58652 33+	7+	40		FEL101 15+	15		58655 24+	15+	39		FEL102 20+	20		18.00	--				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 32+	12+	44		FEL103 21+	41			58654 32+	8+	40		FEL104 15+	33		FEL105 36+	36											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096336	PATEL JAYNISH KIRAN BHAVANA 2023016402243137 (3)Andheri-(532)	58651 32+	9+	41		FEC101 20+	20			58652 34+	10+	44		FEL101 18+	18		58655 24+	10+	34		FEL102 21+	21		18.00	--				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 27F	9+	36		FEL103 20+	41			58654 38+	12+	50		FEL104 19+	38		FEL105 38+	38											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096337	/ PATEL VAIDEHI SHILPA 2023016402242335 (3)Andheri-(532)	58651 36+	8+	44		FEC101 --	21+	21		58652 32+	11+	43		FEL101 --	19+	19		58655 35+	6+	41		FEL102 --	22+	22		Successful 18.00 110.50 6.14 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00		
		58653 35	14+	49		FEL103 --	21+	43		58654 32+	12+	44		FEL104 --	18+	37		FEL105 --	40+	40							
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096338	PATEL YASH HITESH PRATIMA 2023016402239116 (3)Andheri-(532)	58651 32+	11+	43		FEC101 --	20+	20		58652 25+	6+	31		FEL101 --	14+	14		58655 24+	9+	33		FEL102 --	19+	19		Unsuccessful 18.00 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --	
		58653 19F	11+	30		FEL103 --	21+	43		58654 32+	12+	44		FEL104 --	18+	35		FEL105 --	40+	40							
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096339	PHADTARE ATHRAV KIRAN VAISHALI 2023016402241684 (3)Andheri-(532)	58651 32+	8+	40		FEC101 --	19+	19		58652 24+	10+	34		FEL101 --	18+	18		58655 24+	8+	32		FEL102 --	20+	20		Unsuccessful 18.00 --	
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --	
		58653 14F	8+	22		FEL103 --	20+	40		58654 32+	11+	43		FEL104 --	15+	32		FEL105 --	39+	39							
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096340	SHAH VINIT VIKAS NAMITA SHAH 2022016402265186 (3)Andheri-(532)	58651 32+	13+	45		FEC101 --	19+	19		58652 29	9+	38		FEL101 --	22+	22		58655 24+	6+	30		FEL102 --	21+	21	Successful 18.00 108.00 6.00 --				
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00				
		58653 32+	15+	47		FEL103 --	21+	43		58654 34+	8+	42		FEL104 --	16+	33		FEL105 --	41+	41									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096341	SINGH SHIVANSH SHYAM BAHADUR SUNITA 2023016402241823 (3)Andheri-(532)	58651 37+	8+	45		FEC101 --	20+	20		58652 33	9+	42		FEL101 --	17+	17		58655 24+	10+	34		FEL102 --	21+	21	Successful 18.00 111.50 6.19 --				
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00				
		58653 44+	10+	54		FEL103 --	20+	41		58654 32+	12+	44		FEL104 --	18+	37		FEL105 --	37+	37									
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096342	TIWARI HARSH MANOJKUMAR SADHNA 2023016402241386 (3)Andheri-(532)	58651 34+	16+	50		FEC101 --	12+	12		58652 33	8+	41		FEL101 --	16+	16		58655 24+	11+	35		FEL102 --	17+	17	Successful 18.00 101.00 5.61 --				
		3.00	D	6.00	18.00	1.00	E	5.00	5.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50				
		58653 32+	8+	40		FEL103 --	12+	24		58654 37+	8+	45		FEL104 --	14+	31		FEL105 --	42+	42									
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096343	/ VARMA NIKITA JAGDEV KUMAR SARITA 2022016402144692 (3)Andheri-(532)	58651 32+	10+	42		FEC101 --	21+	21		58652 29+	6+	35		FEL101 --	14+	14		58655 32+	8+	40		FEL102 --	21+	21		18.00 --			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 10F	12+	22		FEL103 --	20+	41		58654 32+	13+	45		FEL104 --	19+	37		FEL105 --	40+	40									
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096344	YADAV ARYAN VINOD YOJANA 2023016402242977 (3)Andheri-(532)	58651 39+	11+	50		FEC101 --	21+	21		58652 24+	13+	37		FEL101 --	21+	21		58655 24+	8+	32		FEL102 --	21+	21		18.00 --			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 22F	8+	30		FEL103 --	20+	41		58654 38E	14+	52		FEL104 --	19+	37		FEL105 --	37+	37									
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096345	YADAV JAYESH JAINATH VIDHYA 2023016402241943 (3)Andheri-(532)	58651 32+	8+	40		FEC101 --	21+	21		58652 25+	8+	33		FEL101 --	16+	16		58655 29+	7+	36		FEL102 --	21+	21		18.00 100.50			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.58 --			
		58653 32+	8+	40		FEL103 --	21+	42		58654 34	8+	42		FEL104 --	16+	35		FEL105 --	40+	40									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096346	YADAV SHIVAM MAHENDRA PRATAP PRABHAVATI 2023016402244365 (3) Andheri - (532)	58651 32+	12+	44		FEC101 1--	20+	20		58652 25+	13+	38		FEL101 1--	21+	21		58655 24+	13+	37		FEL102 1--	22+	22	Successful 18.00 113.00 6.28 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	
		58653 38	10+	48		FEL103 1--	21+	43		58654 32+	13+	45		FEL104 1--	19+	38		FEL105 1--	40+	40						
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096347	BANGAR SIDDHESH AVINASH RUPALI 2023016401293535 (4) Ghatkopar - (688)	58651 32+	8+	40		FEC101 1--	17+	17		58652 24+	7+	31		FEL101 1--	16+	16		58655 26+	9+	35		FEL102 1--	17+	17	Successful 18.00 95.00 5.28 --	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	
		58653 32	8+	40		FEL103 1--	19+	32		58654 34+	10+	44		FEL104 1--	23+	42		FEL105 1--	41+	41						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096348	BOBADE RAM ANIL BHAGYASHRI 2023016401374334 (4) Ghatkopar - (688)	58651 32+	9+	41		FEC101 1--	17+	17		58652 24+	6+	30		FEL101 1--	13+	13		58655 36+	8+	44		FEL102 1--	21+	21	Successful 18.00 101.00 5.61 --	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	
		58653 33	12+	45		FEL103 1--	21+	37		58654 32+	12+	44		FEL104 1--	20+	38		FEL105 1--	44+	44						
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096349	RYAN MANUEL ROBERT DSOUZA SHERLY 2022016402226424 (4)Ghatkopar-(688)	58651 46+	8+	54	54	FEC101 12+	12	12	12	58652 24+	9+	33	33	FEL101 16+	16	16	16	58655 24+	7+	31	31	FEL102 12+	12	12	12	Successful 18.00 96.00 5.33 --
		3.00	D	6.00	18.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	E	5.00	2.50	
		58653 39	8+	47	47	FEL103 15+	29	29	29	58654 42+	9+	51	51	FEL104 13+	23	23	23	FEL105 30+	30	30	30					
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096350	KALE NINAD ROHIDAS PRIYANKA KALE 2023016401385386 (4)Ghatkopar-(688)	58651 36+	13+	49	49	FEC101 18+	18	18	18	58652 31+	6+	37	37	FEL101 16+	16	16	16	58655 25+	9+	34	34	FEL102 18+	18	18	18	Unsuccessful 18.00 -- -- --
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00	
		58653 21F	8+	29	29	FEL103 17+	34	34	34	58654 33E	9+	42	42	FEL104 20+	37	37	37	FEL105 42+	42	42	42					
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096351	RATHOD KARAN VALU ANITA 2023016401386842 (4)Ghatkopar-(688)	58651 36+	AA	36	36	FEC101 15+	15	15	15	58652 AA	6E	6	6	FEL101 12+	12	12	12	58655 34E	8+	42	42	FEL102 15+	15	15	15	Unsuccessful 18.00 -- -- --
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	E	5.00	2.50	2.00	D	6.00	12.00	0.50	C	7.00	3.50	
		58653 AA	8E	8	8	FEL103 15+	28	28	28	58654 32+	10+	42	42	FEL104 16+	28	28	28	FEL105 34+	34	34	34					
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096352	RODRICKS CHRIS DENIS ANITA 2022016402244194 (4)Ghatkopar-(688)	58651 32E	9+	41		FEC101 17+	17			58652 17F	6+	23		FEL101 18+	18		58655 32+	6+	38		FEL102 20+	20		18.00	--				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 7F	8+	15		FEL103 18+	30			58654 14F	10+	24		FEL104 21+	38		FEL105 36+	36											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096353	BOHRA ABHISHEK JAYNARAYAN REKHABEN 2023016402116863 (5)Thane-(1247)	58651 32+	10+	42		FEC101 16+	16			58652 19F	6+	25		FEL101 16+	16		58655 24+	9+	33		FEL102 18+	18		18.00	--				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 32+	8+	40		FEL103 20+	38			58654 49+	10+	59		FEL104 19+	37		FEL105 45+	45											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096354	KADU SASHANK SATISH SAKSHI 2023016402095973 (5)Thane-(1247)	58651 28F	8+	36		FEC101 17+	17			58652 24+	8+	32		FEL101 22+	22		58655 24+	9+	33		FEL102 21+	21		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32+	15+	47		FEL103 18+	37			58654 48+	8+	56		FEL104 20+	36		FEL105 44+	44											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096355	KORI SACHIN PREMKUMAR SANGEETA 2023016402115136 (5)Thane-(1247)	58651 32+	12+	44		FEC101 --	20+	20		58652 24+	9+	33		FEL101 --	21+	21		58655 27E	10+	37		FEL102 --	23+	23	18.00	--			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--		
		58653 39+	13+	52		FEL103 --	21+	42		58654 16F	12+	28		FEL104 --	20+	39		FEL105 --	42+	42									
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096356	/ MACHIGAR MAYURI MALLIKARJUN KASTURI 2023016402115183 (5)Thane-(1247)	58651 27F	12+	39		FEC101 --	23+	23		58652 24E	6+	30		FEL101 --	18+	18		58655 24+	9+	33		FEL102 --	21+	21	18.00	--			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 32+	9+	41		FEL103 --	21+	35		58654 32+	11+	43		FEL104 --	21+	39		FEL105 --	46+	46									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096357	NIRKHI YOGIRAJ PRASHANT SHAMBHAVI 2023016402104823 (5)Thane-(1247)	58651 33	9+	42		FEC101 --	23+	23		58652 24+	9+	33		FEL101 --	17+	17		58655 30+	9+	39		FEL102 --	20+	20	18.00	103.50			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.75	--		
		58653 32+	11+	43		FEL103 --	21+	41		58654 32+	8+	40		FEL104 --	21+	39		FEL105 --	43+	43									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096358	PAL ABHISHEK PATIRAM GEETA 2023016402076345 (5)Thane-(1247)	58651 32+	12+	44		FEC101 --	22+	22		58652 30	7+	37		FEL101 --	17+	17		58655 32+	8+	40		FEL102 --	20+	20	Successful 18.00 112.50				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.25 --			
		58653 32+	13+	45		FEL103 --	20+	41		58654 35+	13+	48		FEL104 --	22+	41		FEL105 --	44+	44									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096359	PRAJAPTI SATYAJEET JAYESHLAL SHANTIDEVI 2023016402105811 (5)Thane-(1247)	58651 4F	8+	12		FEC101 --	21+	21		58652 24+	6+	30		FEL101 --	20+	20		58655 34E	6+	40		FEL102 --	20+	20	Unsuccessful 18.00 --				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 28F	11+	39		FEL103 --	19+	33		58654 15F	10+	25		FEL104 --	20+	35		FEL105 --	46+	46									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096360	SAWANT SAUMITRA SHRIKANT SHRADDHA 2023016402087857 (5)Thane-(1247)	58651 32+	8+	40		FEC101 --	18+	18		58652 25+	9+	34		FEL101 --	18+	18		58655 24+	7+	31		FEL102 --	19+	19	Unsuccessful 18.00 --				
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --			
		58653 16F	11+	27		FEL103 --	15+	30		58654 32+	12+	44		FEL104 --	20+	37		FEL105 --	38+	38									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096361	SURYAWANSHI YOGESH SANJAY SADHANA 2023016402078932 (5)Thane-(1247)	58651 35	8+	43		FEC101 19+	19			58652 27	7+	34		FEL101 18+	18		58655 24+	7+	31		FEL102 21+	21		18.00	97.00		
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.39	--
		58653 32+	11+	43		FEL103 19+	34			58654 34+	8+	42		FEL104 20+	36		FEL105 45+	45									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096362	AJMERA NACHIKET BIKEN SWATI 2022016402349714 (5)Thane-(17)	58651 32+	8+	40		FEC101 18+	18			58652 6F	6+	12		FEL101 20+	20		58655 30+	6+	36		FEL102 23+	23		18.00	--		
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--
		58653 62+	8+	70		FEL103 21+	38			58654 33+	8+	41		FEL104 20+	36		FEL105 46+	46									
		3.00	B	8.00	24.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096363	BHOJNE ATHARVA ANKUSH PRACHI 2023016402098275 (5)Thane-(17)	58651 8F	9+	17		FEC101 17+	17			58652 2F	6+	8		FEL101 17+	17		58655 24+	9+	33		FEL102 17+	17		18.00	--		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--
		58653 32E	10+	42		FEL103 16+	31			58654 32+	12+	44		FEL104 16+	33		FEL105 42+	42									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096364	DHENGALE SHUBHAM YUVRAJ SANGITA 2023016402117673 (5)Thane-(17)	58651 14F	8+	22		FEC101 15+	15			58652 18F	8+	26		FEL101 18+	18		58655 24+	6+	30		FEL102 19+	19		18.00 --		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 36+	8+	44		FEL103 15+	28			58654 36+	8+	44		FEL104 17+	33		FEL105 43+	43								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096365	KAMBLE YUGAN PRASHANT PRAGATI 2023016402082075 (5)Thane-(17)	58651 39+	8+	47		FEC101 15+	15			58652 24+	6+	30		FEL101 19+	19		58655 25+	7+	32		FEL102 17+	17		18.00 106.00		
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.89 --
		58653 43	8+	51		FEL103 12+	22			58654 66	8+	74		FEL104 17+	33		FEL105 30+	30								
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	3.00	B	8.00	24.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096366	/ KHAN SANIYA ISRAR RUBY 2023016402078723 (5)Thane-(17)	58651 41+	19+	60		FEC101 22+	22			58652 14F	10+	24		FEL101 21+	21		58655 26+	10+	36		FEL102 20+	20		18.00 --		
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 32+	13+	45		FEL103 17+	34			58654 54+	16+	70		FEL104 23+	42		FEL105 46+	46								
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	B	8.00	24.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096367	KHAN ZAHID MOHD ISLAM HUSNARA 2023016402106427 (5)Thane-(17)	58651 32+ 3.00 P	8+ 4.00	40 12.00	4.00	FEC101 10+ 1.00 P	10 4.00	10 4.00	4.00	58652 27 2.00 E	7+ 5.00	34 10.00	10.00	FEL101 18+ 0.50 B	18 8.00	4.00	4.00	58655 27+ 2.00 P	6+ 4.00	33 8.00	8.00	FEL102 17+ 0.50 C	17 7.00	17 3.50	3.50	5.42 --
		58653 36+ 3.00 E	12+ 15.00	48 15.00	15.00	FEL103 17+ 1.00 B	17+ 8.00	35 8.00	8.00	58654 34+ 3.00 E	13+ 5.00	47 15.00	15.00	FEL104 20+ 1.00 B	37 8.00	8.00	8.00	FEL105 41+ 1.00 O	41 10.00	41 10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096368	KOYANDE CHIRAG JAGANNATH JAGRUTI 2022016402349722 (5)Thane-(17)	58651 32 3.00 P	8+ 4.00	40 12.00	4.00	FEC101 18+ 1.00 B	18 8.00	18 8.00	8.00	58652 24+ 2.00 P	6+ 4.00	30 8.00	8.00	FEL101 19+ 0.50 A	19 9.00	4.50	4.50	58655 24+ 2.00 P	6+ 4.00	30 8.00	8.00	FEL102 22+ 0.50 O	22 10.00	22 5.00	5.00	6.75 --
		58653 67+ 3.00 A	8+ 27.00	75 27.00	27.00	FEL103 21+ 1.00 O	21+ 10.00	41 10.00	10.00	58654 52+ 3.00 C	8+ 7.00	60 21.00	21.00	FEL104 19+ 1.00 B	35 8.00	8.00	8.00	FEL105 46+ 1.00 O	46 10.00	46 10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096369	MHADLEKAR ATHARVA VIKAS SADHVI 2023016402088184 (5)Thane-(17)	58651 32E 3.00 P	9+ 4.00	41 12.00	4.00	FEC101 19+ 1.00 A	19 9.00	19 9.00	9.00	58652 24+ 2.00 P	7+ 4.00	31 8.00	8.00	FEL101 21+ 0.50 O	21 10.00	5.00	5.00	58655 24+ 2.00 E	10+ 5.00	34 10.00	10.00	FEL102 22+ 0.50 O	22 10.00	22 5.00	5.00	-- --
		58653 21F 3.00 F	15+ 0.00	36 0.00	0.00	FEL103 21+ 1.00 O	21+ 10.00	41 10.00	10.00	58654 32+ 3.00 P	11+ 4.00	43 12.00	12.00	FEL104 19+ 1.00 B	36 8.00	8.00	8.00	FEL105 46+ 1.00 O	46 10.00	46 10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096370	PATNE SUMEET ATMARAM SHEETAL 2023016402117634 (5)Thane-(17)	58651 32E	8+	40		FEC101 16+	16			58652 15F	6+	21		FEL101 19+	19		58655 24+	8+	32		FEL102 17+	17	18.00	--		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 16F	10+	26		FEL103 16+	31			58654 32+	8+	40		FEL104 16+	32		FEL105 30+	30								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096371	/ VIBHUTI PHANSEKAR POONAM 2023016402096021 (5)Thane-(17)	58651 37+	16+	53		FEC101 18+	18			58652 17F	7+	24		FEL101 21+	21		58655 24+	8+	32		FEL102 19+	19	18.00	--		
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 36+	9+	45		FEL103 14+	28			58654 40E	14+	54		FEL104 16+	35		FEL105 32+	32								
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096372	QAZI HUZEFA ABDUL MATEEN TAHSEEN 2023016402088122 (5)Thane-(17)	58651 32+	14+	46		FEC101 20+	20			58652 24+	8+	32		FEL101 22+	22		58655 25+	13+	38		FEL102 23+	23	18.00	115.00		
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.39 --
		58653 32	10+	42		FEL103 15+	30			58654 53+	14+	67		FEL104 23+	40		FEL105 46+	46								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096373	SHAIKH NAEEM AMJAD SHABINA 2023016402098155 (5)Thane-(17)	58651 38	9+	47		FEC101 15+	15		58652 27+	8+	35		FEL101 19+	19		58655 24+	11+	35		FEL102 16+	16		Successful 18.00	100.00			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	5.56	--
		58653 32+	8+	40		FEL103 13+	26		58654 49+	8+	57		FEL104 16+	32		FEL105 32+	32										
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096374	VANSH RAJ SHARMA SHAKTI 2023016402110746 (5)Thane-(17)	58651 41+	16+	57		FEC101 16+	16		58652 28+	7+	35		FEL101 19+	19		58655 34+	9+	43		FEL102 21+	21		Successful 18.00	101.50			
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.64	--
		58653 33	11+	44		FEL103 17+	33		58654 32+	9+	41		FEL104 18+	35		FEL105 28+	28										
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096375	/ SHINDE SIDDHI SURESH SARITA 2023016402117626 (5)Thane-(17)	58651 43+	16+	59		FEC101 21+	21		58652 26+	10+	36		FEL101 22+	22		58655 39+	12+	51		FEL102 23+	23		Successful 18.00	120.00			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	6.67	--
		58653 33	12+	45		FEL103 18+	35		58654 35+	13+	48		FEL104 23+	42		FEL105 46+	46										
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096376	THAKUR DEEP MANGESH KALPANA 2023016402088192 (5)Thane-(17)	58651 38		12+	50	FEC101 ---		20+	20	58652 27+		13+	40	FEL101 ---		19+	19	58655 39+		12+	51	FEL102 ---		23+	23	Successful 18.00 118.50			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	C	7.00	14.00	0.50	O	10.00	5.00	6.58 --			
		58653 32+		12+	44	FEL103 ---		18+	35	58654 32+		15+	47	FEL104 ---		22+	40	58655 ---		46+	46	FEL105 ---							
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096377	WANKAHDE AMAR MUKUND VIDYA 2023016402117611 (5)Thane-(17)	58651 38+		15+	53	FEC101 ---		17+	17	58652 24+		6+	30	FEL101 ---		18+	18	58655 24+		7+	31	FEL102 ---		21+	21	Successful 18.00 106.00			
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.89 --			
		58653 32+		9+	41	FEL103 ---		15+	30	58654 45		17+	62	FEL104 ---		16+	34	58655 ---		39+	39	FEL105 ---							
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096378	YEWALE ATHARVA DINESH JYOTI 2023016402088114 (5)Thane-(17)	58651 33E		14+	47	FEC101 ---		20+	20	58652 24+		9+	33	FEL101 ---		19+	19	58655 24+		11+	35	FEL102 ---		20+	20	Unsuccessful 18.00 --			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 21F		11+	32	FEL103 ---		17+	33	58654 39+		14+	53	FEL104 ---		21+	40	58655 ---		38+	38	FEL105 ---							
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096379	TANISHQ YOGESH BELVALKAR BHAKTI 2023016402112173 (5)Thane-(237)	58651 2F	8+	10		FEC101 12+	12			58652 10F	6+	16		FEL101 21+	21		58655 AA	7+	7		FEL102 10+	10		18.00	--				
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	-- --			
		58653 AA	12+	12		FEL103 17+	34			58654 5F	10+	15		FEL104 11+	11		FEL105 AA	24+	24										
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	F	0.00	0.00	1.00	E	5.00	5.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096380	CHOPADEV SHYAM REVANNATH ANITA 2023016402076202 (5)Thane-(237)	58651 22F	8+	30		FEC101 22+	22			58652 24+	6+	30		FEL101 20+	20		58655 24+	7+	31		FEL102 19+	19		18.00	--				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --			
		58653 32+	11+	43		FEL103 20+	39			58654 44+	14+	58		FEL104 19+	34		FEL105 42+	42											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096381	KARAN VISHWANATH DAGALE ANUSAYA 2023016402109155 (5)Thane-(237)	58651 AA	8+	8		FEC101 15+	15			58652 9F	8+	17		FEL101 17+	17		58655 24E	6+	30		FEL102 10+	10		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	-- --			
		58653 13F	8+	21		FEL103 19+	37			58654 9F	8+	17		FEL104 12+	12		FEL105 AA	24+	24										
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	F	0.00	0.00	1.00	E	5.00	5.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096382	DAMGUDE OMKAR ANKUSH SANGITA 2022016402230774 (5)Thane-(237)	58651 16F	8+	24		FEC101 12+	12			58652 24E	7+	31		FEL101 17+	17		58655 29+	7+	36		FEL102 19+	19		18.00 --		
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --
		58653 33+	8+	41		FEL103 15+	33			58654 32+	9+	41		FEL104 22+	41		FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096383	VAIBHAV VILAS DEVLEKAR PRATHIBA 2023016402114736 (5)Thane-(237)	58651 0F	8+	8		FEC101 21+	21			58652 14F	6+	20		FEL101 21+	21		58655 AA	8+	8		FEL102 21+	21		18.00 --		
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 AA	8+	8		FEL103 19+	36			58654 0F	16+	16		FEL104 20+	30		FEL105 42+	42								
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096384	GANGAD SHUBHAM DATTATRAY SHALAN 2023016402115384 (5)Thane-(237)	58651 39+	11+	50		FEC101 20+	20			58652 24+	7+	31		FEL101 21+	21		58655 24E	7+	31		FEL102 23+	23		18.00 --		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 6F	8+	14		FEL103 20+	38			58654 18F	9+	27		FEL104 22+	40		FEL105 41+	41								
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096385	GAWADE SHREYASH SUBHASH SADHANA 2023016402114415 (5)Thane-(237)	58651 36	8+	44		FEC101 21+	21	24+	6+	30	FEL101 20+	20	31+	11+	42	FEL102 20+	20	18.00	106.00	5.89	--					
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	
		58653 42+	8+	50		FEL103 20+	38	32+	12+	44	FEL104 11+	23	FEL105 41+	41												
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	E	5.00	5.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096386	MANAV ATTAM JONDHALE PREMA 2023016402112196 (5)Thane-(237)	58651 28F	8+	36		FEC101 21+	21	24+	7+	31	FEL101 19+	19	28+	6+	34	FEL102 14+	14	18.00	--	--						
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	D	6.00	3.00	
		58653 42E	8+	50		FEL103 18+	36	15F	12+	27	FEL104 12+	24	FEL105 41+	41												
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	E	5.00	5.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096387	KHANDEKAR ADITYA VIDHYADHAR VISHAKA 2022016402240722 (5)Thane-(237)	58651 43	8+	51		FEC101 17+	17	24+	8+	32	FEL101 21+	21	24+	7+	31	FEL102 22+	22	18.00	107.00	5.94	--					
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	
		58653 36	12+	48		FEL103 18+	38	34+	10+	44	FEL104 22+	41	FEL105 40+	40												
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096388	KHARADE CHETAN VILAS SUMAN 2022016402244101 (5)Thane-(237)	58651 AA	8+	8		FEC101 --	15+	15		58652 AA	6+	6		FEL101 --	20+	20		58655 24+	7+	31		FEL102 --	23+	23	18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 27F	11+	38		FEL103 --	16+	30		58654 AA	8+	8		FEL104 --	18+	32		FEL105 --	40+	40						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096389	/ KOYATE NEHA MANISH MONIKA 2023016402109275 (5)Thane-(237)	58651 34+	8+	42		FEC101 --	21+	21		58652 24	12+	36		FEL101 --	22+	22		58655 24+	8+	32		FEL102 --	23+	23	18.00 103.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.72 --
		58653 32+	8+	40		FEL103 --	20+	39		58654 35+	8+	43		FEL104 --	22+	40		FEL105 --	43+	43						
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096390	/ KUMBHAR SEJAL GANESH SHUBHANGI 2022016402233045 (5)Thane-(237)	58651 32+	8+	40		FEC101 --	12+	12		58652 24+	10+	34		FEL101 --	17+	17		58655 24+	7+	31		FEL102 --	23+	23	18.00 99.50	
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.53 --
		58653 46	13+	59		FEL103 --	14+	28		58654 32+	8+	40		FEL104 --	23+	43		FEL105 --	41+	41						
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096391	LABDE PARTH CHANDRASHKHAR SUPRIYA 2023016402114744 (5)Thane-(237)	58651 6F	11+	17		FEC101 1--	21+	21		58652 24+	7+	31		FEL101 1--	19+	19		58655 13F	6+	19		FEL102 1--	20+	20	18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40		FEL103 1--	19+	36		58654 23F	12+	35		FEL104 1--	10+	10		FEL105 1--	41+	41						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	F	0.00	0.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096392	RAUL PRANAV ARJUN ANJALI 2022016402250403 (5)Thane-(237)	58651 37+	13+	50		FEC101 1--	19+	19		58652 24	10+	34		FEL101 1--	20+	20		58655 24+	6+	30		FEL102 1--	18+	18	18.00 114.00	
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	6.33 --
		58653 32+	14+	46		FEL103 1--	16+	33		58654 44+	13+	57		FEL104 1--	23+	45		FEL105 1--	40+	40						
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096393	SABLE MAYUR GANGARAM GAUTAMABAI 2023016402090032 (5)Thane-(237)	58651 AA	8+	8		FEC101 1--	16+	16		58652 24+	6+	30		FEL101 1--	18+	18		58655 27+	9+	36		FEL102 1--	17+	17	18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --
		58653 32+	8+	40		FEL103 1--	18+	35		58654 0F	13+	13		FEL104 1--	12+	24		FEL105 1--	20+	20						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	E	5.00	5.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096394	JUNAID RAZAK SHAIKH SHAHIN 2023016402100261 (5)Thane-(237)	58651 32+   3.00 E	17+ 49   5.00 15.00	49   15.00	FEC101   1.00 O	21+ 21   10.00 10.00	21   10.00	21   10.00	58652 28+   2.00 E	7+ 35   5.00 10.00	35   10.00	FEL101   0.50 B	18+ 18   8.00 4.00	18   4.00	18   4.00	58655 34   2.00 C	11+ 45   7.00 14.00	45   14.00	FEL102   0.50 O	20+ 20   10.00 5.00	20   5.00	20   5.00	Successful 18.00 115.00   6.39 --						
		58653 35+   3.00 E	10+ 45   5.00 15.00	45   15.00	FEL103   1.00 O	20+ 40   10.00 10.00	40   10.00	40   10.00	58654 32+   3.00 P	12+ 44   4.00 12.00	44   12.00	FEL104   1.00 O	22+ 40   10.00 10.00	40   10.00	40   10.00	FEL105   1.00 O	44+ 44   10.00 10.00	44   10.00		10.00 10.00	10.00 10.00	10.00 10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096395	/ NEHA DINESH TALAPE MEENA 2023016402102581 (5)Thane-(237)	58651 32   3.00 P	9+ 41   4.00 12.00	41   12.00	FEC101   1.00 O	23+ 23   10.00 10.00	23   10.00	23   10.00	58652 24+   2.00 P	8+ 32   4.00 8.00	32   8.00	FEL101   0.50 O	21+ 21   10.00 5.00	21   5.00	21   5.00	58655 26+   2.00 P	7+ 33   4.00 8.00	33   8.00	FEL102   0.50 O	21+ 21   10.00 5.00	21   5.00	21   5.00	Successful 18.00 107.00   5.94 --						
		58653 44+   3.00 D	10+ 54   6.00 18.00	54   18.00	FEL103   1.00 B	19+ 37   8.00 8.00	37   8.00	37   8.00	58654 32   3.00 E	15+ 47   5.00 15.00	47   15.00	FEL104   1.00 B	20+ 36   8.00 8.00	36   8.00	36   8.00	FEL105   1.00 O	40+ 40   10.00 10.00	40   10.00		10.00 10.00	10.00 10.00	10.00 10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096396	/ JANHAVI MADAN BHAGAT MANSI 2022016402277767 (5)Thane-(689)	58651 32+   3.00 E	14+ 46   5.00 15.00	46   15.00	FEC101   1.00 C	17+ 17   7.00 7.00	17   7.00	17   7.00	58652 24+   2.00 P	6+ 30   4.00 8.00	30   8.00	FEL101   0.50 A	19+ 19   9.00 4.50	19   4.50	19   4.50	58655 10F   2.00 F	6+ 16   0.00 0.00	16   0.00	FEL102   0.50 O	21+ 21   10.00 5.00	21   5.00	21   5.00	Unsuccessful 18.00 --   -- --						
		58653 34+   3.00 E	12+ 46   5.00 15.00	46   15.00	FEL103   1.00 O	21+ 41   10.00 10.00	41   10.00	41   10.00	58654 32+   3.00 P	9+ 41   4.00 12.00	41   12.00	FEL104   1.00 A	20+ 39   9.00 9.00	39   9.00	39   9.00	FEL105   1.00 D	29+ 29   6.00 6.00	29   6.00		10.00 6.00	10.00 6.00	10.00 6.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096397	/ CHAUDHARI JAGRUTI NAGO ARUNA 2023016400733477 (5)Thane-(689)	58651 32+	10+	42	100.00	FEC101 18+	18	18	100.00	58652 24+	14+	38	100.00	FEL101 19+	19	19	100.00	58655 25+	6+	31	100.00	FEL102 16+	16	16	100.00	Successful 18.00 103.00			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.72 --			
		58653 32	8+	40	100.00	FEL103 19+	37	37	100.00	58654 32+	16+	48	100.00	FEL104 22+	41	41	100.00	FEL105 44+	44	44	100.00								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096398	/ POOJA ANIL CHAVAN SUNITA 2022016402278314 (5)Thane-(689)	58651 3F	11+	14	100.00	FEC101 18+	18	18	100.00	58652 24+	11+	35	100.00	FEL101 17+	17	17	100.00	58655 24+	9+	33	100.00	FEL102 16+	16	16	100.00	Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 32+	9+	41	100.00	FEL103 19+	38	38	100.00	58654 8F	15+	23	100.00	FEL104 20+	37	37	100.00	FEL105 42+	42	42	100.00								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096399	DHEKAN PIYUSH KISHOR VAISHALI 2022016402277783 (5)Thane-(689)	58651 0F	4F	4	100.00	FEC101 16+	16	16	100.00	58652 1F	7+	8	100.00	FEL101 19+	19	19	100.00	58655 1F	7+	8	100.00	FEL102 21+	21	21	100.00	Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		58653 1F	11+	12	100.00	FEL103 22+	45	45	100.00	58654 2F	12+	14	100.00	FEL104 21+	37	37	100.00	FEL105 44+	44	44	100.00								
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 @C:sum of credit points GPA: @CG/@C  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096400	JADHAV ATHARVA SANJIV SANGEETA 2023016400732845 (5)Thane-(689)	58651 18F	12+	30		FEC101 16+	16			58652 7F	12+	19		FEL101 22+	22		58655 10F	7+	17		FEL102 23+	23			Unsuccessful 18.00 -- -- --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096401	MANKE PRITISH RAJESH PRAVEENA 2023016400737332 (5)Thane-(689)	58651 32+	13+	45		FEC101 16+	16			58652 24+	6+	30		FEL101 21+	21		58655 24+	9+	33		FEL102 22+	22			Unsuccessful 18.00 -- -- --	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096402	MHATRE MANTHAN MAHESH SHILPA 2023016400736576 (5)Thane-(689)	58651 35	8+	43		FEC101 12+	12			58652 29+	15+	44		FEL101 19+	19		58655 24+	9+	33		FEL102 23+	23			Successful 18.00 110.50 6.14 --	
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096403	MISHRA MADHVANDAND RAMESH JYOTI 2023016400731397 (5)Thane-(689)	58651 34+	17+	51	1.00	FEC101 21+	21	17F	6+	23	58652 17F	6+	23	FEL101 20+	20	58655 24+	6+	30	FEL102 21+	21	18.00	--					
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--
		58653 42+	8+	50	1.00	FEL103 21+	35	58654 34+	13+	47	FEL104 21+	39	FEL105 36+	36													
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096404	ROHAN BALIRAM NAGARGOJE KAVITA 2023016401766962 (5)Thane-(689)	58651 38+	8+	46	1.00	FEC101 10+	10	58652 27+	11+	38	FEL101 19+	19	58655 25E	6E	31	FEL102 17+	17	18.00	--								
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--
		58653 32E	8E	40	1.00	FEL103 20+	34	58654 14F	11+	25	FEL104 19+	32	FEL105 35+	35													
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096405	CHAITRESH MUKESH NAIK LALITA 2023016400738277 (5)Thane-(689)	58651 34	8+	42	1.00	FEC101 12+	12	58652 27+	15+	42	FEL101 19+	19	58655 29+	9+	38	FEL102 21+	21	18.00	107.50								
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.97	--
		58653 32+	11+	43	1.00	FEL103 23+	43	58654 32+	14+	46	FEL104 23+	41	FEL105 44+	44													
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 @C:sum of credit points GPA: @CG/@C  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096406	PINGLE OM SATISH RAJSHREE 2022016402278376 (5)Thane-(689)	58651 32+ 3.00 P 4.00 12.00	8+	40	100.00	FEC101 10+ 1.00 P 4.00 4.00	10	10	100.00	58652 24+ 2.00 P 4.00 8.00	7+	31	8.00	FEL101 14+ 0.50 D 6.00 3.00	14	14	100.00	58655 28+ 2.00 E 5.00 10.00	7+	35	10.00	FEL102 16+ 0.50 C 7.00 3.50	16	16	100.00	18.00 86.50 4.81 --
		58653 32+ 3.00 P 4.00 12.00	12+	44	100.00	FEL103 19+ 1.00 B 8.00 8.00	36	36	100.00	58654 32+ 3.00 P 4.00 12.00	10+	42	12.00	FEL104 20+ 1.00 O 10.00 10.00	41	41	100.00	FEL105 22+ 1.00 P 4.00 4.00	22	22	100.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096407	SHAH ASHISH SANDEEP POONAM SHAH 2023016400732273 (5)Thane-(689)	58651 32E 3.00 P 4.00 12.00	9+	41	100.00	FEC101 16+ 1.00 C 7.00 7.00	16	16	100.00	58652 27+ 2.00 E 5.00 10.00	10+	37	10.00	FEL101 13+ 0.50 D 6.00 3.00	13	13	100.00	58655 24+ 2.00 P 4.00 8.00	6+	30	8.00	FEL102 20+ 0.50 O 10.00 5.00	20	20	100.00	18.00 -- -- --
		58653 35+ 3.00 P 4.00 12.00	8+	43	100.00	FEL103 18+ 1.00 C 7.00 7.00	32	32	100.00	58654 16F 3.00 F 0.00 0.00	13+	29	0.00	FEL104 21+ 1.00 O 10.00 10.00	41	41	100.00	FEL105 25+ 1.00 D 6.00 6.00	25	25	100.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096408	VERMA YASH VIJENDRA PRIYA 2022016402286097 (5)Thane-(689)	58651 36+ 3.00 E 5.00 15.00	10	46	100.00	FEC101 10+ 1.00 P 4.00 4.00	10	10	100.00	58652 35+ 2.00 D 6.00 12.00	6+	41	12.00	FEL101 16+ 0.50 C 7.00 3.50	16	16	100.00	58655 24+ 2.00 P 4.00 8.00	9+	33	8.00	FEL102 18+ 0.50 B 8.00 4.00	18	18	100.00	18.00 100.50 5.58 --
		58653 35+ 3.00 P 4.00 12.00	8+	43	100.00	FEL103 21+ 1.00 A 9.00 9.00	38	38	100.00	58654 42+ 3.00 D 6.00 18.00	9+	51	18.00	FEL104 18+ 1.00 B 8.00 8.00	36	36	100.00	FEL105 30+ 1.00 C 7.00 7.00	30	30	100.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096409	VISHWAKARMA SIDDHARTH BABLU SANGEETA 2023016400741071 (5)Thane-(689)	58651 35E	11+	46		FEC101 12+	12			58652 27+	7+	34		FEL101 18+	18		58655 27+	10+	37		FEL102 24+	24		18.00	--				
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 35E	8+	43		FEL103 20+	37			58654 25F	10+	35		FEL104 22+	38		FEL105 44+	44											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096410	ATHARVA NANDKISHOR ZAGADE NIKITA 2023016400737711 (5)Thane-(689)	58651 32+	8+	40		FEC101 14+	14			58652 24+	6+	30		FEL101 18+	18		58655 24E	10+	34		FEL102 22+	22		18.00	--				
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 9F	8+	17		FEL103 16+	28			58654 11F	12+	23		FEL104 22+	43		FEL105 44+	44											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096411	/ BHARTI NUPUR ASHOK SANGEETA 2023016402087277 (5)Thane-(996)	58651 41E	8E	49		FEC101 10E	10			58652 8F	6E	14		FEL101 11E	11		58655 AA	6E	6		FEL102 11E	11		18.00	--				
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	-- --			
		58653 32E	10E	42		FEL103 10E	20			58654 14F	8E	22		FEL104 12E	24		FEL105 20+	20											
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	E	5.00	5.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096412	/ GUJAR RUJUTA PRAVIN AMITA 2023016402100906 (5)Thane-(996)	58651 32+	12+	44		FEC101 10+	10			58652 24+	6+	30		FEL101 12+	12		58655 24+	6+	30		FEL102 11+	11		Successful 18.00 82.50			
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	4.58 --	
		58653 36+	10	46		FEL103 10+	22			58654 37+	14+	51		FEL104 11+	24		FEL105 20+	20									
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	3.00	D	6.00	18.00	1.00	E	5.00	5.00	1.00	P	4.00	4.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096413	JAYESH AMIT GUPTA BHARTI 2023016402080931 (5)Thane-(996)	58651 41+	12+	53		FEC101 20+	20			58652 29	7+	36		FEL101 21+	21		58655 24+	10+	34		FEL102 18+	18		Successful 18.00 112.00			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	6.22 --	
		58653 32+	8+	40		FEL103 19+	36			58654 34+	12+	46		FEL104 22+	40		FEL105 40+	40									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096414	INGALE KARUNYA SANJAY ANJALI 2023016402099986 (5)Thane-(996)	58651 43	8+	51		FEC101 18+	18			58652 25+	6+	31		FEL101 20+	20		58655 24+	7+	31		FEL102 19+	19		Successful 18.00 101.50			
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.64 --	
		58653 36+	8+	44		FEL103 14+	30			58654 32+	8+	40		FEL104 20+	38		FEL105 40+	40									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096415	MANISH ARVIND JAGTAP BHARATI JAGTAP 2023016402080335 (5)Thane-(996)	58651 60	8+	68		FEC101 17+	17			58652 24+	6+	30		FEL101 19+	19		58655 24+	6+	30		FEL102 17+	17		Successful 18.00 109.00					
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	6.06 --			
		58653 37+	9+	46		FEL103 14+	29			58654 41+	11+	52		FEL104 22+	42		FEL105 35+	35											
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096416	JAIN MANAS HITENDRA SANGEETA 2023016402100067 (5)Thane-(996)	58651 37E	10+	47		FEC101 19+	19			58652 6F	6+	12		FEL101 22+	22		58655 24E	6+	30		FEL102 19+	19		Unsuccessful 18.00 --					
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --			
		58653 32E	8+	40		FEL103 20+	32			58654 32+	12+	44		FEL104 23+	39		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096417	/ BASUNDHARA JENA PINKY 2023016402106145 (5)Thane-(996)	58651 32+	9+	41		FEC101 19+	19			58652 26+	6+	32		FEL101 15+	15		58655 25+	9+	34		FEL102 19+	19		Unsuccessful 18.00 --					
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --			
		58653 13F	8+	21		FEL103 19+	33			58654 32+	12+	44		FEL104 23+	43		FEL105 32+	32											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00





University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096421	KUMAR GAUTAM NIRAJ BHARTI 2022016402446462 (5)Thane-(996)	58651 32E	11+	43		FEC101 19+	19			58652 19F	8+	27		FEL101 18+	18		58655 24+	10+	34		FEL102 17+	17		18.00	--				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --			
		58653 32+	10+	42		FEL103 17+	36			58654 32+	12+	44		FEL104 16+	31		FEL105 26+	26											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096422	MADHAVI YASH BHARAT NIKITA 2023016402080327 (5)Thane-(996)	58651 34	9+	43		FEC101 18+	18			58652 24+	7+	31		FEL101 23+	23		58655 31+	7+	38		FEL102 17+	17		18.00	100.50				
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	5.58 --			
		58653 32	8+	40		FEL103 22+	41			58654 32+	8+	40		FEL104 21+	37		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096423	MISHRA AAYUSH AVALESH SONI 2023016402106516 (5)Thane-(996)	58651 32	11+	43		FEC101 11+	11			58652 28	7+	35		FEL101 15+	15		58655 34	6+	40		FEL102 15+	15		18.00	88.00				
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	C	7.00	3.50	4.89 --			
		58653 32	8+	40		FEL103 11+	23			58654 32+	8+	40		FEL104 15+	32		FEL105 34+	34											
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096424	MANTHAN MANOJ MORE VIDHI 2023016402105865 (5)Thane-(996)	58651 32+	9+	41		FEC101 16+	16			58652 24+	7+	31		FEL101 18+	18		58655 45	7+	52		FEL102 20+	20			Successful 18.00 98.00 5.44 --	
		3.00 P	4.00	12.00	1.00 C	7.00	7.00	2.00 P	4.00	8.00	0.50 B	8.00	4.00	2.00 C	7.00	14.00	0.50 O	10.00	5.00							
		58653 32+	9+	41		FEL103 16+	30			58654 32+	9+	41		FEL104 17+	33		FEL105 40+	40								
		3.00 P	4.00	12.00	1.00 C	7.00	7.00	3.00 P	4.00	12.00	1.00 C	7.00	7.00	1.00 O	10.00	10.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096425	NERPAGAR MITALI NITIN ROHINI 2023016402106787 (5)Thane-(996)	58651 32+	8+	40		FEC101 14+	14			58652 30+	7+	37		FEL101 15+	15		58655 33+	7+	40		FEL102 16+	16			Successful 18.00 98.00 5.44 --	
		3.00 P	4.00	12.00	1.00 D	6.00	6.00	2.00 E	5.00	10.00	0.50 C	7.00	3.50	2.00 D	6.00	12.00	0.50 C	7.00	3.50							
		58653 47	9+	56		FEL103 12+	24			58654 32+	8+	40		FEL104 15+	32		FEL105 38+	38								
		3.00 D	6.00	18.00	1.00 E	5.00	5.00	3.00 P	4.00	12.00	1.00 C	7.00	7.00	1.00 A	9.00	9.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096426	PANSARE PRATHAM PURUSHOTTAM SUMAN 2022016402446326 (5)Thane-(996)	58651 32E	8+	40		FEC101 20+	20			58652 24+	7+	31		FEL101 20+	20		58655 24+	9+	33		FEL102 20+	20			Unsuccessful 18.00 -- -- --	
		3.00 P	4.00	12.00	1.00 O	10.00	10.00	2.00 P	4.00	8.00	0.50 O	10.00	5.00	2.00 P	4.00	8.00	0.50 O	10.00	5.00							
		58653 26F	10+	36		FEL103 19+	33			58654 46+	8+	54		FEL104 18+	34		FEL105 40+	40								
		3.00 F	0.00	0.00	1.00 C	7.00	7.00	3.00 D	6.00	18.00	1.00 C	7.00	7.00	1.00 O	10.00	10.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096427	PARADKAR PRANAV ANAND SAVITA 2022016402444486 (5)Thane-(996)	58651 28F	9+	37		FEC101 19+	19		58652 24+	8+	32		FEL101 20+	20		58655 24+	7+	31		FEL102 20+	20		18.00	--					
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32E	10+	42		FEL103 21+	39		58654 38+	8+	46		FEL104 17+	32		FEL105 48+	48												
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096428	PATIL ATHARVA RAJENDRA VAISHALI 2023016402088331 (5)Thane-(996)	58651 35	8+	43		FEC101 16+	16		58652 24+	6+	30		FEL101 19+	19		58655 25+	6+	31		FEL102 19+	19		18.00	98.00					
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.44 --			
		58653 42+	9+	51		FEL103 17+	29		58654 32+	12+	44		FEL104 20+	36		FEL105 40+	40												
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096429	PATIL RAJ SATISH KAVITA 2023016402105873 (5)Thane-(996)	58651 37+	9+	46		FEC101 16+	16		58652 29+	7+	36		FEL101 19+	19		58655 25+	9+	34		FEL102 19+	19		18.00	100.00					
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	5.56 --			
		58653 32+	11+	43		FEL103 16+	33		58654 33	8+	41		FEL104 20+	37		FEL105 40+	40												
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096430	/ PATIL TANISHA JANARDAN YOGITA 2023016402106756 (5)Thane-(996)	58651 1F	13+	14		FEC101 1--	19+	19		58652 24+	6+	30		FEL101 1--	20+	20		58655 29+	7+	36		FEL102 1--	21+	21	18.00	--			
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 32+	12+	44		FEL103 1--	19+	35		58654 40E	13+	53		FEL104 1--	22+	37		FEL105 1--	38+	38									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096431	RUMANI SHAHEEM ZUBER NILOFAR 2023016402106532 (5)Thane-(996)	58651 13F	8+	21		FEC101 1--	15+	15		58652 9F	7+	16		FEL101 1--	17+	17		58655 27E	7+	34		FEL102 1--	19+	19	18.00	--			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --			
		58653 48E	8+	56		FEL103 1--	15+	27		58654 18F	11+	29		FEL104 1--	19+	34		FEL105 1--	40+	40									
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096432	SAPTE ATHARVA BIPIN VAISHNAVI 2023016402100791 (5)Thane-(996)	58651 32+	9+	41		FEC101 1--	17+	17		58652 9F	6+	15		FEL101 1--	18+	18		58655 24+	7+	31		FEL102 1--	20+	20	18.00	--			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 43E	8+	51		FEL103 1--	17+	36		58654 32+	8+	40		FEL104 1--	21+	42		FEL105 1--	38+	38									
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096433	SAYYED MOHAMMED ANAS ZAKIRAHMED - SAJEDA 2023016402106161 (5)Thane-(996)	58651 32E	8+	40		FEC101 16+	16		58652 5F	6+	11		FEL101 18+	18		58655 10F	6+	16		FEL102 20+	20				Unsuccessful 18.00 --	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096434	/ SHETTY SAJNI DAYANAND ROJA 2023016402090403 (5)Thane-(996)	58651 46	11+	57		FEC101 19+	19		58652 28+	9+	37		FEL101 22+	22		58655 27+	9+	36		FEL102 21+	21				Successful 18.00 104.00	
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.78 --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096435	ISHAN SANTOSH SHINDE SADHANA 2023016402081605 (5)Thane-(996)	58651 37	8+	45		FEC101 19+	19		58652 31+	9+	40		FEL101 22+	22		58655 31+	6+	37		FEL102 21+	21				Successful 18.00 110.00	
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.11 --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096436	SHINDE VIRAJ DATTATRAY SWATI 2023016402081822 (5)Thane-(996)	58651 36	8+	44		FEC101 16+	16		58652 27+	6+	33		FEL101 19+	19		58655 32+	6+	38		FEL102 15+	15		Successful 18.00	93.00			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	C	7.00	3.50	5.17	--
		58653 32+	8+	40		FEL103 16+	29		58654 32+	8+	40		FEL104 19+	37		FEL105 37+	37										
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096437	SINGH NIKHIL INDRAJEET RANI 2022016402444753 (5)Thane-(996)	58651 32+	16+	48		FEC101 20+	20		58652 24+	9+	33		FEL101 22+	22		58655 24+	11+	35		FEL102 20+	20		Successful 18.00	110.00			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.11	--
		58653 37	10+	47		FEL103 20+	37		58654 45+	9+	54		FEL104 18+	31		FEL105 38+	38										
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096438	SONAWALE SHREYA BALARAM VIDHYA 2023016402100937 (5)Thane-(996)	58651 35	8+	43		FEC101 18+	18		58652 24+	6+	30		FEL101 20+	20		58655 24+	7+	31		FEL102 21+	21		Successful 18.00	95.00			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.28	--
		58653 33+	9+	42		FEL103 22+	38		58654 33+	8+	41		FEL104 20+	39		FEL105 31+	31										
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096439	/ SURYAVANSHI ADITI SHARAD SAVITA 2023016402100864 (5)Thane-(996)	58651 37+	10+	47		FEC101 --	20+	20		58652 26+	9+	35		FEL101 --	22+	22		58655 37+	9+	46		FEL102 --	22+	22	18.00 --	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	-- --
		58653 27F	9+	36		FEL103 --	23+	38		58654 44+	14+	58		FEL104 --	22+	44		FEL105 --	34+	34						
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096440	VISHWAKARMA GAURAV UTTESH PREMASHILA 2023016402088563 (5)Thane-(996)	58651 42+	8+	50		FEC101 --	20+	20		58652 24	7+	31		FEL101 --	18+	18		58655 24+	6+	30		FEL102 --	20+	20	18.00 117.00	
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.50 --
		58653 38	9+	47		FEL103 --	23+	44		58654 53+	9+	62		FEL104 --	17+	35		FEL105 --	40+	40						
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096441	YADAV RAJ RAJKUMAR BABY 2023016402100117 (5)Thane-(996)	58651 34+	8+	42		FEC101 --	17+	17		58652 24+	6+	30		FEL101 --	15+	15		58655 24+	7+	31		FEL102 --	19+	19	18.00 98.00	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.44 --
		58653 52	8+	60		FEL103 --	17+	33		58654 36+	8+	44		FEL104 --	14+	30		FEL105 --	35+	35						
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00





University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096445	MHASKE SUMEDH CHANDRAKANT PANCHASHILA 2023016401744637 (8)Kalyan-(1118)	58651 AA	10+	10		FEC101 --	15+	15		58652 AA	9+	9		FEL101 --	18+	18		58655 24+	9+	33		FEL102 --	22+	22	18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096446	SARKATE ROSHAN LAXMAN VARSHA 2023016401729777 (8)Kalyan-(1118)	58651 35+	9+	44		FEC101 --	19+	19		58652 26	9+	35		FEL101 --	18+	18		58655 26+	6+	32		FEL102 --	19+	19	18.00 97.50	
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.42 --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096447	BALURE PRADNYESH PIRAJI KAVERI 2023016401032412 (8)Kalyan-(461)	58651 42	10+	52		FEC101 --	12+	12		58652 25+	9+	34		FEL101 --	17+	17		58655 24+	9+	33		FEL102 --	17+	17	18.00 111.00	
		3.00	D	6.00	18.00	1.00	E	5.00	5.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	6.17 --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096448	CHAVAN VYANKTESH MADAN PUSHPA 2022016402387987 (8)Kalyan-(461)	58651 3F	9+	12		FEC101 1--	10+	10		58652 24+	7+	31		FEL101 1--	17+	17		58655 24+	9+	33		FEL102 1--	20+	20		Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32+	10+	42		FEL103 1--	19+	39		58654 37+	12+	49		FEL104 1--	16+	32		FEL105 1--	22+	22									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096449	SHASHANK DATTARAM GHADI SHRADDHA 2022016402391857 (8)Kalyan-(461)	58651 19F	8+	27		FEC101 1--	16+	16		58652 24+	8+	32		FEL101 1--	18+	18		58655 24+	9+	33		FEL102 1--	20+	20		Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 33+	11+	44		FEL103 1--	21+	43		58654 28F	10+	38		FEL104 1--	19+	37		FEL105 1--	44+	44									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096450	GOLE VINIT SANJAY GAURI 2023016401027175 (8)Kalyan-(461)	58651 32+	8	40		FEC101 1--	16+	16		58652 29+	8+	37		FEL101 1--	15+	15		58655 24+	6+	30		FEL102 1--	10+	10		Successful 18.00 91.50			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	5.08 --			
		58653 32	10+	42		FEL103 1--	21+	40		58654 32+	8+	40		FEL104 1--	18+	34		FEL105 1--	37+	37									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096451	HANDE SHUBHAM BABASAHEB ANITA 2023016401022425 (8)Kalyan-(461)	58651 32 3.00 P	10+	42	12.00	FEC101 19+ 1.00 A	19	9.00	9.00	58652 26+ 2.00 E	8+	34	10.00	FEL101 16+ 0.50 C	16	3.50	58655 28+ 2.00 D	10+	38	12.00	FEL102 18+ 0.50 B	18	4.00	5.58	--	Successful 18.00 100.50			
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096452	HIVARKAR AYUSH MALHARI KALVATI 2023016401027047 (8)Kalyan-(461)	58651 45E 3.00 D	8+	53	18.00	FEC101 15+ 1.00 C	15	7.00	7.00	58652 24+ 2.00 P	6+	30	8.00	FEL101 10+ 0.50 P	10	2.00	58655 31+ 2.00 E	6+	37	10.00	FEL102 21+ 0.50 O	21	5.00	--	--	Unsuccessful 18.00 --			
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096453	JADHAV SOHAM SANDIP SAYALI 2023016401022897 (8)Kalyan-(461)	58651 32+ 3.00 P	8+	40	12.00	FEC101 18+ 1.00 B	18	8.00	8.00	58652 24E 2.00 P	6+	30	8.00	FEL101 14+ 0.50 D	14	3.00	58655 9F 2.00 F	6+	15	0.00	FEL102 18+ 0.50 B	18	4.00	--	--	Unsuccessful 18.00 --			
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096454	KALPAVRUKSHA ADITYA JAGANNATH VAISHALI 2023016401022681 (8)Kalyan-(461)	58651 33+	9+	42		FEC101 14+	14			58652 26+	8+	34		FEL101 10+	10		58655 24+	7+	31		FEL102 16+	16		18.00	97.50	Successful			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.42	--		
		58653 39+	8+	47		FEL103 13+	30			58654 40	12+	52		FEL104 17+	29		FEL105 43+	43											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096455	MR. KOKARE ABHIJIT ASHOK SHALAN 2022016402386647 (8)Kalyan-(461)	58651 4F	8+	12		FEC101 15+	15			58652 24+	8+	32		FEL101 11+	11		58655 24+	7+	31		FEL102 17+	17		18.00	--	Unsuccessful			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--		
		58653 42+	8+	50		FEL103 18+	34			58654 32E	10+	42		FEL104 16+	31		FEL105 38+	38											
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096456	KOKATE ARYAN SAMADHAN SUNITA 2023016401036232 (8)Kalyan-(461)	58651 0F	8+	8		FEC101 13+	13			58652 24+	7+	31		FEL101 13+	13		58655 25+	7+	32		FEL102 16+	16		18.00	--	Unsuccessful			
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--		
		58653 44+	18+	62		FEL103 16+	35			58654 39+	8+	47		FEL104 17+	31		FEL105 40+	40											
		3.00	C	7.00	21.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096457	ANAND MANOHAR MAHAGADE MAYA 2022016402387682 (8)Kalyan-(461)	58651 32	8+	40		FEC101 10+	10		58652 24+	7+	31		FEL101 10+	10		58655 24+	9+	33		FEL102 10+	10		Successful 18.00	79.00		
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	4.39 --
		58653 35+	8+	43		FEL103 20+	38		58654 32+	8+	40		FEL104 15+	29		FEL105 22+	22									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096458	MINDE KAUSHAL SANTOSH SUSHMA 2023016401022433 (8)Kalyan-(461)	58651 23F	10+	33		FEC101 17+	17		58652 26E	8+	34		FEL101 17+	17		58655 27+	8+	35		FEL102 12+	12		Unsuccessful 18.00	--		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	E	5.00	2.50	-- --
		58653 33+	15+	48		FEL103 22+	38		58654 47+	12+	59		FEL104 20+	34		FEL105 40+	40									
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096459	/ MOHITE PRIYASHA ANIL REKHA 2022016400354417 (8)Kalyan-(461)	58651 16F	8+	24		FEC101 19+	19		58652 29E	6+	35		FEL101 11+	11		58655 24+	6+	30		FEL102 16+	16		Unsuccessful 18.00	--		
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 32+	10+	42		FEL103 18+	32		58654 4F	12+	16		FEL104 15+	29		FEL105 44+	44									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096460	NEERAJ CHANDRAKANT PASALKAR SAYALI 2022016402387771 (8)Kalyan-(461)	58651 10F 3.00	8+	8	8	FEC101 10F 1.00	18+	18	8.00	58652 10F 2.00	7+	12	12.00	FEL101 10F 0.50	11+	11	2.00	58655 10F 2.00	9+	9	0.00	FEL102 10F 0.50	20+	20	5.00	Unsuccessful 18.00 -- -- --
		58653 136+	8+	44	12.00	FEL103 10F 1.00	19+	37	8.00	58654 10F 3.00	12+	18	0.00	FEL104 10F 1.00	19+	37	8.00	FEL105 10F 1.00	25+	25	6.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096461	PRAJAPATI SAHIL MURARI LAL KIRAN 2022016402391045 (8)Kalyan-(461)	58651 10F 3.00	10+	10	0.00	FEC101 10F 1.00	21+	21	10.00	58652 10F 2.00	8+	16	0.00	FEL101 10F 0.50	17+	17	3.50	58655 10F 2.00	9+	46	14.00	FEL102 10F 0.50	20+	20	5.00	Unsuccessful 18.00 -- -- --
		58653 150+	9+	59	18.00	FEL103 10F 1.00	21+	43	10.00	58654 10F 3.00	12+	49	15.00	FEL104 10F 1.00	17+	33	7.00	FEL105 10F 1.00	45+	45	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096462	SHINDE SAURABH YUVRAJ YOGITA 2023016401022391 (8)Kalyan-(461)	58651 10F 3.00	8+	15	0.00	FEC101 10F 1.00	16+	16	7.00	58652 10F 2.00	9+	17	0.00	FEL101 10F 0.50	14+	14	3.00	58655 10F 2.00	6+	22	0.00	FEL102 10F 0.50	21+	21	5.00	Unsuccessful 18.00 -- -- --
		58653 137+	8+	45	15.00	FEL103 10F 1.00	22+	41	10.00	58654 10F 3.00	8+	40	12.00	FEL104 10F 1.00	16+	28	6.00	FEL105 10F 1.00	44+	44	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096463	SWAMI SAMARTH GAJANAN SUREKHA 2022016402387794 (8)Kalyan-(461)	58651 17F	13+	30		FEC101 ---	20+	20		58652 24+	7+	31		FEL101 ---	17+	17		58655 24+	9+	33		FEL102 ---	20+	20	18.00	Unsuccessful --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32+	17+	49		FEL103 ---	21+	41		58654 32+	9+	41		FEL104 ---	16+	32		FEL105 ---	40+	40									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096464	TAYADE JATIN SANJAY JAYASHRI 2022016402387426 (8)Kalyan-(461)	58651 37E	8+	45		FEC101 ---	14+	14		58652 5F	6+	11		FEL101 ---	17+	17		58655 24+	9+	33		FEL102 ---	10+	10	18.00	Unsuccessful --			
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	-- --			
		58653 33+	10+	43		FEL103 ---	20+	36		58654 33+	18+	51		FEL104 ---	16+	31		FEL105 ---	47+	47									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096465	WAGH KARTIK VILAS KAMAL 2023016401022464 (8)Kalyan-(461)	58651 36+	8+	44		FEC101 ---	23+	23		58652 24E	6+	30		FEL101 ---	17+	17		58655 24+	8+	32		FEL102 ---	23+	23	18.00	Unsuccessful --			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 41+	10+	51		FEL103 ---	24+	45		58654 16F	8+	24		FEL104 ---	20+	38		FEL105 ---	44+	44									
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096466	YADAV AAYUSH MUKESH MANJU YADAV 2023016401022456 (8)Kalyan- (461)	58651 34+	9+	43		FEC101 --	22+	22		58652 27+	7+	34		FEL101 --	14+	14		58655 24+	10+	34		FEL102 --	17+	17	Successful 18.00 110.50 6.14 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	
		58653 32+	16+	48		FEL103 --	24+	45		58654 40	11+	51		FEL104 --	19+	39		FEL105 --	45+	45						
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096467	YADAV AKASH KAILASH SUSHMA YADAV 2023016401033423 (8)Kalyan- (461)	58651 37+	8+	45		FEC101 --	14+	14		58652 28	12+	40		FEL101 --	18+	18		58655 30+	10+	40		FEL102 --	11+	11	Successful 18.00 114.00 6.33 --	
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	P	4.00	2.00	
		58653 44+	17+	61		FEL103 --	24+	45		58654 33+	8+	41		FEL104 --	20+	40		FEL105 --	40+	40						
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096468	BHANDWALKAR VARAD RAMDAS VARSHA 2023016400647422 (12)Panvel- (124)	58651 34+	9+	43		FEC101 --	17+	17		58652 25+	10+	35		FEL101 --	19+	19		58655 31+	9+	40		FEL102 --	17+	17	Successful 18.00 97.00 5.39 --	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	C	7.00	3.50	
		58653 34	11+	45		FEL103 --	14+	29		58654 32+	8+	40		FEL104 --	20+	37		FEL105 --	34+	34						
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096469	CHANDGIR GANESH SHANTARAM SUMAN 2023016400647511 (12) Panvel- (124)	58651 34+	8+	42		FEC101 17+	17			58652 31+	12+	43		FEL101 15+	15		58655 24+	6+	30		FEL102 18+	18		18.00	--				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 26F	13E	39		FEL103 16+	31			58654 32+	8+	40		FEL104 21+	37		FEL105 34+	34											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096470	CHANDGIR SANDIP SHANTARAM CHANDA 2023016400647534 (12) Panvel- (124)	58651 4F	9+	13		FEC101 17+	17			58652 28+	6+	34		FEL101 17+	17		58655 24+	8+	32		FEL102 20+	20		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32E	8+	40		FEL103 16+	31			58654 32+	10E	42		FEL104 20+	35		FEL105 39+	39											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096471	CHAVAN DHIRAJ HIMMAT NITISHA 2022016402167482 (12) Panvel- (124)	58651 35	8+	43		FEC101 15+	15			58652 24+	7+	31		FEL101 16+	16		58655 27+	7+	34		FEL102 15+	15		18.00	94.00				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	5.22 --			
		58653 34+	8+	42		FEL103 18+	34			58654 38+	8+	46		FEL104 17+	35		FEL105 36+	36											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096472	CHOWKIDAR AMAAN ALI ABBAS ALI RASHIDA 2022016402169442 (12) Panvel- (124)	58651 18F	8+	26		FEC101 16+	16			58652 24+	7+	31		FEL101 20+	20		58655 29+	11+	40		FEL102 18+	18		18.00	Unsuccessful --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	-- --			
		58653 32+	12+	44		FEL103 14+	30			58654 38+	8+	46		FEL104 20+	44		FEL105 36+	36											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096473	GAIKWAD OMKAR MANOJ. NISHA GAIKWAD 2022016402167346 (12) Panvel- (124)	58651 32+	8+	40		FEC101 15+	15			58652 17F	7+	24		FEL101 19+	19		58655 25+	6+	31		FEL102 16+	16		18.00	Unsuccessful --				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 37E	8+	45		FEL103 18+	36			58654 32+	8+	40		FEL104 16+	36		FEL105 36+	36											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096474	KAKADE SOHAM UMESH PALLAVI 2023016400647847 (12) Panvel- (124)	58651 1F	8+	9		FEC101 16+	16			58652 24+	9+	33		FEL101 19+	19		58655 24+	8+	32		FEL102 19+	19		18.00	Unsuccessful --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --			
		58653 26F	12+	38		FEL103 17+	29			58654 36+	6F	42		FEL104 18+	30		FEL105 37+	37											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096475	KALE RUTURAJ PRAVIN CHITRA 2022016402169724 (12) Panvel- (124)	58651 3F	10+	13		FEC101 16+	16			58652 24+	9+	33		FEL101 18+	18		58655 25+	6+	31		FEL102 20+	20		Unsuccessful 18.00 --		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32E	9+	41		FEL103 19+	37			58654 32+	8+	40		FEL104 18+	35		FEL105 36+	36								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096476	KALEBAG APEKSHIT ARVIND LATA 2023016400647565 (12) Panvel- (124)	58651 32E	8+	40		FEC101 16+	16			58652 19F	8+	27		FEL101 18+	18		58655 24+	6+	30		FEL102 17+	17		Unsuccessful 18.00 --		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 37E	9+	46		FEL103 16+	32			58654 32+	8+	40		FEL104 20+	35		FEL105 37+	37								
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096477	GAURAV KUDAKE SONALI 2022016402167795 (12) Panvel- (124)	58651 32	10+	42		FEC101 17+	17			58652 24+	10+	34		FEL101 21+	21		58655 24+	10+	34		FEL102 19+	19		Successful 18.00 100.50		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	5.58 --
		58653 33+	15+	48		FEL103 20+	38			58654 32+	10+	42		FEL104 19+	37		FEL105 37+	37								
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096478	LANDGE DEVENDRA SUNIL BHARATI 2023016400647685 (12) Panvel- (124)	58651 4F	8+	12		FEC101 16+	16			58652 25+	7+	32		FEL101 15+	15		58655 5F	6+	11		FEL102 15+	15		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	-- --			
		58653 28F	8+	36		FEL103 11+	22			58654 32+	8E	40		FEL104 17+	28		FEL105 26+	26											
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096479	MISAL BHUSHAN PARSHURAM PRAMILA 2023016400647832 (12) Panvel- (124)	58651 13F	11+	24		FEC101 16+	16			58652 24+	6+	30		FEL101 15+	15		58655 24+	6+	30		FEL102 17+	17		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 13E	8+	41		FEL103 11+	22			58654 18F	8+	26		FEL104 17+	31		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096480	MOJAR ROHAN ABAJI SEEMA 2023016400647766 (12) Panvel- (124)	58651 19F	8+	27		FEC101 16+	16			58652 24+	9+	33		FEL101 18+	18		58655 29+	6+	35		FEL102 16+	16		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --			
		58653 27F	8+	35		FEL103 15+	31			58654 34+	8+	42		FEL104 19+	36		FEL105 41+	41											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096481	SHWET SANTOSH PANKAR SAVITA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		32+	11+	43		--	17+	17		24+	10+	34		--	14+	14		32E	6+	38		--	15+	15		18.00 --
	2023016400647816	3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	-- --
	(12) Panvel- (124)	58653				FEL103				58654				FEL104				FEL105								
		24F	10+	34		--	12+	27		32+	10E	42		--	14+	30		--	34+	34						
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096482	PATIL ARYAN DIGAMBAR SWATI	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		3F	8+	11		--	16+	16		29+	7+	36		--	15+	15		29E	6+	35		--	17+	17		18.00 --
	2023016400647735	3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --
	(12) Panvel- (124)	58653				FEL103				58654				FEL104				FEL105								
		27F	11+	38		--	16+	28		32+	8+	40		--	18+	29		--	38+	38						
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096483	/ SANIYA VILAS PATIL SONAL	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		11F	12+	23		--	18+	18		24E	12+	36		--	16+	16		26+	8+	34		--	17+	17		18.00 --
	2023016400647573	3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --
	(12) Panvel- (124)	58653				FEL103				58654				FEL104				FEL105								
		18F	12+	30		--	17+	35		32+	10+	42		--	21+	37		--	39+	39						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096484	/ PHASE SAKSHI VINOD BABITA 2022016402169701 (12) Panvel- (124)	58651 7F	8+	15		FEC101 15+	15			58652 24+	6+	30		FEL101 17+	17		58655 31+	7+	38		FEL102 14+	14		18.00 --		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	D	6.00	3.00	-- --
		58653 28F	8+	36		FEL103 15+	32			58654 32+	11+	43		FEL104 18+	32		FEL105 38+	38								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096485	RAUT ROHAN NARESH NANDITA 2022016402167861 (12) Panvel- (124)	58651 32	10+	42		FEC101 18+	18			58652 34+	11+	45		FEL101 20+	20		58655 24+	9+	33		FEL102 16+	16		18.00 98.50		
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.47 --
		58653 33+	8+	41		FEL103 19+	34			58654 35+	8+	43		FEL104 20+	39		FEL105 35+	35								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096486	SATHE KISHOR VINOD ANITA 2023016400647782 (12) Panvel- (124)	58651 1F	10E	11		FEC101 14+	14			58652 15F	6+	21		FEL101 14+	14		58655 25E	7E	32		FEL102 14+	14		18.00 --		
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --
		58653 14F	9E	23		FEL103 10+	20			58654 32+	9E	41		FEL104 15+	26		FEL105 22+	22								
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096487	SAHIL VILAS SAWANT SANGITA 2023016400647395 (12) Panvel- (124)	58651 AA	13+	13		FEC101 --	18+	18		58652 32+	7+	39		FEL101 --	17+	17		58655 35+	11+	46		FEL102 --	20+	20	18.00	--			
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	C	7.00	14.00	0.50	O	10.00	5.00	-- --			
		58653 AA	10+	10		FEL103 --	12+	24		58654 36+	10+	46		FEL104 --	21+	32		FEL105 --	38+	38									
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096488	SINALKAR TEJAS VITTHAL SUREKHA 2023016400647727 (12) Panvel- (124)	58651 32+	8+	40		FEC101 --	17+	17		58652 24+	10+	34		FEL101 --	20+	20		58655 24+	6+	30		FEL102 --	18+	18	18.00	96.00			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.33 --			
		58653 34	8+	42		FEL103 --	17+	30		58654 35+	12+	47		FEL104 --	20+	36		FEL105 --	37+	37									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096489	NEEL SUNIL SONAWANE SANDHYA 2022016402166196 (12) Panvel- (124)	58651 40	8+	48		FEC101 --	15+	15		58652 31+	9+	40		FEL101 --	17+	17		58655 24+	8+	32		FEL102 --	19+	19	18.00	106.00			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.89 --			
		58653 44+	8+	52		FEL103 --	17+	32		58654 36+	9+	45		FEL104 --	19+	37		FEL105 --	36+	36									
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096490	TIWARI SATYAM OMPRAKASH KIRAN 2023016400647503 (12) Panvel- (124)	58651 41+	16+	57	18.00	FEC101 19+	19	19	9.00	58652 AA	11+	11	11	0.00	FEL101 17+	17	17	3.50	58655 AA	6+	6	6	0.00	FEL102 18+	18	18	4.00	18.00 --	
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	B	8.00	4.00	-- --		
		58653 AA	9+	9	0.00	FEL103 16+	36	36	8.00	58654 32+	5F	37	37	0.00	FEL104 18+	36	36	8.00	FEL105 18+	35+	35	35	8.00	8.00	8.00	8.00	8.00		
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	8.00	8.00	8.00	8.00	8.00	8.00		
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096491	TIWARI UJALA RAMSUJAN SHARMILA 2023016400647476 (12) Panvel- (124)	58651 32+	15+	47	15.00	FEC101 18+	18	18	8.00	58652 25+	14+	39	39	12.00	FEL101 17+	17	17	3.50	58655 30+	7+	37	37	10.00	FEL102 19+	19	19	4.50	18.00 114.00	
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	10.00	0.50	A	9.00	4.50	6.33 --		
		58653 35+	17+	52	18.00	FEL103 20+	38	38	9.00	58654 36	10+	46	46	15.00	FEL104 20+	38	38	9.00	FEL105 41+	41	41	10.00	10.00	10.00	10.00	10.00	10.00		
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	10.00	10.00	10.00	10.00	10.00	10.00		
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096492	YADAV SAHIL SHYAMBAHADUR GEETA 2022016401076506 (12) Panvel- (124)	58651 40E	8+	48	15.00	FEC101 15+	15	15	7.00	58652 16F	8+	24	24	12.00	FEL101 17+	17	17	3.50	58655 24+	7+	31	31	8.00	FEL102 22+	22	22	5.00	18.00 --	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	8.00	0.50	O	10.00	5.00	-- --		
		58653 54+	8+	62	21.00	FEL103 14+	29	29	6.00	58654 32+	9+	41	41	12.00	FEL104 17+	39	39	9.00	FEL105 24+	24	24	5.00	5.00	5.00	5.00	5.00	5.00		
		3.00	C	7.00	21.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	E	5.00	5.00	5.00	5.00	5.00	5.00	5.00	5.00		
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096493	ALDAR TUKARAM LAXMAN KAVITA 2022016402139563 (12) Panvel- (385)	58651 33+	9+	42		FEC101 17+	17			58652 25	7+	32		FEL101 20+	20		58655 24+	8+	32		FEL102 18+	18		18.00	94.00	Successful			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.22	--		
		58653 32+	8+	40		FEL103 17+	32			58654 39+	8+	47		FEL104 19+	31		FEL105 38+	38											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096494	BABAR JAY KIRAN NEETA 2023016401231771 (12) Panvel- (385)	58651 34+	9+	43		FEC101 14+	14			58652 24+	6+	30		FEL101 13+	13		58655 25+	8+	33		FEL102 16+	16		18.00	--	Unsuccessful			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 19F	11+	30		FEL103 10+	26			58654 37+	9+	46		FEL104 20+	40		FEL105 49+	49											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096495	BHANDARKAR RAHUL RAJESH BHARTI 2023016401246654 (12) Panvel- (385)	58651 32+	8+	40		FEC101 15+	15			58652 24+	8+	32		FEL101 13+	13		58655 30+	7+	37		FEL102 13+	13		18.00	--	Unsuccessful			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	-- --			
		58653 44E	10+	54		FEL103 11+	22			58654 10F	13+	23		FEL104 20+	39		FEL105 42+	42											
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096496	/ BHAT MRUNMAYEE SACHIN SUPRIYA 2023016401211534 (12) Panvel- (385)	58651 35+	8+	43		FEC101 14+	14			58652 24+	9+	33		FEL101 16+	16		58655 28+	8+	36		FEL102 18+	18		Successful 18.00 98.50			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00	5.47 --	
		58653 44	9+	53		FEL103 14+	28			58654 32+	8+	40		FEL104 20+	40		FEL105 38+	38									
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096497	BHATT PRATIK YAJUVENDRA KRISHNA 2023016401223117 (12) Panvel- (385)	58651 AA	8+	8		FEC101 10E	10			58652 24E	6+	30		FEL101 AA	AA		58655 24E	6+	30		FEL102 14+	14		Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	F	0.00	AB	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --	
		58653 32E	8E	40		FEL103 10E	20			58654 10F	8E	18		FEL104 13+	13		FEL105 23+	23									
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	F	0.00	0.00	1.00	E	5.00	5.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096498	/ BHOIR KUNIKA VILAS VISHAKHA 2023016401208265 (12) Panvel- (385)	58651 11F	8+	19		FEC101 16+	16			58652 29+	8+	37		FEL101 15+	15		58655 34+	6+	40		FEL102 21+	21		Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --	
		58653 32+	8+	40		FEL103 14+	24			58654 33+	8+	41		FEL104 20+	39		FEL105 41+	41									
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096499	BORSE SAHIL RAJENDRA SUNITA 2023016401211341 (12) Panvel - (385)	58651 12F	9+	21		FEC101 17+	17			58652 26+	9+	35		FEL101 17+	17		58655 26E	9+	35		FEL102 16+	16		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --			
		58653 32+	10+	42		FEL103 14+	28			58654 32E	13+	45		FEL104 20+	39		FEL105 39+	39											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096500	CHAMANKAR SATEJ SANJEEV SNEHA 2023016401243516 (12) Panvel - (385)	58651 14F	10+	24		FEC101 16+	16			58652 24+	9+	33		FEL101 21+	21		58655 29+	6+	35		FEL102 16+	16		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --			
		58653 14F	8+	22		FEL103 17+	27			58654 33E	12+	45		FEL104 20+	40		FEL105 41+	41											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096501	GADEKAR SIDDHESH SANJAY SHEETAL 2023016401218607 (12) Panvel - (385)	58651 24F	11+	35		FEC101 15+	15			58652 26+	13+	39		FEL101 22+	22		58655 24+	10+	34		FEL102 21+	21		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 32+	10+	42		FEL103 15+	29			58654 48+	41+	52		FEL104 20+	40		FEL105 45+	45											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096502	/ GHARGE PAYAL KAILAS APARNA 2023016401212487 (12) Panvel - (385)	58651 32+	8+	40		FEC101 12+	12			58652 24+	10+	34		FEL101 15+	15		58655 38+	7+	45		FEL102 14+	14		18.00	94.50	Successful			
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	C	7.00	14.00	0.50	D	6.00	3.00	5.25	--		
		58653 32+	10+	42		FEL103 13+	24			58654 32	12+	44		FEL104 19+	37		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096503	MAGAR ABHISHEK SANTOSH ASHA 2022016402143947 (12) Panvel - (385)	58651 33+	10+	43		FEC101 11+	11			58652 24+	9+	33		FEL101 12+	12		58655 24+	6+	30		FEL102 10+	10		18.00	--	Unsuccessful			
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	--	--		
		58653 32+	9+	41		FEL103 10+	22			58654 21F	12+	33		FEL104 10+	23		FEL105 25+	25											
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	E	5.00	5.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096504	MALESHAPPA MANOJ SADASHIV ANUSAYA 2023016401223357 (12) Panvel - (385)	58651 AA	8+	8		FEC101 10E	10			58652 8F	6+	14		FEL101 AA	AA		58655 3F	6+	9		FEL102 10E	10		18.00	--	Unsuccessful			
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	F	0.00	AB	2.00	F	0.00	0.00	0.50	P	4.00	2.00	--	--		
		58653 17F	8E	25		FEL103 10E	20			58654 3F	8E	11		FEL104 13+	13		FEL105 22+	22											
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	F	0.00	0.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096505	MHATRE NIHAL KAILAS NAMRATA 2023016401212514 (12) Panvel - (385)	58651 32+	8+	40		FEC101 14+	14		58652 24+	6+	30		FEL101 14+	14		58655 24+	9+	33		FEL102 17+	17		18.00	96.50			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.36	--
		58653 48	9+	57		FEL103 14+	26		58654 32+	15+	47		FEL104 20+	40		FEL105 33+	33										
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096506	MULANI IZHAN RUHI 2022016402143731 (12) Panvel - (385)	58651 32+	8+	40		FEC101 17+	17		58652 24+	7+	31		FEL101 20+	20		58655 28+	8+	36		FEL102 16+	16		18.00	--			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --	
		58653 32+	8+	40		FEL103 15+	29		58654 17F	8+	25		FEL104 19+	32		FEL105 31+	31										
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096507	/ NIRBHAVANE SHRAVANI RAVINDRA - KAVITA 2023016401231813 (12) Panvel - (385)	58651 26F	11+	37		FEC101 16+	16		58652 24+	12+	36		FEL101 18+	18		58655 25+	12+	37		FEL102 23+	23		18.00	--			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --	
		58653 32+	12+	44		FEL103 16+	28		58654 32+	13+	45		FEL104 23+	41		FEL105 36+	36										
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096508	/ PATIL SAKSHI PRATAPRAO LATA 2023016401211801 (12) Panvel- (385)	58651 47E	8+	55		FEC101 16+	16			58652 30+	12+	42		FEL101 23+	23		58655 25+	13+	38		FEL102 21+	21		18.00	--				
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 32+	10+	42		FEL103 20+	33			58654 23F	8+	31		FEL104 22+	42		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096509	SAHU VINAYAKKUMAR SATYENDRAPRASAD - PRATIBHA 2023016401246712 (12) Panvel- (385)	58651 32+	10+	42		FEC101 16+	16			58652 24+	12+	36		FEL101 18+	18		58655 AA	9+	9		FEL102 17+	17		18.00	--				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	-- --			
		58653 33E	8+	41		FEL103 14+	29			58654 32+	13+	45		FEL104 22+	42		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096510	SOHAM RAHUL SHIRSAT SUNITA 2023016401214312 (12) Panvel- (385)	58651 32+	9+	41		FEC101 17+	17			58652 46	6+	52		FEL101 21+	21		58655 24+	7+	31		FEL102 20+	20		18.00	106.00				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.89 --			
		58653 36+	12+	48		FEL103 18+	33			58654 36+	13+	49		FEL104 23+	41		FEL105 35+	35											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096511	TAMBADKAR ATHARVA PRAMOD MANISHA 2023016401229002 (12) Panvel- (385)	58651 22F	9+	31		FEC101 16+	16			58652 24E	11+	35		FEL101 21+	21		58655 24+	8+	32		FEL102 19+	19		18.00 --		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 17F	8+	25		FEL103 12+	26			58654 23F	9E	32		FEL104 19+	38		FEL105 19+									
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096512	TIKONE CHAITANYA UTTAM HEMANGI 2023016401228993 (12) Panvel- (385)	58651 40+	13+	53		FEC101 18+	18			58652 34	12+	46		FEL101 21+	21		58655 24+	7+	31		FEL102 15+	15		18.00 110.50		
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	6.14 --
		58653 32+	8+	40		FEL103 19+	33			58654 34+	13+	47		FEL104 22+	42		FEL105 43+	43								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096513	VALANJU SHUBHAM DEEPAK PRACHI 2023016401241316 (12) Panvel- (385)	58651 39+	12+	51		FEC101 12+	12			58652 24	13+	37		FEL101 20+	20		58655 24+	6+	30		FEL102 14+	14		18.00 97.00		
		3.00	D	6.00	18.00	1.00	E	5.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	5.39 --
		58653 35+	8+	43		FEL103 11+	30			58654 32+	10+	42		FEL104 15+	35		FEL105 38+	38								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096514	BANDA SWAYAM PRAVIN DARSHANA 2023016401228857 (12) Panvel- (692)	58651 AA	8+	8		FEC101 --	20+	20		58652 AA	7+	7		FEL101 --	18+	18		58655 24E	8+	32		FEL102 --	20+	20	18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 AA	14+	14		FEL103 --	13+	30		58654 AA	9+	9		FEL104 --	19+	37		FEL105 --	36+	36						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096515	GHARAT HARSH BABURAO REKHA 2023016401241606 (12) Panvel- (692)	58651 32+	9+	41		FEC101 --	15+	15		58652 1F	6+	7		FEL101 --	18+	18		58655 24+	6+	30		FEL102 --	20+	20	18.00 --	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 AA	11+	11		FEL103 --	20+	40		58654 32+	8+	40		FEL104 --	22+	41		FEL105 --	41+	41						
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096516	HATAGALE PREM DEEPAK RAMA 2023016401247715 (12) Panvel- (692)	58651 33+	12+	45		FEC101 --	19+	19		58652 24+	6+	30		FEL101 --	16+	16		58655 27+	7+	34		FEL102 --	20+	20	18.00 --	
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 32+	9+	41		FEL103 --	16+	33		58654 6F	14+	20		FEL104 --	16+	32		FEL105 --	46+	46						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096517	YASH PRAVIN KADAM REKHA 2023016401243281 (12) Panvel- (692)	58651 32+	8+	40		FEC101 18+	18		58652 24	6+	30		FEL101 19+	19		58655 31+	6+	37		FEL102 20+	20				Successful 18.00 96.50 5.36 --	
		3.00 P	4.00	12.00	1.00 B	8.00	8.00	2.00 P	4.00	8.00	0.50 A	9.00	4.50	2.00 E	5.00	10.00	0.50 O	10.00	5.00							
		58653 32+	12+	44		FEL103 14+	30		58654 32+	9+	41		FEL104 23+	43		FEL105 36+	36									
		3.00 P	4.00	12.00	1.00 C	7.00	7.00	3.00 P	4.00	12.00	1.00 O	10.00	10.00	1.00 B	8.00	8.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096518	/ KADU KOMAL JAYNATH SHAARDA 2023016401237172 (12) Panvel- (692)	58651 32E	8+	40		FEC101 18+	18		58652 29+	6+	35		FEL101 19+	19		58655 25+	7+	32		FEL102 20+	20			Unsuccessful 18.00 -- -- --		
		3.00 P	4.00	12.00	1.00 B	8.00	8.00	2.00 E	5.00	10.00	0.50 A	9.00	4.50	2.00 P	4.00	8.00	0.50 O	10.00	5.00							
		58653 17F	8+	25		FEL103 13+	30		58654 32+	12+	44		FEL104 22+	42		FEL105 40+	40									
		3.00 F	0.00	0.00	1.00 C	7.00	7.00	3.00 P	4.00	12.00	1.00 O	10.00	10.00	1.00 O	10.00	10.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096519	KASHID AYUSH GANESH PRIYA 2023016401237125 (12) Panvel- (692)	58651 32	10+	42		FEC101 19+	19		58652 24+	6+	30		FEL101 17+	17		58655 24+	7+	31		FEL102 20+	20			Successful 18.00 98.50 5.47 --		
		3.00 P	4.00	12.00	1.00 A	9.00	9.00	2.00 P	4.00	8.00	0.50 C	7.00	3.50	2.00 P	4.00	8.00	0.50 O	10.00	5.00							
		58653 32+	13+	45		FEL103 17+	35		58654 32+	8+	40		FEL104 23+	43		FEL105 36+	36									
		3.00 E	5.00	15.00	1.00 B	8.00	8.00	3.00 P	4.00	12.00	1.00 O	10.00	10.00	1.00 B	8.00	8.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096520	HARSHAD MILIND KOLAMBE PUJA 2023016401239341 (12) Panvel- (692)	58651 32+ 3.00 P	8+ 4.00	40 12.00	4.00	FEC101 18+ 1.00 B	18 8.00	18 8.00	8.00	58652 30+ 2.00 E	6+ 5.00	36 10.00	10.00	FEL101 19+ 0.50 A	19 9.00	19 4.50	4.50	58655 24+ 2.00 P	9+ 4.00	33 8.00	8.00	FEL102 21+ 0.50 O	21 10.00	21 5.00	5.00	Successful 18.00 112.50 6.25 --			
		58653 33+ 3.00 D	17+ 6.00	50 18.00	18.00	FEL103 17+ 1.00 B	35 8.00	35 8.00	8.00	58654 46 3.00 C	20+ 7.00	66 21.00	21.00	FEL104 24+ 1.00 O	46 10.00	46 10.00	10.00	FEL105 35+ 1.00 B	35 8.00	35 8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096521	LOKHANDE VAISHNAVI ANIL VANDANA 2022016402331032 (12) Panvel- (692)	58651 32+ 3.00 P	8+ 4.00	40 12.00	4.00	FEC101 18+ 1.00 B	18 8.00	18 8.00	8.00	58652 5F 2.00 F	9+ 0.00	14 0.00	0.00	FEL101 15+ 0.50 C	15 7.00	15 3.50	3.50	58655 29E 2.00 E	6+ 5.00	35 10.00	10.00	FEL102 18+ 0.50 B	18 8.00	18 4.00	4.00	Unsuccessful 18.00 -- -- --			
		58653 38+ 3.00 E	8+ 5.00	46 15.00	15.00	FEL103 17+ 1.00 C	34 7.00	34 7.00	7.00	58654 2F 3.00 F	8+ 0.00	10 0.00	0.00	FEL104 15+ 1.00 C	30 7.00	30 7.00	7.00	FEL105 42+ 1.00 O	42 10.00	42 10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096522	MALUSKAR SARANG KAILAS NIRMALA 2023016401245875 (12) Panvel- (692)	58651 32+ 3.00 E	14+ 5.00	46 15.00	15.00	FEC101 21+ 1.00 O	21 10.00	21 10.00	10.00	58652 13F 2.00 F	8+ 0.00	21 0.00	0.00	FEL101 20+ 0.50 O	20 10.00	20 5.00	5.00	58655 27+ 2.00 E	7+ 5.00	34 10.00	10.00	FEL102 20+ 0.50 O	20 10.00	20 5.00	5.00	Unsuccessful 18.00 -- -- --			
		58653 20F 3.00 F	11+ 0.00	31 0.00	0.00	FEL103 17+ 1.00 B	37 8.00	37 8.00	8.00	58654 33+ 3.00 P	8+ 4.00	41 12.00	12.00	FEL104 23+ 1.00 O	44 10.00	44 10.00	10.00	FEL105 43+ 1.00 O	43 10.00	43 10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096523	MAVLE SAMARTH RAJESH NAYANA 2022016402331202 (12) Panvel- (692)	58651 35	9+	44		FEC101 --	20+	20		58652 24+	8+	32		FEL101 --	15+	15		58655 24+	7+	31		FEL102 --	18+	18	Successful 18.00 99.50				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.53 --			
		58653 33+	8+	41		FEL103 --	17+	33		58654 43+	8+	51		FEL104 --	17+	31		FEL105 --	45+	45									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096524	/ NAVALE SAMRUDHI MANOJ MANASI 2023016401248692 (12) Panvel- (692)	58651 32+	8+	40		FEC101 --	19+	19		58652 24+	10+	34		FEL101 --	20+	20		58655 28+	11+	39		FEL102 --	22+	22	Successful 18.00 116.00				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.44 --			
		58653 53	14+	67		FEL103 --	17+	33		58654 32+	16+	48		FEL104 --	23+	45		FEL105 --	46+	46									
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096525	PARKHE RUTIK MANIK SUNITA 2023016401230237 (12) Panvel- (692)	58651 2F	9+	11		FEC101 --	15+	15		58652 12F	6+	18		FEL101 --	17+	17		58655 29+	6+	35		FEL102 --	20+	20	Unsuccessful 18.00 --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 8F	8+	16		FEL103 --	14+	32		58654 32E	12+	44		FEL104 --	16+	32		FEL105 --	36+	36									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096526	/ PATEL DISHA BADHU NILIMA 2022016402331016 (12) Panvel- (692)	58651 32	9+	41		FEC101 ---	20+	20		58652 24+	6+	30		FEL101 ---	19+	19		58655 24+	10+	34		FEL102 ---	20+	20	Successful 18.00 97.50				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.42 --			
		58653 32+	8+	40		FEL103 ---	17+	33		58654 32+	8+	40		FEL104 ---	18+	34		FEL105 ---	45+	45									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096527	POOSA DHIRAJ RAMULU RAMANA 2022016402331233 (12) Panvel- (692)	58651 32+	9+	41		FEC101 ---	21+	21		58652 24+	7+	31		FEL101 ---	19+	19		58655 24+	9+	33		FEL102 ---	21+	21	Unsuccessful 18.00 --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 27F	9+	36		FEL103 ---	18+	37		58654 20F	10+	30		FEL104 ---	17+	37		FEL105 ---	43+	43									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096528	SHINDE SARTHAK NIVRUTI RANI 2023016401249617 (12) Panvel- (692)	58651 8F	10E	18		FEC101 ---	15+	15		58652 36+	7+	43		FEL101 ---	18+	18		58655 5F	6+	11		FEL102 ---	20+	20	Unsuccessful 18.00 --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		58653 7F	8+	15		FEL103 ---	11+	30		58654 16F	10+	26		FEL104 ---	22+	42		FEL105 ---	43+	43									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096529	SUTAR KARTIK EKNATH GEETA 2023016401230276 (12) Panvel- (692)	58651 32+	13+	45		FEC101 --	21+	21		58652 24+	9+	33		FEL101 --	20+	20		58655 28+	10+	38		FEL102 --	21+	21	18.00	--			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	--	--		
		58653 35E	8+	43		FEL103 --	15+	31		58654 24F	13+	37		FEL104 --	23+	45		FEL105 --	41+	41									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096530	TANDEL YASH PANDHARINATH PRITI 2023016401246816 (12) Panvel- (692)	58651 35+	8+	43		FEC101 --	15+	15		58652 8F	7+	15		FEL101 --	19+	19		58655 25+	8+	33		FEL102 --	20+	20	18.00	--			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 38+	8+	46		FEL103 --	13+	31		58654 36+	12+	48		FEL104 --	23+	45		FEL105 --	44+	44									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096531	CHETAN VASANT VALVI MALTIBAI 2023016401249602 (12) Panvel- (692)	58651 AA	8+	8		FEC101 --	15+	15		58652 24+	8+	32		FEL101 --	20+	20		58655 24+	6+	30		FEL102 --	20+	20	18.00	--			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 32+	AA	32		FEL103 --	14+	33		58654 AA	14+	14		FEL104 --	23+	44		FEL105 --	44+	44									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096532	VERMA AMAR KUMAR KRISHNA KUMAR - RAMA DEVI 2022016402327227 (12) Panvel- (692)	58651 32	8+	40		FEC101 --	20+	20		58652 24+	7+	31		FEL101 --	19+	19		58655 24+	10+	34		FEL102 --	21+	21	18.00	97.50			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.42	--		
		58653 36	8+	44		FEL103 --	17+	33		58654 32+	8+	40		FEL104 --	18+	34		FEL105 --	45+	45									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096533	SAHIL SUBHASH VIRKAR SINDHU 2023016401237036 (12) Panvel- (692)	58651 18F	8+	26		FEC101 --	15+	15		58652 27+	7+	34		FEL101 --	19+	19		58655 24+	8+	32		FEL102 --	20+	20	18.00	--			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 18F	12+	20		FEL103 --	15+	35		58654 18F	12+	20		FEL104 --	23+	45		FEL105 --	45+	45									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096534	BHANGE SUJAL BALAJI SUJATA 2023016402427044 (12) Panvel- (822)	58651 1F	8+	9		FEC101 --	15+	15		58652 24+	6+	30		FEL101 --	16+	16		58655 24+	7+	31		FEL102 --	16+	16	18.00	--			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--		
		58653 19F	8+	27		FEL103 --	21+	38		58654 32+	8+	40		FEL104 --	11+	21		FEL105 --	40+	40									
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	P	4.00	4.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096535	BHONKAR SWASTIK NITIN NANDINI 2023016402426385 (12) Panvel- (822)	58651 20F	15+	35		FEC101 ---	20+	20		58652 13F	8+	21		FEL101 ---	20+	20		58655 24+	10+	34		FEL102 ---	20+	20	Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 17F	10+	27		FEL103 ---	19+	35		58654 8F	11+	19		FEL104 ---	18+	35		FEL105 ---	42+	42						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096536	CHAUDHARI ROHIT KRISHNA REKHA 2023016402427083 (12) Panvel- (822)	58651 19F	16+	35		FEC101 ---	19+	19		58652 24E	7+	31		FEL101 ---	20+	20		58655 25E	9+	34		FEL102 ---	20+	20	Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 32E	11+	43		FEL103 ---	19+	34		58654 41+	15+	56		FEL104 ---	18+	36		FEL105 ---	42+	42						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096537	DHEMBARE OMKAR KAILAS VIDYA 2023016402426393 (12) Panvel- (822)	58651 32+	8+	40		FEC101 ---	15+	15		58652 24+	7+	31		FEL101 ---	21+	21		58655 26+	8+	34		FEL102 ---	21+	21	Successful 18.00 99.00	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.50 --
		58653 40	8+	48		FEL103 ---	17+	33		58654 32+	9+	41		FEL104 ---	19+	41		FEL105 ---	36+	36						
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096538	GAIKWAD AKSHAY JITENDRA RESHMA 2022016402310361 (12) Panvel- (822)	58651 32+	8+	40		FEC101 14+	14			58652 15F	6+	21		FEL101 19+	19		58655 24+	11+	35		FEL102 22+	22	18.00 --			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 8F	8+	16		FEL103 14+				58654 9F	8+	17		FEL104 15+	29		FEL105 41+	41								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096539	GARANDE SURAJ TANAJI KAMABAI 2023016402421523 (12) Panvel- (822)	58651 33+	9+	42		FEC101 15+	15			58652 24+	10+	34		FEL101 18+	18		58655 24E	8+	32		FEL102 18+	18	18.00 --			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 21F	8+	29		FEL103 18+				58654 32+	10+	42		FEL104 19+	35		FEL105 40+	40								
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096540	GHARAT JEEVAN LAXMAN ASHA 2023016402421697 (12) Panvel- (822)	58651 41	8+	49		FEC101 19+	19			58652 25+	7+	32		FEL101 19+	19		58655 26+	10+	36		FEL102 19+	19	18.00 102.00			
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	5.67 --
		58653 35	8+	43		FEL103 17+	34			58654 32+	14+	46		FEL104 19+	34		FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096541	GHARAT OM AMAR PRAMILA 2023016402378661 (12) Panvel- (822)	58651 0F	12+	12		FEC101 --	17+	17		58652 24+	7+	31		FEL101 --	20+	20		58655 24+	9+	33		FEL102 --	20+	20		Unsuccessful 18.00 --
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 3F	8+	11		FEL103 --	19+	33		58654 60+	10+	70		FEL104 --	18+	36		FEL105 --	34+	34						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	B	8.00	24.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096542	GUGHE ADITYA VISHWAS USHA 2023016402389411 (12) Panvel- (822)	58651 10F	8+	18		FEC101 --	10+	10		58652 24+	7+	31		FEL101 --	16+	16		58655 0F	8+	8		FEL102 --	16+	16		Unsuccessful 18.00 --
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	-- --
		58653 7F	10+	17		FEL103 --	10+	21		58654 42+	8+	50		FEL104 --	11+	22		FEL105 --	25+	25						
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	D	6.00	18.00	1.00	P	4.00	4.00	1.00	D	6.00	6.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096543	GUPTA ANIKET SHYAMLAL RAJKUMARI 2023016402421442 (12) Panvel- (822)	58651 32+	8+	40		FEC101 --	17+	17		58652 26	11+	37		FEL101 --	22+	22		58655 24+	11+	35		FEL102 --	22+	22		Successful 18.00 102.00
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.67 --
		58653 32+	8+	40		FEL103 --	20+	38		58654 36+	9+	45		FEL104 --	21+	36		FEL105 --	39+	39						
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096544	JADHAV AYUSH DIPAK LATA 2023016402421202 (12) Panvel- (822)	58651 34+	14+	48	1.00	FEC101 19+	19	34	8+	42	1.00	FEL101 19+	19	24+	7+	31	1.00	FEL102 19+	19	18.00	103.00	5.72	--			
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	
		58653 32+	8+	40	1.00	FEL103 19+	37	33+	9+	42	1.00	FEL104 17+	36	1.00	FEL105 41+	41	1.00	O	10.00	10.00						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096545	JADHAV DEEPAK SHARAD SHARADA 2023016402427141 (12) Panvel- (822)	58651 32+	8+	40	1.00	FEC101 16+	16	28	9+	37	1.00	FEL101 21+	21	24+	10+	34	1.00	FEL102 21+	21	18.00	106.00	5.89	--			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	
		58653 32+	8+	40	1.00	FEL103 20+	38	38+	12+	50	1.00	FEL104 20+	37	1.00	FEL105 43+	43	1.00	O	10.00	10.00						
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096546	JAMADAR FARDIN AMIR SAMIHA 2023016402426806 (12) Panvel- (822)	58651 39	8+	47	1.00	FEC101 19+	19	25+	7+	32	1.00	FEL101 24+	24	29+	14+	43	1.00	FEL102 24+	24	18.00	112.00	6.22	--			
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	
		58653 32+	9+	41	1.00	FEL103 19+	37	43+	13+	56	1.00	FEL104 22+	44	1.00	FEL105 43+	43	1.00	O	10.00	10.00						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096547	/ JAWALE ARYA BHARAT KUNDA 2023016402388195 (12) Panvel- (822)	58651 32+	8+	40		FEC101 15+	15		58652 30+	6+	36		FEL101 19+	19	58655 24+	8+	32		FEL102 19+	19	Successful 18.00	91.00					
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.06	--
		58653 32	8+	40		FEL103 19+	35		58654 32+	8+	40		FEL104 12+	23	FEL105 35+	35											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	E	5.00	5.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096548	KADAKE RITESH RAJENDRA RANJANA 2023016402389434 (12) Panvel- (822)	58651 32+	8+	40		FEC101 18+	18		58652 18F	9+	27		FEL101 18+	18	58655 27+	8+	35		FEL102 18+	18	Unsuccessful 18.00	--					
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	--	--
		58653 42E	8+	50		FEL103 18+	37		58654 32+	12+	44		FEL104 19+	38	FEL105 41+	41											
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096549	KAMBLE VINIT VITTHAL VINITA 2022016402311035 (12) Panvel- (822)	58651 38+	8+	46		FEC101 11+	11		58652 16F	7+	23		FEL101 14+	14	58655 24+	7+	31		FEL102 18+	18	Unsuccessful 18.00	--					
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	--	--
		58653 32+	8+	40		FEL103 19+	35		58654 32+	15+	47		FEL104 19+	38	FEL105 37+	37											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 @C:sum of credit points GPA: @CG/@C  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096550	/ KAZI HUSNA ASIF AMRIN 2023016402389473 (12) Panvel- (822)	58651 32+	10+	42		FEC101 --	20+	20		58652 24+	6+	30		FEL101 --	15+	15		58655 24+	7+	31		FEL102 --	15+	15	Successful 18.00 94.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.22 --
		58653 41	8+	49		FEL103 --	18+	37		58654 37+	8+	45		FEL104 --	16+	29		FEL105 --	23+	23						
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	E	5.00	5.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096551	KHARVE ADITYA ARUN RUKMINI 2023016402378703 (12) Panvel- (822)	58651 11F	8+	19		FEC101 --	18+	18		58652 AA	7+	7		FEL101 --	18+	18		58655 24+	8+	32		FEL102 --	18+	18	Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 AA	8+	8		FEL103 --	12+	26		58654 AA	8+	8		FEL104 --	12+	23		FEL105 --	33+	33						
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096552	MALI SAI SUNIL ASHWINI 2023016402401341 (12) Panvel- (822)	58651 34E	11+	45		FEC101 --	19+	19		58652 24+	12+	36		FEL101 --	23+	23		58655 27+	12+	39		FEL102 --	23+	23	Unsuccessful 18.00 --	
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 26F	8+	34		FEL103 --	18+	33		58654 32+	10+	42		FEL104 --	19+	37		FEL105 --	42+	42						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096553	MANDAVALE VEDANT RAMDAS SUSHMA 2023016402388485 (12) Panvel- (822)	58651 32+	12+	44		FEC101 17+	17			58652 24	6+	30		FEL101 20+	20		58655 28+	9+	37		FEL102 20+	20		18.00	93.00				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.17	--		
		58653 32+	10+	42		FEL103 15+	29			58654 32+	10+	42		FEL104 17+	34		FEL105 39+	39											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096554	/ MHATRE MALLIKA SANTOSH MINA 2023016402378676 (12) Panvel- (822)	58651 9F	10+	19		FEC101 20+	20			58652 24E	7+	31		FEL101 21+	21		58655 24+	10+	34		FEL102 21+	21		18.00	--				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--		
		58653 33+	8+	41		FEL103 23+	41			58654 36+	16+	52		FEL104 20+	38		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096555	SURJEET MITLAW MEENA KUMARI 2022016402308892 (12) Panvel- (822)	58651 34+	19+	53		FEC101 23+	23			58652 27+	11+	38		FEL101 22+	22		58655 28+	15+	43		FEL102 20+	20		18.00	114.00				
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.33	--		
		58653 33	8+	41		FEL103 17+	31			58654 32+	15+	47		FEL104 18+	37		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096556	MOHITE ALOK SHASHIKANT PRATIJKSHA 2023016402431115 (12) Panvel- (822)	58651 32+	8+	40		FEC101 18+	18			58652 16F	8+	24		FEL101 18+	18		58655 35+	11+	46		FEL102 18+	18			18.00 --	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	C	7.00	14.00	0.50	B	8.00	4.00	-- --
		58653 24F	8+	32		FEL103 17+	38			58654 15F	8+	23		FEL104 15+	29		FEL105 42+	42								
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096557	MOHITE TANMAY RAMESH DEEPA 2023016402421376 (12) Panvel- (822)	58651 32+	19+	51		FEC101 24+	24			58652 24+	12+	36		FEL101 23+	23		58655 26+	15+	41		FEL102 23+	23			18.00 122.00	
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.78 --
		58653 48	9+	57		FEL103 22+	39			58654 42+	11+	53		FEL104 15+	31		FEL105 40+	40								
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096558	/ MOKAL NIKITA NILESH SUCHITA 2023016402388164 (12) Panvel- (822)	58651 AA	8+	8		FEC101 10+	10			58652 AA	6+	6		FEL101 22+	22		58655 AA	11+	11		FEL102 22+	22			18.00 --	
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 AA	8+	8		FEL103 15+	30			58654 AA	8+	8		FEL104 12+	24		FEL105 26+	26								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	E	5.00	5.00	1.00	D	6.00	6.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096559	PATIL AAYUSH BALARAM GEETA 2023016402389144 (12) Panvel- (822)	58651 AA	8+	8		FEC101 --	19+	19		58652 13F	6+	19		FEL101 --	15+	15		58655 AA	7+	7		FEL102 --	15+	15	Unsuccessful 18.00 --				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	-- --			
		58653 23F	8+	31		FEL103 --	17+	33		58654 AA	8+	8		FEL104 --	18+	36		FEL105 --	39+	39									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096560	/ PATIL NIKI NITIN SMITA 2023016402403757 (12) Panvel- (822)	58651 32+	11+	43		FEC101 --	20+	20		58652 24+	12+	36		FEL101 --	24+	24		58655 27+	14+	41		FEL102 --	24+	24	Unsuccessful 18.00 --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 19F	8+	27		FEL103 --	20+	34		58654 32+	8+	40		FEL104 --	20+	36		FEL105 --	38+	38									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096561	PATIL PRATHAMESH VISHAL VISHAKHA 2023016402389295 (12) Panvel- (822)	58651 5F	8+	13		FEC101 --	19+	19		58652 24+	7+	31		FEL101 --	18+	18		58655 24+	6+	30		FEL102 --	18+	18	Unsuccessful 18.00 --				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 7F	8+	15		FEL103 --	19+	35		58654 32+	8+	40		FEL104 --	17+	33		FEL105 --	37+	37									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096562	/ PATIL PRIYAL HEMANT RAJANI 2023016402402232 (12) Panvel- (822)	58651 38+	8+	46		FEC101 15+	15			58652 25	7+	32		FEL101 18+	18		58655 24+	7+	31		FEL102 18+	18			Successful 18.00 91.00 5.06 --	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	
		58653 36+	8+	44		FEL103 12+	23			58654 32+	8+	40		FEL104 17+	35		FEL105 35+	35								
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096563	/ PATIL SAEV VIVEK PUNAM 2023016402421345 (12) Panvel- (822)	58651 41+	11+	52		FEC101 20+	20			58652 26+	7+	33		FEL101 22+	22		58655 31+	11+	42		FEL102 22+	22			Unsuccessful 18.00 -- -- --	
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	
		58653 27F	10+	37		FEL103 21+	41			58654 32+	12+	44		FEL104 22+	42		FEL105 40+	40								
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096564	/ PATIL TANISHKA SATISH ASHWINI 2022016402308903 (12) Panvel- (822)	58651 AA	14+	14		FEC101 20+	20			58652 AA	13+	13		FEL101 23+	23		58655 27+	12+	39		FEL102 21+	21			ABS 18.00 -- -- --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	
		58653 AA	8+	8		FEL103 19+	31			58654 32+	15+	47		FEL104 18+	36		FEL105 39+	39								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096565	PAWAR NIRAJ KIRAN SWATI 2023016402426965 (12) Panvel- (822)	58651 5F	8+	13		FEC101 17+	17			58652 26+	7+	33		FEL101 23+	23		58655 25+	14+	39		FEL102 23+	23			18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 25F	8+	33		FEL103 20+	34			58654 5F	8+	13		FEL104 18+	35		FEL105 45+	45								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096566	PINGALE SUDHANSHU SUJIT HARSHALA 2022016402309245 (12) Panvel- (822)	58651 36	12+	48		FEC101 16+	16			58652 24+	9+	33		FEL101 18+	18		58655 24+	9+	33		FEL102 20+	20			18.00 105.00	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.83 --
		58653 33+	8+	41		FEL103 23+	39			58654 40+	11+	51		FEL104 21+	43		FEL105 38+	38								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096567	SAKPAL SHREYAS SUNIL SNEHAL 2023016402427036 (12) Panvel- (822)	58651 32+	8+	40		FEC101 18+	18			58652 24+	10+	34		FEL101 22+	22		58655 24+	12+	36		FEL102 22+	22			18.00 100.00	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.56 --
		58653 32	8+	40		FEL103 19+	37			58654 32+	12+	44		FEL104 22+	42		FEL105 37+	37								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096568	SANADI ROHAAN ZAKIR SAIRA 2023016402403363 (12) Panvel- (822)	58651 3F	10+	13		FEC101 ---	20+	20		58652 24+	7+	31		FEL101 ---	19+	19		58655 24+	8+	32		FEL102 ---	19+	19	18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 33+	12+	45		FEL103 ---	19+	38		58654 32+	8+	40		FEL104 ---	21+	39		FEL105 ---	34+	34						
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096569	/ SAWANT SHRAWANI SURESH SUNITA 2023016402388802 (12) Panvel- (822)	58651 32+	13+	45		FEC101 ---	21+	21		58652 24+	12+	36		FEL101 ---	22+	22		58655 33+	12+	45		FEL102 ---	22+	22	18.00 121.00	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	6.72 --
		58653 41	8+	49		FEL103 ---	24+	43		58654 48+	10+	58		FEL104 ---	18+	38		FEL105 ---	40+	40						
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096570	SHASTRI NAMAN KISHOR PALLAVI 2022016402310701 (12) Panvel- (822)	58651 33+	12+	45		FEC101 ---	20+	20		58652 24+	8+	32		FEL101 ---	20+	20		58655 26+	9+	35		FEL102 ---	20+	20	18.00 105.00	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.83 --
		58653 39	9+	48		FEL103 ---	20+	34		58654 32	12+	44		FEL104 ---	15+	35		FEL105 ---	41+	41						
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096571	SIDDHI ANUJ UMESH JANHAVI 2023016402388864 (12) Panvel- (822)	58651 34+	9+	43		FEC101 19+	19		58652 24+	13+	37		FEL101 17+	17		58655 30+	9+	39		FEL102 17+	17				Unsuccessful 18.00 --	
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	C	7.00	3.50	-- --
		58653 32+	8+	40		FEL103 18+	37		58654 17F	11+	28		FEL104 16+	32		FEL105 26+	26									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096572	SURYAWANSHI NAGESH PANDURANG RANJANA 2023016402389202 (12) Panvel- (822)	58651 0F	8+	8		FEC101 11+	11		58652 27E	7+	34		FEL101 23+	23		58655 25+	14+	39		FEL102 23+	23				Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 22F	8+	30		FEL103 17+	33		58654 14F	8+	22		FEL104 18+	35		FEL105 21+	21									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096573	TANDEL EKTA HASURAM SARIKA 2023016402427357 (12) Panvel- (822)	58651 32+	8+	40		FEC101 18+	18		58652 24+	8+	32		FEL101 23+	23		58655 24+	12+	36		FEL102 23+	23				Successful 18.00 102.00	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.67 --
		58653 45	8+	53		FEL103 18+	38		58654 35+	10+	45		FEL104 19+	37		FEL105 22+	22									
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096574	THOMBARE RAHUL HIRU SUREKHA 2022016402310306 (12) Panvel- (822)	58651 36+	16+	52	18.00	FEC101 --	20+	20	10.00	58652 24+	9+	33	8.00	FEL101 --	18+	18	10.00	58655 24+	8+	32	18.00	FEL102 --	18+	18	118.00	Successful 6.56 --			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	6.56 --			
		58653 51	12+	63	21.00	FEL103 --	22+	42	10.00	58654 40+	9+	49	15.00	FEL104 --	22+	40	10.00	FEL105 --	41+	41	10.00	1.00	O	10.00	10.00	18.00	FINAL CGPI -- FINAL GRADE --		
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	18.00	FINAL CGPI -- FINAL GRADE --		
7096575	TIVLEKAR ARYAN ANANT JYOTI 2023016402388856 (12) Panvel- (822)	58651 13F	8+	21	0.00	FEC101 --	18+	18	8.00	58652 17F	8+	25	0.00	FEL101 --	17+	17	7.00	58655 24+	9+	33	18.00	FEL102 --	17+	17	18.00	Unsuccessful -- --			
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 22F	8+	30	0.00	FEL103 --	19+	29	6.00	58654 9F	8+	17	0.00	FEL104 --	13+	27	6.00	FEL105 --	29+	29	6.00	1.00	D	6.00	6.00	18.00	FINAL CGPI -- FINAL GRADE --		
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	18.00	FINAL CGPI -- FINAL GRADE --		
7096576	VARTAK MIHIR MILIND MINAL 2023016402421457 (12) Panvel- (822)	58651 4F	8+	12	0.00	FEC101 --	18+	18	8.00	58652 6F	10+	16	0.00	FEL101 --	19+	19	9.00	58655 26+	8+	34	18.00	FEL102 --	19+	19	18.00	Unsuccessful -- --			
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --			
		58653 11F	8+	19	0.00	FEL103 --	17+	27	6.00	58654 5F	11+	16	0.00	FEL104 --	15+	30	7.00	FEL105 --	35+	35	8.00	1.00	B	8.00	8.00	18.00	FINAL CGPI -- FINAL GRADE --		
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	18.00	FINAL CGPI -- FINAL GRADE --		

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL-NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096577	/ ANERAO MEERA MANISH MAYA 2023016401041635 (13)Ratnagiri-(525)	58651 37+	8+	45		FEC101 16+	16			58652 24+	7+	31		FEL101 11+	11		58655 16F	6+	22		FEL102 17+	17		18.00 --		
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	-- --
		58653 20F	16+	36		FEL103 18+	33			58654 35E	9+	44		FEL104 15+	25		FEL105 27+	27								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096578	/ AUCHATKAR MANASI GAJANAN RIDDHI 2023016401040172 (13)Ratnagiri-(525)	58651 40+	9+	49		FEC101 22+	22			58652 28+	9+	37		FEL101 15+	15		58655 30+	9+	39		FEL102 21+	21		18.00 --		
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 9F	15+	24		FEL103 23+	42			58654 36+	10+	46		FEL104 23+	33		FEL105 45+	45								
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096579	BORSUTKAR OMKAR UDAY VARSHA 2023016401037057 (13)Ratnagiri-(525)	58651 10F	8+	18		FEC101 14+	14			58652 24+	6+	30		FEL101 21+	21		58655 24+	6+	30		FEL102 20+	20		18.00 --		
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 28F	8+	36		FEL103 19+	31			58654 21F	8+	29		FEL104 24+	36		FEL105 43+	43								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096580	/ CHAVAN SANIKA SANJAY MANISHA 2023016401032756 (13)Ratnagiri-(525)	58651 24F	8+	32		FEC101 17+	17			58652 30+	8+	38		FEL101 16+	16		58655 24+	6+	30		FEL102 21+	21		18.00	--	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 24F	12+	36		FEL103 18+	40			58654 38+	19+	57		FEL104 15+	33		FEL105 36+	36								
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096581	GONDHALI ATHARV PRADIP JANHAVI 2023016401035437 (13)Ratnagiri-(525)	58651 28F	8+	36		FEC101 14+	14			58652 4F	6+	10		FEL101 24+	24		58655 13F	6+	19		FEL102 21+	21		18.00	--	
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 28F	10+	38		FEL103 15+	30			58654 17F	AA	17		FEL104 21+	33		FEL105 42+	42								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096582	/ KADAM SHRAVANI CHANDRASHEKHAR - SARIKA 2022016402123212 (13)Ratnagiri-(525)	58651 10F	8+	18		FEC101 18+	18			58652 25+	7+	32		FEL101 12+	12		58655 24E	9+	33		FEL102 14+	14		18.00	--	
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --
		58653 19F	8+	27		FEL103 20+	31			58654 4F	12+	16		FEL104 13+	27		FEL105 37+	37								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096583	KADAM YASH RUPESH SONALI 2023016401031641 (13)Ratnagiri-(525)	58651 39+	13+	52	1.00	FEC101 18+	18	32+	11+	43	1.00	FEL101 15+	15	32+	10+	42	1.00	FEL102 17+	17	18.00	--	Unsuccessful				
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	C	7.00	3.50	-- --
		58653 28F	13+	41	1.00	FEL103 19+	31	32+	10+	42	1.00	FEL104 15+	29	1.00	FEL105 42+	42	1.00	O	10.00	10.00						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096584	LOTANKAR LAVANYA SANJAY SHRUTI 2022016402123003 (13)Ratnagiri-(525)	58651 32+	14+	46	1.00	FEC101 19+	19	41+	7+	48	1.00	FEL101 19+	19	30+	11+	41	1.00	FEL102 24+	24	18.00	111.50	Successful				
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	C	7.00	14.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.19 --
		58653 32	9+	41	1.00	FEL103 23+	41	32+	8+	40	1.00	FEL104 21+	37	1.00	FEL105 45+	45	1.00	O	10.00	10.00						
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096585	MALDAR FAIZAN MOHAMED HANIF MUNIRA 2023016401023227 (13)Ratnagiri-(525)	58651 32+	8+	40	1.00	FEC101 17+	17	24+	6+	30	1.00	FEL101 17+	17	25	6+	31	1.00	FEL102 21+	21	18.00	95.50	Successful				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.31 --
		58653 37	12+	49	1.00	FEL103 18+	39	35	9+	44	1.00	FEL104 18+	28	1.00	FEL105 41+	41	1.00	O	10.00	10.00						
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096586	MANDAVKAR VEDANT PRASAD VAIDEHI 2023016401028186 (13)Ratnagiri-(525)	58651 22F	8+	30		FEC101 14+	14			58652 4F	7+	11		FEL101 17+	17		58655 24+	7+	31		FEL102 18+	18			18.00 --	
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096587	NAGALE OMKAR RAJENDRA RESHA 2022016402131053 (13)Ratnagiri-(525)	58651 32+	10+	42		FEC101 23+	23			58652 24+	6+	30		FEL101 21+	21		58655 24+	9+	33		FEL102 21+	21			18.00 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096588	PATIL DEEPAK RAVINDRA MAYA 2023016401032594 (13)Ratnagiri-(525)	58651 33+	9+	42		FEC101 19+	19			58652 37+	10+	47		FEL101 14+	14		58655 33+	8+	41		FEL102 18+	18			18.00 113.00	
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	C	7.00	14.00	0.50	D	6.00	3.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	6.28 --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096589	PATIL MIHIR RAJESH RIYA 2023016401036344 (13)Ratnagiri-(525)	58651 40+	10+	50	18.00	FEC101 1--	18+	18	8.00	58652 27+	10	37	10.00	FEL101 1--	16+	16	3.50	58655 24+	7+	31	8.00	FEL102 1--	19+	19	4.50	18.00	103.00	5.72	--
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50				
		58653 33	8+	41	12.00	FEL103 1--	21+	33	7.00	58654 37+	10+	47	15.00	FEL104 1--	17+	30	7.00	FEL105 1--	41+	41	10.00								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096590	SAKPAL PRASAD AVINASH ASHWINI 2023016401028221 (13)Ratnagiri-(525)	58651 22F	10+	32	0.00	FEC101 1--	20+	20	10.00	58652 AA	7+	7	0.00	FEL101 1--	16+	16	3.50	58655 7F	7+	14	0.00	FEL102 1--	17+	17	3.50	18.00	--	--	--
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50				
		58653 44+	13+	57	18.00	FEL103 1--	20+	34	7.00	58654 32+	8+	40	12.00	FEL104 1--	16+	26	6.00	FEL105 1--	45+	45	10.00								
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096591	THUKRUL SHUBHAM SUDHAKAR SNEHA 2023016401036642 (13)Ratnagiri-(525)	58651 32+	10+	42	12.00	FEC101 1--	20+	20	10.00	58652 24+	11+	35	10.00	FEL101 1--	16+	16	3.50	58655 28+	8+	36	10.00	FEL102 1--	18+	18	4.00	18.00	--	--	--
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00				
		58653 8F	9+	17	0.00	FEL103 1--	22+	39	9.00	58654 32+	8+	40	12.00	FEL104 1--	16+	32	7.00	FEL105 1--	39+	39	9.00								
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096592	WAGHATE TEJAS TUKARAM TEJASWINI 2022016402135952 (13)Ratnagiri-(525)	58651 8F	9+	17		FEC101 --	22+	22		58652 25+	6+	31		FEL101 --	17+	17		58655 17F	6+	23		FEL102 --	22+	22	18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 22F	8+	30		FEL103 --	22+	36		58654 23F	10+	33		FEL104 --	15+	32		FEL105 --	42+	42						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096593	BHOIR KARAN PRAMOD DARSHANA 2022016402072203 (22)Vasai-(466)	58651 32+	9+	41		FEC101 --	20+	20		58652 24+	6+	30		FEL101 --	22+	22		58655 26E	6+	32		FEL102 --	20+	20	18.00 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 17F	13+	30		FEL103 --	20+	34		58654 32+	8+	40		FEL104 --	18+	34		FEL105 --	42+	42						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096594	GIRI HARSH PRADEEP ROHINI 2023016401230624 (22)Vasai-(466)	58651 32+	9+	41		FEC101 --	18+	18		58652 33	6+	39		FEL101 --	21+	21		58655 32	6+	38		FEL102 --	15+	15	18.00 104.50	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	5.81 --
		58653 35	8+	43		FEL103 --	20+	37		58654 32+	8+	40		FEL104 --	23+	40		FEL105 --	40+	40						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096595	KALE SIDDHANT PRAKASH PRATIBHA 2023016401231577 (22)Vasai-(466)	58651 32	8+	40		FEC101 18+	18		58652 29+	7+	36		FEL101 20+	20		58655 27+	7+	34		FEL102 19+	19		18.00	110.50			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	6.14	--
		58653 43	8+	51		FEL103 20+	36		58654 32+	13+	45		FEL104 22+	40		FEL105 40+	40										
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096596	KHAN MUZAMMIL AHMED SALIM HUDA 2023016401216021 (22)Vasai-(466)	58651 32+	8+	40		FEC101 15+	15		58652 24+	10+	34		FEL101 16+	16		58655 25+	6+	31		FEL102 15+	15		18.00	90.00			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.00	--
		58653 34	8+	42		FEL103 10+	22		58654 34+	8+	42		FEL104 20+	37		FEL105 44+	44										
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096597	SAWANT VEDAS NANDKISHOR NEHA 2023016401242811 (22)Vasai-(466)	58651 32+	9+	41		FEC101 21+	21		58652 25+	6+	31		FEL101 19+	19		58655 24+	6+	30		FEL102 22+	22		18.00	102.50			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.69	--
		58653 41	8+	49		FEL103 19+	36		58654 32+	11+	43		FEL104 23+	41		FEL105 43+	43										
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096598	TUMADE YASH JAGDISH VAISHALI 2022016402069294 (22)Vasai-(466)	58651 32	9+	41		FEC101 --	20+	20		58652 26+	6+	32		FEL101 --	20+	20		58655 29+	6+	35		FEL102 --	21+	21	18.00	103.00	Successful		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.72	--		
		58653 46+	8+	54		FEL103 --	21+	37		58654 32+	8+	40		FEL104 --	19+	34		FEL105 --	37+	37									
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096599	VISHWAKARMA RISHABH MANOJ KANCHAN 2023016401225213 (22)Vasai-(466)	58651 40	16+	56		FEC101 --	19+	19		58652 24+	6+	30		FEL101 --	20+	20		58655 30+	7+	37		FEL102 --	21+	21	18.00	110.00	Successful		
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.11	--		
		58653 32+	11+	43		FEL103 --	19+	29		58654 34+	18+	52		FEL104 --	22+	39		FEL105 --	44+	44									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096600	YADAV ADITYA RADHESHYAM SONI 2023016401216036 (22)Vasai-(466)	58651 36	15+	51		FEC101 --	17+	17		58652 27	6+	33		FEL101 --	21+	21		58655 24+	6+	30		FEL102 --	17+	17	18.00	101.50	Successful		
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.64	--		
		58653 32+	11+	43		FEL103 --	16+	26		58654 37	8+	45		FEL104 --	22+	38		FEL105 --	40+	40									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096601	YADAV NISHANT MAHENDRA SHARMILA 2023016401246476 (22)Vasai-(466)	58651 32+	8+	40		FEC101 13+	13			58652 24E	6+	30		FEL101 19+	19		58655 33E	6+	39		FEL102 10+	10			Unsuccessful 18.00 --	
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	P	4.00	2.00	-- --
		58653 22F	8+	30		FEL103 10+	20			58654 32+	8+	40		FEL104 20+	37		FEL105 35+	35								
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096602	ADAK RONIT ASHIM REENA 2023016400714832 (22)Vasai-(982)	58651 2F	9+	11		FEC101 10+	10			58652 24+	8+	32		FEL101 16+	16		58655 24+	6+	30		FEL102 11+	11			Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	-- --
		58653 32+	10+	42		FEL103 17+	35			58654 32E	8+	40		FEL104 18+	35		FEL105 35+	35								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096603	SANSKAR SUSHILKUMAR BAGUL SUNITA 2023016400714886 (22)Vasai-(982)	58651 33+	20+	53		FEC101 12+	12			58652 24+	6+	30		FEL101 21+	21		58655 24+	6+	30		FEL102 12+	12			Successful 18.00 108.50	
		3.00	D	6.00	18.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	6.03 --
		58653 45	9+	54		FEL103 20+	41			58654 41+	9+	50		FEL104 19+	36		FEL105 35+	35								
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096604	CAHUBEY OM SANJAY SASHI 2023016400714824 (22)Vasai-(982)	58651 11F	20+	31		FEC101 12+	12			58652 7F	6+	13		FEL101 18+	18		58655 31E	7+	38		FEL102 12+	12			Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	E	5.00	2.50	-- --
		58653 10F	12+	22		FEL103 22+	39			58654 41+	8+	49		FEL104 18+	35		FEL105 37+	37								
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096605	/ CHAUHAN DHRUVI PANKAJ DEEPA 2022016400867106 (22)Vasai-(982)	58651 32+	11+	43		FEC101 16+	16			58652 25+	6+	31		FEL101 21+	21		58655 24+	6+	30		FEL102 23+	23			Successful 18.00 103.00	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.72 --
		58653 42	11+	53		FEL103 14+	29			58654 33+	13+	46		FEL104 23+	39		FEL105 42+	42								
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096606	DEVLEKAR GAURAV VILAS SUJATA 2023016400714534 (22)Vasai-(982)	58651 32+	14+	46		FEC101 15+	15			58652 24+	6+	30		FEL101 22+	22		58655 29+	6+	35		FEL102 14+	14			Successful 18.00 103.00	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	5.72 --
		58653 42	10+	52		FEL103 20+	41			58654 32	12+	44		FEL104 17+	34		FEL105 36+	36								
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096607	DHANAWADE TANISHQ RAVINDRA RISHIKA 2023016400714607 (22)Vasai-(982)	58651 32+ 11+ 43 3.00 P 4.00 12.00	FEC101 13+ 13 6.00 6.00 1.00 D	58652 25+ 8+ 33 4.00 8.00 2.00 P	FEL101 21+ 21 10.00 5.00 0.50 O	58655 34+ 7+ 41 6.00 12.00 2.00 D	FEL102 15+ 15 7.00 3.50 0.50 C	Unsuccessful 18.00 -- -- --	58653 32+ 10+ 42 3.00 P 4.00 12.00	FEL103 22+ 43 21+ 10.00 10.00 1.00 O	58654 18F 14+ 32 19+ 38 19+ 9.00 9.00 1.00 A	FEL104 19+ 38 19+ 9.00 9.00 1.00 C	FEL105 31+ 31 7.00 7.00 1.00 C	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --															
7096608	GAWALI ROHIT NARENDRA MANISHA 2023016400714774 (22)Vasai-(982)	58651 51+ 13+ 64 3.00 C 7.00 21.00	FEC101 12+ 12 5.00 5.00 1.00 E	58652 25+ 6+ 31 4.00 8.00 2.00 P	FEL101 22+ 22 10.00 5.00 0.50 O	58655 24+ 6+ 30 4.00 8.00 2.00 P	FEL102 13+ 13 6.00 3.00 0.50 D	Unsuccessful 18.00 -- -- --	58653 26F 10+ 36 3.00 F 0.00 0.00	FEL103 18+ 28 10+ 6.00 6.00 1.00 D	58654 2F 11+ 13 18+ 35 17+ 8.00 8.00 1.00 B	FEL104 18+ 35 17+ 8.00 8.00 1.00 B	FEL105 39+ 39 9.00 9.00 1.00 A	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --															
7096609	KABADI DARSHAN JAYRAM SWATI 2023016400714511 (22)Vasai-(982)	58651 32+ 8+ 40 3.00 P 4.00 12.00	FEC101 13+ 13 6.00 6.00 1.00 D	58652 28+ 9+ 37 5.00 10.00 2.00 E	FEL101 23+ 23 10.00 5.00 0.50 O	58655 33+ 6+ 39 6.00 12.00 2.00 D	FEL102 14+ 14 6.00 3.00 0.50 D	Successful 18.00 103.00 5.72 --	58653 41 8+ 49 3.00 E 5.00 15.00	FEL103 20+ 42 22+ 10.00 10.00 1.00 O	58654 39+ 9+ 48 3.00 E 5.00 15.00	FEL104 16+ 32 16+ 7.00 7.00 1.00 C	FEL105 35+ 35 8.00 8.00 1.00 B	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --															

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096610	KARARAMBALEKAR MEET MINESH LEENA 2023016400714936 (22)Vasai-(982)	58651 20F 3.00 F	20+	40	4.00	FEC101 11+ 1.00 P	11	11	4.00	58652 24E 2.00 P	6+	30	8.00	FEL101 18+ 0.50 B	18	4.00	58655 24+ 2.00 P	6+	30	8.00	FEL102 16+ 0.50 C	16	3.50	18.00 -- -- --					
		58653 19F 3.00 F	10+	29	0.00	FEL103 21+ 1.00 O	42	10.00	10.00	58654 10F 3.00 F	8+	18	0.00	FEL104 18+ 1.00 B	36	8.00	FEL105 38+ 1.00 A	38	9.00	9.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096611	REHAN MOHAMMAD ZULFEKAR MOHAMMED - HALIMA BI 2023016400714975 (22)Vasai-(982)	58651 36+ 3.00 E	12+	48	15.00	FEC101 13+ 1.00 D	13	6.00	6.00	58652 24+ 2.00 E	11+	35	10.00	FEL101 21+ 0.50 O	21	5.00	58655 25+ 2.00 E	9+	34	10.00	FEL102 16+ 0.50 C	16	3.50	18.00 101.50 5.64 --					
		58653 32 3.00 P	11+	43	12.00	FEL103 21+ 1.00 O	42	10.00	10.00	58654 32+ 3.00 P	9+	41	12.00	FEL104 19+ 1.00 A	38	9.00	FEL105 39+ 1.00 A	39	9.00	9.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096612	PARAB SHUBHAM RAMAKANT SHWETA 2022016402128894 (22)Vasai-(982)	58651 32 3.00 D	18+	50	18.00	FEC101 15+ 1.00 C	15	7.00	7.00	58652 24+ 2.00 P	6+	30	8.00	FEL101 17+ 0.50 C	17	3.50	58655 24+ 2.00 P	8+	32	8.00	FEL102 18+ 0.50 B	18	4.00	18.00 97.50 5.42 --					
		58653 32+ 3.00 P	11+	43	12.00	FEL103 15+ 1.00 C	33	7.00	7.00	58654 32+ 3.00 P	8+	40	12.00	FEL104 18+ 1.00 A	39	9.00	FEL105 38+ 1.00 A	38	9.00	9.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096613	RAJ MANOJ PATEL VARSHA 2023016400714801 (22)Vasai-(982)	58651 34	14+	48		FEC101 10+	10			58652 25+	6+	31		FEL101 20+	20		58655 34+	10+	44		FEL102 16+	16		18.00	109.50	6.08	--		
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50				
		58653 32+	14+	46		FEL103 20+	41			58654 53	8+	61		FEL104 18+	36		FEL105 37+	37											
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096614	PATEL VIKRAM SAWLARAM LEELA PATEL 2023016400714766 (22)Vasai-(982)	58651 32+	9+	41		FEC101 14+	14			58652 24+	7+	31		FEL101 22+	22		58655 29+	9+	38		FEL102 18+	18		18.00	115.00	6.39	--		
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00				
		58653 50	10+	60		FEL103 22+	41			58654 38+	14+	52		FEL104 21+	41		FEL105 38+	38											
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096615	MIT DEEPAK PATWA DIVYA 2023016400714422 (22)Vasai-(982)	58651 32+	18+	50		FEC101 11+	11			58652 24+	6+	30		FEL101 22+	22		58655 24+	8+	32		FEL102 16+	16		18.00	--	--	--		
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50				
		58653 32+	9+	41		FEL103 20+	39			58654 17F	8+	25		FEL104 18+	36		FEL105 32+	32											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096616	SHUBHAM PRASAD BOBY DEVI 2023016400714654 (22)Vasai-(982)	58651 37E	13+	50		FEC101 10+	10			58652 3F	6+	9		FEL101 10+	10		58655 24+	6+	30		FEL102 14+	14		18.00	--				
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --			
		58653 18F	8+	26		FEL103 18+	38			58654 7F	8E	15		FEL104 19+	38		FEL105 35+	35											
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096617	SAIFUDDIN SHAHABUDDIN NAILA 2023016400714704 (22)Vasai-(982)	58651 36	16+	52		FEC101 20+	20			58652 27+	10+	37		FEL101 22+	22		58655 24+	10+	34		FEL102 18+	18		18.00	106.00				
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	5.89 --			
		58653 32+	10+	42		FEL103 20+	39			58654 35+	8+	43		FEL104 17+	35		FEL105 36+	36											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096618	SUTHAR DHARUV VIMAL ARCHANA 2023016400714484 (22)Vasai-(982)	58651 4F	20+	24		FEC101 20+	20			58652 24+	8+	32		FEL101 23+	23		58655 24+	6+	30		FEL102 19+	19		18.00	--				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --			
		58653 19F	9+	28		FEL103 15+	31			58654 5F	8+	13		FEL104 20+	39		FEL105 39+	39											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096619	NISHANT SUJATA 2023016400714631 (22)Vasai-(982)	58651 34+	17+	51	1.00	FEC101 20+	20	2.00	58652 24+	8+	32	1.00	FEL101 20+	20	2.00	58655 24+	9+	33	1.00	FEL102 14+	14	18.00	103.00	Successful					
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	5.72 --			
		58653 33	13+	46	1.00	FEL103 12+	24	3.00	58654 32+	12+	44	1.00	FEL104 19+	38	1.00	FEL105 40+	40	10.00	10.00										
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096620	/ VYAS RIYA AJAY AVANI VYAS 2023016400714847 (22)Vasai-(982)	58651 32+	20+	52	1.00	FEC101 22+	22	2.00	58652 24+	10+	34	1.00	FEL101 21+	21	1.00	58655 35+	10+	45	1.00	FEL102 20+	20	18.00	117.00	Successful					
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	6.50 --			
		58653 41	9+	50	1.00	FEL103 10+	27	3.00	58654 32+	12+	44	1.00	FEL104 21+	41	1.00	FEL105 39+	39	10.00	10.00	1.00	A	9.00	9.00						
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096621	/ BHERE JAGRUTI SATISH SANJANA 2023016402073664 (30)Shahapur-(776)	58651 32+	8+	40	1.00	FEC101 20+	20	2.00	58652 33	13+	46	1.00	FEL101 22+	22	1.00	58655 24+	8+	32	1.00	FEL102 18+	18	18.00	113.00	Successful					
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	6.28 --			
		58653 46	9+	55	1.00	FEL103 21+	43	3.00	58654 33+	11+	44	1.00	FEL104 22+	43	1.00	FEL105 45+	45	10.00	10.00	1.00	O	10.00	10.00						
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096622	CHAUDHARI ABHINEET BHARAT PUSHPA 2023016402072846 (30)Shahapur-(776)	58651 32+	8+	40		FEC101 --	20+	20		58652 24+	12+	36		FEL101 --	19+	19		58655 27+	9+	36		FEL102 --	19+	19	Successful 18.00 99.00 5.50 --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50				
		58653 32	8+	40		FEL103 --	16+	33		58654 32+	11+	43		FEL104 --	23+	45		FEL105 --	34+	34									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096623	DINKAR MOHIT KISAN ASHA 2023016402072556 (30)Shahapur-(776)	58651 32E	8+	40		FEC101 --	21+	21		58652 13F	12+	25		FEL101 --	23+	23		58655 30+	8+	38		FEL102 --	20+	20	Unsuccessful 18.00 -- -- --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00				
		58653 32+	9+	41		FEL103 --	24+	47		58654 34+	8+	42		FEL104 --	22+	44		FEL105 --	47+	47									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096624	DOMAL SHIVKUMAR ASHOK RAJMANI 2023016402072711 (30)Shahapur-(776)	58651 32+	11+	43		FEC101 --	21+	21		58652 25+	15+	40		FEL101 --	22+	22		58655 25+	13+	38		FEL102 --	22+	22	Successful 18.00 105.00 5.83 --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00				
		58653 32	8+	40		FEL103 --	17+	35		58654 32+	12+	44		FEL104 --	23+	46		FEL105 --	34+	34									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096625	DUBEY ANAND VIMAL KAVITA 2022016402328103 (30)Shahapur-(776)	58651 24F	8+	32		FEC101 ---	20+	20		58652 24+	6+	30		FEL101 ---	16+	16		58655 24+	6+	30		FEL102 ---	16+	16	18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 32+	8+	40		FEL103 ---	10+	25		58654 26F	15+	41		FEL104 ---	21+	42		FEL105 ---	22+	22						
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096626	GAIKWAD BHUSHAN BALKRUSHNA PRAMILA 2023016402072726 (30)Shahapur-(776)	58651 50	8+	58		FEC101 ---	20+	20		58652 25+	11+	36		FEL101 ---	21+	21		58655 28+	8+	36		FEL102 ---	20+	20	18.00 119.00	
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.61 --
		58653 43	8+	51		FEL103 ---	17+	33		58654 49+	8+	57		FEL104 ---	21+	41		FEL105 ---	36+	36						
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096627	GAIKWAD SAHIL MANOHAR SUREKHA 2023016402073672 (30)Shahapur-(776)	58651 34E	9+	43		FEC101 ---	21+	21		58652 25E	13+	38		FEL101 ---	23+	23		58655 24+	13+	37		FEL102 ---	23+	23	18.00 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 32+	10+	42		FEL103 ---	21+	42		58654 17F	10+	27		FEL104 ---	22+	43		FEL105 ---	43+	43						
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096628	/ GHUDE SAKSHI VISHWANATH SADHANA 2023016402072475 (30)Shahapur-(776)	58651 32+	11+	43		FEC101 --	20+	20		58652 42	11+	53		FEL101 --	19+	19		58655 24+	9+	33		FEL102 --	21+	21	18.00 110.50	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	B	8.00	16.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.14 --
		58653 42	8+	50		FEL103 --	15+	33		58654 32+	9+	41		FEL104 --	23+	46		FEL105 --	36+	36						
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096629	GOLHAR SWAPNIL NARAYAN RUKHMN 2022016402326793 (30)Shahapur-(776)	58651 33+	8+	41		FEC101 --	22+	22		58652 24+	7+	31		FEL101 --	17+	17		58655 24+	6+	30		FEL102 --	16+	16	18.00 106.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.89 --
		58653 49	8+	57		FEL103 --	21+	37		58654 34+	12+	46		FEL104 --	21+	40		FEL105 --	43+	43						
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096630	JADHAV YASH RAMCHANDRA SUNITA 2023016402072413 (30)Shahapur-(776)	58651 16F	11+	27		FEC101 --	20+	20		58652 13F	13+	26		FEL101 --	22+	22		58655 28+	9+	37		FEL102 --	20+	20	Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 36E	8+	44		FEL103 --	21+	40		58654 8F	10+	18		FEL104 --	23+	46		FEL105 --	44+	44						
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096631	JAGATAP DARSHAN RAJENDRA DHANSHREE 2023016402072386 (30)Shahapur-(776)	58651 34+	8+	42		FEC101 19+	19			58652 24+	11+	35		FEL101 18+	18		58655 28+	7+	35		FEL102 18+	18		18.00	--				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	-- --			
		58653 45E	8+	53		FEL103 18+	37			58654 18F	9+	27		FEL104 22+	44		FEL105 32+	32											
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096632	/ KHOBRADE SHIMPLI SANDIP SUPRIYA 2023016402072297 (30)Shahapur-(776)	58651 32+	12+	44		FEC101 20+	20			58652 27E	12+	39		FEL101 20+	20		58655 38+	8+	46		FEL102 18+	18		18.00	--				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	B	8.00	4.00	-- --			
		58653 32E	8+	40		FEL103 22+	43			58654 16F	10+	26		FEL104 23+	45		FEL105 43+	43											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096633	LONE ARYAN SANTOSH SWATI 2023016402072653 (30)Shahapur-(776)	58651 34+	12+	46		FEC101 19+	19			58652 24	11+	35		FEL101 23+	23		58655 24+	9+	33		FEL102 20+	20		18.00	112.00				
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.22 --			
		58653 45	8+	53		FEL103 21+	42			58654 35+	8+	43		FEL104 22+	42		FEL105 41+	41											
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096634	MAGAR PANKAJ HEMANT KALPANA 2023016402073544 (30)Shahapur-(776)	58651 32+	11+	43		FEC101 --	21+	21		58652 25E	15+	40		FEL101 --	24+	24		58655 10F	14+	24		FEL102 --	23+	23	Unsuccessful 18.00 --		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --	
		58653 47E	14+	61		FEL103 --	22+	43		58654 8F	20+	28		FEL104 --	23+	46		FEL105 --	42+	42							
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096635	MOHAMMAD HANJALA MOHAMMAD PARVEZ - JAHAAARA 2023016402072831 (30)Shahapur-(776)	58651 32+	15+	47		FEC101 --	20+	20		58652 24+	15+	39		FEL101 --	21+	21		58655 34+	13+	47		FEL102 --	22+	22	Successful 18.00 121.00		
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	6.72 --	
		58653 36	13+	49		FEL103 --	24+	48		58654 32+	15+	47		FEL104 --	22+	43		FEL105 --	42+	42							
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096636	MORE ROHIT VILAS VAISHALI 2022016402326777 (30)Shahapur-(776)	58651 54	16+	70		FEC101 --	21+	21		58652 24+	12+	36		FEL101 --	21+	21		58655 24+	10+	34		FEL102 --	20+	20	Successful 18.00 114.00		
		3.00	B	8.00	24.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.33 --	
		58653 33+	8+	41		FEL103 --	19+	35		58654 32+	8+	40		FEL104 --	20+	39		FEL105 --	39+	39							
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096637	/ PARDESHI VRUSHAL CHANDRASHEKAR - MANISHA 2022016402331577 (30)Shahapur-(776)	58651 16F	8+	24		FEC101 16F	21+	21		58652 24F	7+	31		FEL101 16F	17+	17		58655 25F	10+	35		FEL102 16F	20+	20	18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096638	PASHTE RAHUL ASHOK ASHWINI 2023016402072467 (30)Shahapur-(776)	58651 33+	10+	43		FEC101 33+	20+	20		58652 32	11+	43		FEL101 33+	17+	17		58655 32+	10+	42		FEL102 33+	20+	20	18.00 109.50	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.08 --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096639	PATHARE KARAN NETAJI SUNITA 2023016402073196 (30)Shahapur-(776)	58651 38	12+	50		FEC101 38	21+	21		58652 28	10+	38		FEL101 38	23+	23		58655 24+	10+	34		FEL102 38	20+	20	18.00 114.00	
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.33 --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096640	/ PATIL SAMRUDDHI PRAMOD POOJA	58651				FEC101				58652				FEL101				58655				FEL102				Successful			
		32+	17+	49		---	21+	21		24+	14+	38		---	22+	22		26+	13+	39		---	23+	23		18.00 125.00			
	2023016402072807	3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.94 --			
	(30)Shahapur-(776)	58653				FEL103				58654				FEL104				FEL105											
		41	11+	52		---	21+	42		33+	18+	51		---	23+	46		---	41+	41									
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096641	SABALE SIDDHESH RAMCHANDRA PALLAVI	58651				FEC101				58652				FEL101				58655				FEL102				Successful			
		33	8+	41		---	21+	21		24	9+	33		---	18+	18		26+	8+	34		---	16+	16		18.00 98.50			
	2022016402331546	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	5.47 --			
	(30)Shahapur-(776)	58653				FEL103				58654				FEL104				FEL105											
		44+	8+	52		---	11+	29		39+	8+	47		---	19+	36		---	22+	22									
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096642	SHAIKH SAUD ABDULLAH HUSNABANO	58651				FEC101				58652				FEL101				58655				FEL102				Successful			
		32+	12+	44		---	18+	18		24+	6+	30		---	17+	17		25+	8+	33		---	16+	16		18.00 99.00			
	2022016402328173	3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.50 --			
	(30)Shahapur-(776)	58653				FEL103				58654				FEL104				FEL105											
		37	8+	45		---	12+	28		44+	11+	55		---	21+	41		---	31+	31									
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096643	/ SHELAJLE NAMRATA RAJENDRA SHOBHA 2023016402071263 (30)Shahapur-(776)	58651 32+	12+	44		FEC101 --	20+	20		58652 38	11+	49		FEL101 --	22+	22		58655 30+	11+	41		FEL102 --	22+	22	Successful 18.00 113.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.28 --
		58653 32+	9+	41		FEL103 --	19+	37		58654 38+	9+	47		FEL104 --	23+	45		FEL105 --	42+	42						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096644	TANDALE DIPANSHU JITENDRA PRAVINA 2023016402073834 (30)Shahapur-(776)	58651 34E	15+	49		FEC101 --	21+	21		58652 24E	8+	32		FEL101 --	22+	22		58655 26+	13+	39		FEL102 --	23+	23	Unsuccessful 18.00 --	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 32E	9+	41		FEL103 --	23+	37		58654 10F	12+	12		FEL104 --	22+	43		FEL105 --	41+	41						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096645	TIWARI SHIVAM SANTOSH BANDANA 2022016402328142 (30)Shahapur-(776)	58651 32+	15+	47		FEC101 --	22+	22		58652 15F	7+	22		FEL101 --	18+	18		58655 27+	9+	36		FEL102 --	18+	18	Unsuccessful 18.00 --	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	-- --
		58653 42+	8+	50		FEL103 --	23+	40		58654 37+	8+	45		FEL104 --	21+	41		FEL105 --	40+	40						
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096646	UPADHYAY SAURAV KUMAR RAVINDRA KUMAR - RENU 2022016402328157 (30)Shahapur-(776)	58651 32+	13+	45		FEC101 --	23+	23		58652 28	8+	36		FEL101 --	17+	17		58655 24+	9+	33		FEL102 --	18+	18		Successful 18.00 103.50 5.75 --			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00				
		58653 32+	8+	40		FEL103 --	19+	37		58654 32+	13+	45		FEL104 --	18+	37		FEL105 --	42+	42									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096647	VISHE JAYESH SHARAD SHUBHANGI 2023016402072371 (30)Shahapur-(776)	58651 47E	12+	59		FEC101 --	22+	22		58652 24E	7+	31		FEL101 --	18+	18		58655 24+	15+	39		FEL102 --	23+	23		Unsuccessful 18.00 -- -- --			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00				
		58653 35E	10+	45		FEL103 --	21+	43		58654 17F	12+	29		FEL104 --	22+	44		FEL105 --	21+	21									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096648	WELANKAR SIDDHANT SURESH SUNITA 2023016402072606 (30)Shahapur-(776)	58651 32+	9+	41		FEC101 --	20+	20		58652 24+	7+	31		FEL101 --	17+	17		58655 32+	11+	43		FEL102 --	22+	22		Successful 18.00 107.50 5.97 --			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00				
		58653 41	8+	49		FEL103 --	22+	43		58654 32+	8+	40		FEL104 --	22+	43		FEL105 --	41+	41									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096649	/ AHER RUTUJA SUNIL RANJANA 2023016402211163 (36)Karjat-(438)	58651 32+	17+	49		FEC101 --	14+	14		58652 24E	6+	30		FEL101 --	21+	21		58655 26+	9+	35		FEL102 --	22+	22	18.00	--			
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--		
		58653 32E	8+	40		FEL103 --	22+	44		58654 3F	12+	15		FEL104 --	19+	35		FEL105 --	38+	38									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096650	/ ALDAR SEEMA SUKHDEO SANGITA 2023016402203821 (36)Karjat-(438)	58651 34+	9+	43		FEC101 --	15+	15		58652 24+	6+	30		FEL101 --	20+	20		58655 24E	6+	30		FEL102 --	20+	20	18.00	--			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 32E	12+	44		FEL103 --	20+	36		58654 18F	13E	31		FEL104 --	18+	32		FEL105 --	40+	40									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096651	AVHAD KUSHAL RAJESH CHHAYA 2023016402205077 (36)Karjat-(438)	58651 32+	13+	45		FEC101 --	16+	16		58652 17F	6+	23		FEL101 --	21+	21		58655 24+	6+	30		FEL102 --	17+	17	18.00	--			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--		
		58653 32E	9+	41		FEL103 --	20+	39		58654 32+	9+	41		FEL104 --	16+	32		FEL105 --	39+	39									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096652	/ BHOITE SAKSHI SANJAY UJWALA 2022016402460407 (36)Karjat-(438)	58651 32+	12+	44	100	FEC101 16+	16	24+	7+	31	FEL101 21+	21	58655 45+	9+	54	FEL102 21+	21	18.00	109.00	Successful									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	B	8.00	16.00	0.50	O	10.00	5.00	6.06	--		
		58653 39	8+	47	15.00	FEL103 15+	33	58654 34+	14+	48	FEL104 20+	39	FEL105 44+	44	10.00														
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096653	CHAVAN YASH RAJESH MEGHA 2022016402450107 (36)Karjat-(438)	58651 AA	AA	AA	12+	FEC101 12+	12	58652 AA	7+	7	FEL101 18+	18	58655 AA	9+	9	FEL102 21+	21	18.00	--	ABS									
		3.00	F	0.00	AB	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	--	--		
		58653 AA	8+	8	15.00	FEL103 15+	33	58654 AA	8+	8	FEL104 19+	37	FEL105 35+	35	8.00														
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096654	/ CHORGHE PARVANI NARENDRA POOJA 2023016402211364 (36)Karjat-(438)	58651 27F	14+	41	14+	FEC101 14+	14	58652 24+	8+	32	FEL101 22+	22	58655 24+	6+	30	FEL102 14+	14	18.00	--	Unsuccessful									
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	--	--		
		58653 32E	8+	40	21+	FEL103 21+	38	58654 32E	13+	45	FEL104 15+	36	FEL105 40+	40	10.00														
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096655	DABHANE ROHIT JAGANNTH NEETA 2022016402450057 (36)Karjat-(438)	58651 32+	8+	40		FEC101 --	20+	20		58652 25+	6+	31		FEL101 --	21+	21		58655 24+	7+	31		FEL102 --	22+	22	18.00 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32E	10+	42		FEL103 --	15+	29		58654 6F	11+	17		FEL104 --	20+	41		FEL105 --	43+	43						
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096656	DHALPE RAJ RAMESH MANDA 2022016402453647 (36)Karjat-(438)	58651 8F	8+	16		FEC101 --	15+	15		58652 24+	6+	30		FEL101 --	19+	19		58655 24+	8+	32		FEL102 --	22+	22	18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 24F	8+	32		FEL103 --	15+	29		58654 14F	9+	23		FEL104 --	18+	35		FEL105 --	39+	39						
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096657	GAIKWAD AYUSH SATISH ANJALI 2023016402211325 (36)Karjat-(438)	58651 4F	12+	16		FEC101 --	14+	14		58652 3F	6+	9		FEL101 --	13+	13		58655 1F	6+	7		FEL102 --	11+	11	18.00 --	
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	D	6.00	3.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	-- --
		58653 1F	8+	9		FEL103 --	20+	37		58654 4F	9+	13		FEL104 --	11+	24		FEL105 --	40+	40						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	E	5.00	5.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096658	/ GARJE RUTUJA RAMESH MEERA 2022016402449657 (36)Karjat-(438)	58651 32+	9+	41		FEC101 14+	14			58652 24+	6+	30		FEL101 19+	19		58655 25+	6+	31		FEL102 22+	22		18.00	--				
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 15F	14+	29		FEL103 21+	41			58654 32+	12+	44		FEL104 17+	35		FEL105 44+	44											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096659	HAJARE ANURAG ANANTA PUSHPA 2023016402215613 (36)Karjat-(438)	58651 5F	18+	23		FEC101 12+	12			58652 7F	6+	13		FEL101 12+	12		58655 5F	AA	5		FEL102 11+	11		18.00	--				
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	E	5.00	2.50	2.00	F	0.00	0.00	0.50	P	4.00	2.00	-- --			
		58653 3F	8+	11		FEL103 17+	34			58654 4F	11+	15		FEL104 12+	27		FEL105 36+	36											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096660	/ JADHAV SRUSHTI PRAN SARITA 2022016402454434 (36)Karjat-(438)	58651 16F	13+	29		FEC101 15+	15			58652 24+	7+	31		FEL101 20+	20		58655 24+	6+	30		FEL102 22+	22		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 27F	15+	42		FEL103 22+	40			58654 32+	9+	41		FEL104 18+	35		FEL105 43+	43											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096661	JAWALE GANESH BABASAHEB REKHA 2022016402449835 (36)Karjat-(438)	58651 27F	14+	41		FEC101 15+	15			58652 24+	6+	30		FEL101 19+	19		58655 33+	13+	46		FEL102 20+	20			18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	C	7.00	14.00	0.50	O	10.00	5.00	-- --
		58653 38E	15+	53		FEL103 18+	35			58654 33+	9+	42		FEL104 17+	35		FEL105 39+	39								
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096662	KADU SUSHANT DILIP NANDA 2023016402212464 (36)Karjat-(438)	58651 32	9+	41		FEC101 17+	17			58652 24+	7+	31		FEL101 20+	20		58655 24+	7	31		FEL102 18+	18			18.00 97.00	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.39 --
		58653 32	8+	40		FEL103 21+	38			58654 32+	14+	46		FEL104 17+	33		FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096663	KHADE SWAMI ASHOK USHA 2023016402215621 (36)Karjat-(438)	58651 32+	13+	45		FEC101 18+	18			58652 26+	6+	32		FEL101 21+	21		58655 28+	6+	34		FEL102 22+	22			18.00 114.00	
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.33 --
		58653 46	8+	54		FEL103 21+	40			58654 32+	18+	50		FEL104 14+	31		FEL105 40+	40								
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096664	KHARATMOL ANIKET ASHOK SANGITA 2023016402212313 (36)Karjat-(438)	58651 32+	13+	45	18.00	FEC101 1--	19+	19	9.00	58652 24+	6+	30	12.00	FEL101 1--	20+	20	10.00	58655 27+	7+	34	18.00	FEL102 1--	22+	22	18.00	102.00	Successful 5.67 --		
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00				
		58653 32	11+	43	18.00	FEL103 1--	21+	38	9.00	58654 32+	11+	43	12.00	FEL104 1--	15+	32	7.00	58655 40+	40	40	10.00	FEL105 1--	40+	40	10.00				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096665	/ KHEDEKAR SHRAVANI GAJANAN AISHIYARA 2023016402212924 (36)Karjat-(438)	58651 0F	11+	11	18.00	FEC101 1--	15+	15	7.00	58652 2F	0F	2	0.00	FEL101 1--	18+	18	8.00	58655 0F	0F	0	0.00	FEL102 1--	18+	18	18.00	18.00	Unsuccessful -- --		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00				
		58653 7F	8+	15	18.00	FEL103 1--	21+	37	8.00	58654 1F	8E	9	0.00	FEL104 1--	15+	26	6.00	58655 1--	39+	39	9.00	FEL105 1--	39+	39	9.00				
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096666	KHOBRADE RAHUL SANJAY AMRAPALI 2022016402449514 (36)Karjat-(438)	58651 32+	12+	44	18.00	FEC101 1--	12+	12	5.00	58652 30+	6+	36	10.00	FEL101 1--	19+	19	9.00	58655 26+	7+	33	18.00	FEL102 1--	23+	23	18.00	18.00	Unsuccessful -- --		
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00				
		58653 11F	15+	26	18.00	FEL103 1--	21+	39	9.00	58654 5F	8+	13	0.00	FEL104 1--	20+	39	9.00	58655 1--	38+	38	9.00	FEL105 1--	38+	38	9.00				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096667	KHOSE PRANAY BALASAHEB KAVITA 2023016402212657 (36)Karjat-(438)	58651 32E	17+	49		FEC101 14+	14			58652 24+	6+	30		FEL101 22+	22		58655 AA	6+	6		FEL102 18+	18		18.00	--				
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	-- --			
		58653 14F	8+	22		FEL103 21+	39			58654 13F	18+	31		FEL104 15+	26		FEL105 44+	44											
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096668	MAYURESH SUBHASH MADHAVI SANJIVANI 2022016402454256 (36)Karjat-(438)	58651 32E	8+	40		FEC101 16+	16			58652 19F	6+	25		FEL101 17+	17		58655 24+	9+	33		FEL102 22+	22		18.00	--				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 20F	9+	29		FEL103 20+	38			58654 32+	8+	40		FEL104 19+	37		FEL105 42+	42											
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096669	MAHAJAN KAPIL OMPRAKASH MEERA 2022016402453535 (36)Karjat-(438)	58651 32+	12+	44		FEC101 13+	13			58652 26+	7+	33		FEL101 13+	13		58655 38+	12+	50		FEL102 22+	22		18.00	--				
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	-- --			
		58653 32+	15+	47		FEL103 21+	38			58654 15F	9+	24		FEL104 20+	38		FEL105 40+	40											
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096670	/ MHAISKAR AISHWARYA AJAY VARSHA 2023016402214656 (36)Karjat-(438)	58651 12F	15+	27		FEC101 12F	13+	13		58652 AA	6+	6		FEL101 12F	20+	20		58655 24+	AA	24		FEL102 12F	19+	19	18.00	Unsuccessful --
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	-- --
		58653 AA	12+	12		FEL103 AA	20+	39		58654 AA	9+	9		FEL104 AA	19+	36		FEL105 AA	44+	44						
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096671	/ MURBADE UJWALA ASHOK REKHA 2023016402203852 (36)Karjat-(438)	58651 28F	12+	40		FEC101 28F	14+	14		58652 26+	8+	34		FEL101 28F	21+	21		58655 30+	6+	36		FEL102 28F	22+	22	18.00	Unsuccessful --
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 33E	17+	50		FEL103 33E	21+	40		58654 35+	11+	46		FEL104 33E	21+	38		FEL105 33E	43+	43						
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096672	/ NANNAWARE ROHAN SHARAD MANGLA 2023016402214834 (36)Karjat-(438)	58651 AA	11+	11		FEC101 AA	12+	12		58652 8F	10+	18		FEL101 AA	19+	19		58655 AA	6+	6		FEL102 AA	13+	13	18.00	Unsuccessful --
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	F	0.00	0.00	0.50	D	6.00	3.00	-- --
		58653 AA	12+	12		FEL103 AA	17+	36		58654 AA	10+	10		FEL104 AA	16+	31		FEL105 AA	39+	39						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096673	PANDHARE RAHUL NANA CHHAYA 2023016402204492 (36)Karjat-(438)	58651 32+	18+	50		FEC101 --	22+	22		58652 26+	6+	32		FEL101 --	20+	20		58655 27	6+	33		FEL102 --	13+	13	18.00 99.00	
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	5.50 --
		58653 32+	10+	42		FEL103 --	17+	37		58654 32+	8+	40		FEL104 --	12+	32		FEL105 --	35+	35						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096674	PASHTE PARIMAL PARESH PRAJAKTA 2023016402214753 (36)Karjat-(438)	58651 3F	14+	17		FEC101 --	12+	12		58652 1F	6+	7		FEL101 --	11+	11		58655 20F	6+	26		FEL102 --	18+	18	18.00 --	
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	-- --
		58653 8F	13+	21		FEL103 --	17+	36		58654 6F	9+	15		FEL104 --	13+	24		FEL105 --	40+	40						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	E	5.00	5.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096675	PATIL NIKHIL DNYANESHWAR RUPALI 2022016402453407 (36)Karjat-(438)	58651 0F	10+	10		FEC101 --	13+	13		58652 24+	7+	31		FEL101 --	12+	12		58655 12F	12+	24		FEL102 --	19+	19	18.00 --	
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	2.00	F	0.00	0.00	0.50	A	9.00	4.50	-- --
		58653 6F	14+	20		FEL103 --	12+	24		58654 0F	12+	12		FEL104 --	18+	35		FEL105 --	33+	33						
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096676	PATIL RITESH NARESH RASIKA 2022016402449576 (36)Karjat-(438)	58651 0F	13+	13		FEC101 --	13+	13		58652 8F	6+	14		FEL101 --	20+	20		58655 27E AA	27		FEL102 --	20+	20		18.00 --	
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 21F	13+	34		FEL103 --	20+	38		58654 32+	AA	32		FEL104 --	17+	35		FEL105 --	36+	36						
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096677	PATIL TANMAYSINGH VIJAYSINGH BHAGYASHREE 2022016402450042 (36)Karjat-(438)	58651 32+	14+	46		FEC101 --	13+	13		58652 25+	7+	32		FEL101 --	20+	20		58655 24+	11+	35		FEL102 --	20+	20		18.00 --
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 19F	13+	32		FEL103 --	20+	38		58654 32+	17+	49		FEL104 --	19+	37		FEL105 --	39+	39						
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096678	PAWAR AISHWARYA SOMNATH REKHA 2023016402204194 (36)Karjat-(438)	58651 11F	8+	19		FEC101 --	13+	13		58652 15F	AA	15		FEL101 --	20+	20		58655 25E	0F	25		FEL102 --	20+	20		18.00 --
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 15F	12+	27		FEL103 --	23+	42		58654 13F	8+	21		FEL104 --	19+	31		FEL105 --	41+	41						
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL-NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096679	PAWAR ANIKET SANJAY SANJIVANI 2022016402454322 (36)Karjat-(438)	58651 33+	10+	43		FEC101 14+	14			58652 24+	6+	30		FEL101 20+	20		58655 24+	12+	36		FEL102 22+	22		18.00	Unsuccessful --				
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 34+	14+	48		FEL103 20+	38			58654 14F	10+	24		FEL104 20+	39		FEL105 41+	41											
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096680	PAWAR NANDINI SACHIN MANISHA 2023016402204615 (36)Karjat-(438)	58651 8F	15+	23		FEC101 12+	12			58652 14F	8+	22		FEL101 19+	19		58655 24+	3F	27		FEL102 20+	20		18.00	Unsuccessful --				
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		58653 35+	15+	50		FEL103 20+	37			58654 14F	12+	26		FEL104 20+	32		FEL105 39+	39											
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096681	PAWAR TEJASWINI PADMAKAR ARATI 2023016402214006 (36)Karjat-(438)	58651 5F	17+	22		FEC101 12+	12			58652 2F	8+	10		FEL101 21+	21		58655 19F	6+	25		FEL102 20+	20		18.00	Unsuccessful --				
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		58653 26F	15+	41		FEL103 21+	40			58654 34+	9+	43		FEL104 22+	34		FEL105 41+	41											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096682	RAVAJI PARTH RUPESH LEENA 2023016402211213 (36)Karjat-(438)	58651 32+	11+	43		FEC101 --	17+	17		58652 29+	6+	35		FEL101 --	21+	21		58655 38	3!	41		FEL102 --	19+	19		Successful 18.00 103.50	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	5.75 --	
		58653 32+	16+	48		FEL103 --	19+	38		58654 32	11+	43		FEL104 --	21+	34		FEL105 --	42+	42							
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096683	SANGLE MEHUL KETAN MANISHA 2023016402212305 (36)Karjat-(438)	58651 13F	9+	22		FEC101 --	16+	16		58652 9F	6+	15		FEL101 --	20+	20		58655 24+	7+	31		FEL102 --	20+	20		Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --	
		58653 32E	8+	40		FEL103 --	20+	37		58654 32+	12+	44		FEL104 --	20+	36		FEL105 --	34+	34							
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096684	SHARMA MUKUND JITENDRA SEEMA 2022016402454426 (36)Karjat-(438)	58651 32+ 13.00 P 4.00 12.00	10+	42	1.00 O	FEC101 20+ 10.00	20	10.00	2.00 P	4.00	8.00	1.00 O	FEL101 20+ 10.00	20	5.00	2.00 E	5.00	10.00	1.00 O	FEL102 22+ 10.00	22	5.00	1.00 O	10.00	5.00	18.00 -- -- --			
		58653 21F 13.00 F	8+	29	1.00 B	FEL103 21+ 8.00	36	8.00	3.00 E	5.00	15.00	1.00 A	FEL104 20+ 9.00	39	9.00	1.00 O	FEL105 40+ 10.00	40	10.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096685	THAKUR SATYAM TRILOKNATH RIBHA 2023016402210964 (36)Karjat-(438)	58651 32+ 13.00 F	14+	14	1.00 B	FEC101 18+ 8.00	18	8.00	2.00 E	5.00	10.00	1.00 O	FEL101 20+ 10.00	20	5.00	2.00 P	4.00	8.00	1.00 C	FEL102 17+ 7.00	17	3.50	18.00 -- -- --						
		58653 32+ 13.00 P	8+	40	1.00 O	FEL103 20+ 10.00	40	10.00	3.00 P	4.00	12.00	1.00 C	FEL104 20+ 7.00	33	7.00	1.00 O	FEL105 43+ 10.00	43	10.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096686	AHIRE SUMIT SURESH REKHA 2023016402053876 (36)Karjat-(734)	58651 19F 13.00 F	8+	17	1.00 O	FEC101 21+ 10.00	21	10.00	2.00 P	4.00	8.00	1.00 C	FEL101 17+ 7.00	17	3.50	2.00 P	4.00	8.00	1.00 O	FEL102 24+ 10.00	24	5.00	18.00 -- -- --						
		58653 16F 13.00 F	16+	32	1.00 O	FEL103 21+ 10.00	43	10.00	3.00 F	0.00	0.00	1.00 B	FEL104 20+ 8.00	36	8.00	1.00 O	FEL105 46+ 10.00	46	10.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096687	BHOIR KAUSHAL BHALCHANDRA BHAGYASHRI 2023016402053756 (36)Karjat-(734)	58651 22F	11+	33		FEC101 --	23+	23		58652 25+	9+	34		FEL101 --	23+	23		58655 24+	14+	38		FEL102 --	21+	21	18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 43E	15+	58		FEL103 --	22+	45		58654 32+	13+	45		FEL104 --	22+	42		FEL105 --	42+	42						
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096688	BHOSALE ASHMIT ANANDRAO MANISHA 2023016402053837 (36)Karjat-(734)	58651 33	8+	41		FEC101 --	24+	24		58652 25+	8+	33		FEL101 --	22+	22		58655 44+	9+	53		FEL102 --	22+	22	18.00 110.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	B	8.00	16.00	0.50	O	10.00	5.00	6.11 --
		58653 32+	16+	48		FEL103 --	20+	41		58654 32	9+	41		FEL104 --	15+	30		FEL105 --	43+	43						
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096689	/ BHAVANA VASUDEV CHAUDHARI SARALA 2023016402053957 (36)Karjat-(734)	58651 26F	14+	40		FEC101 --	24+	24		58652 24+	10+	34		FEL101 --	23+	23		58655 29+	15+	44		FEL102 --	24+	24	18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 32+	18+	50		FEL103 --	23+	46		58654 38E	12+	50		FEL104 --	20+	38		FEL105 --	46+	46						
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096690	/ HANWATE RISHIKA KAILASH NILU 2023016402054013 (36)Karjat-(734)	58651 2F	12+	14		FEC101 --	20+	20		58652 4F	6+	10		FEL101 --	20+	20		58655 5F	9+	14		FEL102 --	19+	19		Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	-- --			
		58653 4F	13+	17		FEL103 --	20+	38		58654 0F	10+	10		FEL104 --	13+	29		FEL105 --	40+	40									
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096691	HULE YASH SANTOSH ARCHANA 2023016402053861 (36)Karjat-(734)	58651 32+	10+	42		FEC101 --	24+	24		58652 25	10+	35		FEL101 --	20+	20		58655 24+	13+	37		FEL102 --	20+	20		Successful 18.00 111.00			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.17 --			
		58653 32+	17+	49		FEL103 --	24+	47		58654 32+	15+	47		FEL104 --	22+	41		FEL105 --	39+	39									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096692	/ ITHAPE TANVI MURLIDHAR NALINI 2023016402053892 (36)Karjat-(734)	58651 41	12+	53		FEC101 --	23+	23		58652 26+	14+	40		FEL101 --	22+	22		58655 31+	15+	46		FEL102 --	24+	24		Successful 18.00 130.00			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	7.22 --			
		58653 34+	16+	50		FEL103 --	23+	44		58654 42+	13+	55		FEL104 --	22+	40		FEL105 --	45+	45									
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE					
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7096693	JADHAVHARSHBAJIRAO KAVITA 2023016402053845 (36)Karjat-(734)	58651 46+	10+	56	18.00	FEC101 1--	23+	23	10.00	58652 33	11+	44	12.00	FEL101 1--	22+	22	5.00	58655 27+	14+	41	12.00	FEL102 1--	21+	21	5.00	18.00	121.00	6.72	--		
		58653 32+	16+	48	15.00	FEL103 1--	23+	45	10.00	58654 32+	13+	45	15.00	FEL104 1--	22+	39	9.00	FEL105 1--	40+	40	10.00					Total Credit 18.00		FINAL CGPI --		FINAL GRADE --	
7096694	/ MOTE POOJA KISAN INDU 2023016402053806 (36)Karjat-(734)	58651 13F	18+	31	0.00	FEC101 1--	20+	20	10.00	58652 24+	13+	37	10.00	FEL101 1--	23+	23	5.00	58655 24+	11+	35	10.00	FEL102 1--	22+	22	5.00	18.00	--	--	--		
		58653 136E	19+	55	18.00	FEL103 1--	24+	48	10.00	58654 16F	14+	20	0.00	FEL104 1--	22+	42	10.00	FEL105 1--	42+	42	10.00					Total Credit 18.00		FINAL CGPI --		FINAL GRADE --	
7096695	VISHAL GANESH SONAWANE SAVITA 2023016402053733 (36)Karjat-(734)	58651 45+	11+	56	18.00	FEC101 1--	22+	22	10.00	58652 24+	11+	35	10.00	FEL101 1--	18+	18	4.00	58655 24+	13+	37	10.00	FEL102 1--	21+	21	5.00	18.00	117.00	6.50	--		
		58653 44	15+	59	18.00	FEL103 1--	22+	42	10.00	58654 36+	11+	47	15.00	FEL104 1--	18+	34	7.00	FEL105 1--	41+	41	10.00					Total Credit 18.00		FINAL CGPI --		FINAL GRADE --	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096696	/ BORADE ANTARA SANTOSH VASUNDHARA 2023016402070894 (36)Karjat-(780)	58651 37+	8+	45		FEC101 18+	18			58652 17F	11+	28		FEL101 19+	19		58655 24+	9+	33		FEL102 19+	19		18.00 --		
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 51+	10+	61		FEL103 17+	34			58654 32+	12+	44		FEL104 17+	34		FEL105 42+	42								
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096697	GONAL RAJESH KOTRESH PRATIBHA 2023016402071174 (36)Karjat-(780)	58651 37	15+	52		FEC101 20+	20			58652 37	12+	49		FEL101 19+	19		58655 39	8+	47		FEL102 19+	19		18.00 133.00		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	A	9.00	4.50	2.00	C	7.00	14.00	0.50	A	9.00	4.50	7.39 --
		58653 56	12+	68		FEL103 19+	36			58654 50	14+	64		FEL104 19+	36		FEL105 42+	42								
		3.00	C	7.00	21.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096698	PATIL YASH UMESH SHOBHANA 2023016402070991 (36)Karjat-(780)	58651 42+	14+	56		FEC101 20+	20			58652 24+	12+	36		FEL101 20+	20		58655 24+	10+	34		FEL102 20+	20		18.00 123.00		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.83 --
		58653 58	13+	71		FEL103 18+	36			58654 33+	14+	47		FEL104 18+	36		FEL105 42+	42								
		3.00	B	8.00	24.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096699	ARYAN SINGH NEETU 2023016402089133 (36)Karjat-(780)	58651 32+	17+	49		FEC101 --	20+	20		58652 28+	13+	41		FEL101 --	19+	19		58655 24+	11+	35		FEL102 --	19+	19	18.00	--			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	--	--		
		58653 AA	10+	10		FEL103 --	19+	37		58654 39+	12+	51		FEL104 --	19+	37		FEL105 --	42+	42									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096700	SONAWANE SIDDHARTH SANDEEP RESHMA 2022016402533605 (36)Karjat-(780)	58651 51+	13+	64		FEC101 --	14+	14		58652 7F	11+	18		FEL101 --	16+	16		58655 13F	11+	24		FEL102 --	16+	16	18.00	--			
		3.00	C	7.00	21.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	--	--		
		58653 12F	16+	28		FEL103 --	16+	34		58654 12F	14+	26		FEL104 --	17+	33		FEL105 --	39+	39									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096701	KHAN ABDULRAHIM ABDULKAYUM FATIMA 2023016402121365 (36)Karjat-(857)	58651 33+	14+	47		FEC101 --	20+	20		58652 24+	7+	31		FEL101 --	21+	21		58655 34+	13+	47		FEL102 --	21+	21	18.00	123.00			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	6.83	--		
		58653 41	9+	50		FEL103 --	20+	41		58654 34+	18+	52		FEL104 --	24+	45		FEL105 --	42+	42									
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096702	/ AMISHA VILAS MAGAR VASUDHA 2023016402121373 (36)Karjat-(857)	58651 16F	9+	25		FEC101 19+	19			58652 24+	9+	33		FEL101 18+	18		58655 24+	7+	31		FEL102 19+	19			18.00 --	
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 32+	9+	41		FEL103 20+	39			58654 38E	18+	56		FEL104 23+	44		FEL105 44+	44								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096703	KHAN MOHAMMED OWAIS RAZA MOHAMMED AHMED - TARANNUM KHAN 2023016402119591 (36)Karjat-(857)	58651 36+	14+	50		FEC101 16+	16			58652 29+	7+	36		FEL101 17+	17		58655 24+	10+	34		FEL102 16+	16			18.00 110.00	
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	6.11 --
		58653 32+	12+	44		FEL103 19+	37			58654 39	18+	57		FEL104 20+	42		FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096704	PATIL HARSHVARDHAN VIOD NANDA 2023016402082141 (36)Karjat-(857)	58651 37+	9+	46		FEC101 17+	17			58652 28	7+	35		FEL101 20+	20		58655 26+	7+	33		FEL102 16+	16			18.00 104.50	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.81 --
		58653 32+	12+	44		FEL103 17+	33			58654 38+	14+	52		FEL104 19+	39		FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096705	/ RAUT PRANITA RAGHUNATH UJJWALA 2023016402120435 (36)Karjat-(857)	58651 41+	13+	54	54	FEC101 --	24+	24	24	58652 34	6+	40	40	FEL101 --	21+	21	21	58655 24+	9+	33	33	FEL102 --	20+	20	20	Successful 18.00 119.00 6.61 --
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.61 --
		58653 38+	8+	46	46	FEL103 --	19+	36	36	58654 32	19+	51	51	FEL104 --	24+	43	43	FEL105 --	45+	45	45					
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096706	/ SHAHANE VAISHNAVEE PRAVIN JAYASHREE 2023016402121423 (36)Karjat-(857)	58651 32+	12+	44	44	FEC101 --	23+	23	23	58652 39	6+	45	45	FEL101 --	21+	21	21	58655 24+	12+	36	36	FEL102 --	21+	21	21	Successful 18.00 113.00 6.28 --
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.28 --
		58653 32+	10+	42	42	FEL103 --	20+	40	40	58654 32+	17+	49	49	FEL104 --	23+	43	43	FEL105 --	43+	43	43					
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096707	TAK SHRAVAN RAJMAL JAGRUTI 2023016402119567 (36)Karjat-(857)	58651 32+	15+	47	47	FEC101 --	21+	21	21	58652 31	6+	37	37	FEL101 --	21+	21	21	58655 24+	12+	36	36	FEL102 --	21+	21	21	Successful 18.00 110.00 6.11 --
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.11 --
		58653 33+	12+	45	45	FEL103 --	19+	37	37	58654 32+	8+	40	40	FEL104 --	23+	45	45	FEL105 --	41+	41	41					
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096708	CHAD HARISINGH BALDEVSINGH RAMADEVI 2023016402234711 (47)Bhayandar-(890)	58651 33+	12+	45		FEC101 15+	15			58652 25+	8+	33		FEL101 17+	20+	20		58655 31+	6+	37		FEL102 17+	17		18.00	--			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	--	--		
		58653 32E	11+	43		FEL103 11+	21			58654 28F	14+	42		FEL104 17+	32			FEL105 31+	31										
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096709	DAPHALE AKANKSHA NARESH TRUPTI 2023016402233754 (47)Bhayandar-(890)	58651 38+	11+	49		FEC101 20+	20			58652 24+	8+	32		FEL101 23+	23		58655 41+	9+	50		FEL102 21+	21		18.00	--				
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	--	--		
		58653 28F	11+	39		FEL103 21+	34			58654 36+	11+	47		FEL104 20+	39		FEL105 36+	36											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096710	GUPTA RAJ RAMA MITHILESH 2023016402229315 (47)Bhayandar-(890)	58651 33E	15+	48		FEC101 20+	20			58652 12F	6+	18		FEL101 16+	16		58655 24+	8+	32		FEL102 19+	19		18.00	--				
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	--	--		
		58653 32+	8+	40		FEL103 11+	23			58654 32+	9+	41		FEL104 12+	30		FEL105 21+	21											
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096711	JADHAV PAWAN SUBHASH GANGABAI 2023016402229571 (47)Bhayandar-(890)	58651 32+	9+	41		FEC101 17+	17		58652 7F	10E	17		FEL101 19+	19		58655 24+	6+	30		FEL102 19+	19		18.00	--		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 14F	8+	22		FEL103 14+	24		58654 9F	17+	26		FEL104 13+	28		FEL105 35+	35									
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096712	KHARATE VIVEK VINOD YOGITA 2023016402231241 (47)Bhayandar-(890)	58651 32+	8+	40		FEC101 20+	20		58652 20F	6+	26		FEL101 20+	20		58655 28+	6+	34		FEL102 20+	20		18.00	--		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 20F	8+	28		FEL103 13+	28		58654 32E	16+	48		FEL104 19+	34		FEL105 33+	33									
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096713	KHARWAR VINAY SUSHIL MEENA 2023016402233932 (47)Bhayandar-(890)	58651 42+	15+	57		FEC101 20+	20		58652 11F	6+	17		FEL101 20+	20		58655 24+	6+	30		FEL102 19+	19		18.00	--		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 36+	12+	48		FEL103 18+	34		58654 32+	14+	46		FEL104 19+	35		FEL105 38+	38									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096714	KIRVE SHREYASH PRAKASH PRANITA 2023016402230117 (47)Bhayandar-(890)	58651 32+	12+	44		FEC101 11+	11			58652 24+	7+	31		FEL101 19+	20		58655 25+	6+	31		FEL102 19+	19			18.00 --	
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 13F	8+	21		FEL103 17+	29			58654 6F	8+	14		FEL104 21+	35		FEL105 34+	34								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096715	MAURYA JATIN JAYPRAKASH ASHA 2023016402230253 (47)Bhayandar-(890)	58651 21F	8+	29		FEC101 10+	10			58652 3F	6+	9		FEL101 11+	11		58655 24+	6+	30		FEL102 21+	21			18.00 --	
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 17F	10+	27		FEL103 17+	29			58654 22F	13E	35		FEL104 20+	36		FEL105 34+	34								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096716	/ MISHRA EKTA ANUP ANITA 2023016402229981 (47)Bhayandar-(890)	58651 23F	8+	31		FEC101 14+	14			58652 10F	6+	16		FEL101 19+	19		58655 25+	6+	31		FEL102 18+	18			18.00 --	
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 15F	10+	25		FEL103 10+	20			58654 32+	10+	42		FEL104 16+	36		FEL105 21+	21								
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096717	MISHRA MANAS SANJAY SADHANA 2023016402234347 (47)Bhayandar-(890)	58651 32+	9+	41		FEC101 --	20+	20		58652 16F	9+	25		FEL101 --	20+	20		58655 24E	6+	30		FEL102 --	19+	19	18.00 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 32E	12+	44		FEL103 --	15+	27		58654 32+	13+	45		FEL104 --	18+	33		FEL105 --	29+	29						
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096718	PANDEY DEVANSH ANIL KAMINI 2023016402234823 (47)Bhayandar-(890)	58651 32E	8+	40		FEC101 --	18+	18		58652 2F	8+	10		FEL101 --	12+	12		58655 11F	6+	17		FEL102 --	18+	18	18.00 --	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	E	5.00	2.50	2.00	F	0.00	0.00	0.50	B	8.00	4.00	-- --
		58653 32+	12+	44		FEL103 --	19+	31		58654 18F	9+	27		FEL104 --	20+	35		FEL105 --	22+	22						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096719	PANDEY DOLLY SUNITKUMAR KUSUM 2023016402234026 (47)Bhayandar-(890)	58651 32+	11+	43		FEC101 --	14+	14		58652 14F	6+	20		FEL101 --	14+	14		58655 29+	6+	35		FEL102 --	17+	17	18.00 --	
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	D	6.00	3.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --
		58653 32+	13+	45		FEL103 --	13+	25		58654 32+	9+	41		FEL104 --	17+	33		FEL105 --	21+	21						
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096720	PARE LOKESH SANJAY RATNA 2023016402230083 (47)Bhayandar-(890)	58651 33+	8+	41		FEC101 12+	12		58652 24+	7+	31		FEL101 20+	20		58655 24+	7+	31		FEL102 18+	18		18.00	--					
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	--			
		58653 17F	10+	27		FEL103 19+	30		58654 32+	9+	41		FEL104 21+	40		FEL105 32+	32												
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096721	/ PATIL MANSWI PRAMOD JYOTI 2022016402215902 (47)Bhayandar-(890)	58651 41	13+	54		FEC101 11+	11		58652 24+	10+	34		FEL101 23+	23		58655 31+	6+	37		FEL102 21+	21		18.00	108.00					
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.00	--		
		58653 32+	16+	48		FEL103 17+	38		58654 32+	10+	42		FEL104 19+	41		FEL105 43+	43												
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096722	PRASAD YOGESH PAPPU SARITADEVI 2023016402231747 (47)Bhayandar-(890)	58651 36	8+	44		FEC101 19+	19		58652 24+	6+	30		FEL101 12+	12		58655 32+	6+	38		FEL102 20+	20		18.00	97.50					
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.42	--		
		58653 32+	8+	40		FEL103 19+	33		58654 38+	9+	47		FEL104 17+	33		FEL105 37+	37												
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096723	RATHOD MOHIT SHANKARRAO NIRMALA 2023016402231314 (47)Bhayandar-(890)	58651 38+	8+	46		FEC101 18+	18			58652 24+	8+	32		FEL101 18+	18		58655 24+	10+	34		FEL102 19+	19		18.00	101.50	5.64	--		
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50				
		58653 32+	11+	43		FEL103 18+	32			58654 43	10+	53		FEL104 18+	37		FEL105 34+	34											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096724	SAKPAL SHREYAS RAMCHANDRA HEMLATA 202301640228447 (47)Bhayandar-(890)	58651 AA	8+	8		FEC101 13+	13			58652 24+	6+	30		FEL101 19+	19		58655 24+	6+	30		FEL102 18+	18		18.00	--	--	--		
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00				
		58653 AA	16+	16		FEL103 10+	20			58654 AA	8+	8		FEL104 18+	33		FEL105 22+	22											
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096725	SANAP TANMAY SHARAD ASHA 2023016402231612 (47)Bhayandar-(890)	58651 40+	9+	49		FEC101 14+	14			58652 24+	6+	30		FEL101 20+	20		58655 34E	7+	41		FEL102 19+	19		18.00	--	--	--		
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50				
		58653 13F	11+	24		FEL103 19+	31			58654 21F	9+	30		FEL104 17+	32		FEL105 32+	32											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096726	/ SAYYED SIMRAN ABDUL SATTAR AYESHA 2023016402233626 (47)Bhayandar-(890)	58651 36+	9+	45		FEC101 14+	14			58652 24+	8+	32		FEL101 19+	19		58655 27+	10+	37		FEL102 21+	21		Successful 18.00 92.50			
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.14 --	
		58653 32	12+	44		FEL103 13+	23			58654 32+	8+	40		FEL104 20+	36		FEL105 33+	33									
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096727	SHARMA PRINCE JITENDRA RINKU 202301640228416 (47)Bhayandar-(890)	58651 32	11+	43		FEC101 20+	20			58652 24+	8+	32		FEL101 23+	23		58655 24+	7+	31		FEL102 21+	21		Successful 18.00 99.00			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.50 --	
		58653 32+	8+	40		FEL103 18+	34			58654 35+	10+	45		FEL104 18+	36		FEL105 39+	39									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096728	SHARMA SHUBHAM MANOJ LAXMI 2023016402234807 (47)Bhayandar-(890)	58651 32E	8+	40		FEC101 15+	15			58652 29+	10+	39		FEL101 22+	22		58655 24+	6+	30		FEL102 20+	20		Unsuccessful 18.00 --			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --	
		58653 36E	14+	50		FEL103 18+	33			58654 27F	9+	36		FEL104 19+	37		FEL105 35+	35									
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096729	SINGH RAJ DIGVIJAY MALA 2023016402235262 (47)Bhayandar-(890)	58651 44+	16+	60	1.00	FEC101 19+	19	24+	6+	30	1.00	FEL101 11+	11	27E	11+	38	1.00	FEL102 21+	21	18.00	--			Unsuccessful		
		3.00	C	7.00	21.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40	1.00	FEL103 21+	41	28F	11+	39	1.00	FEL104 20+	40	1.00	FEL105 32+	32	1.00									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	4.00	0.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096730	THAKUR KRISHNA NIRAJ REKHA 2023016402234912 (47)Bhayandar-(890)	58651 52+	10+	62	1.00	FEC101 17+	17	32	6+	38	1.00	FEL101 19+	19	30+	6+	36	1.00	FEL102 20+	20	18.00	109.50			Successful		
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.08 --
		58653 32+	8+	40	1.00	FEL103 21+	43	32+	8+	40	1.00	FEL104 21+	41	1.00	FEL105 28+	28	1.00									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	D	6.00	6.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096731	TIWARI HARSHIT PRABHAT REENA 2023016402234951 (47)Bhayandar-(890)	58651 13F	14+	27	1.00	FEC101 AA	AA	18F	10E	28	1.00	FEL101 10E	10	30E	7+	37	1.00	FEL102 12E	12	18.00	--			Unsuccessful		
		3.00	F	0.00	0.00	1.00	F	0.00	AB	2.00	F	0.00	0.00	0.50	P	4.00	2.00	2.00	E	5.00	10.00	0.50	E	5.00	2.50	-- --
		58653 3F	12E	15	1.00	FEL103 10E	20	21F	14+	35	1.00	FEL104 11E	26	1.00	FEL105 21E	21	1.00									
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096732	TIWARI PRANAV AMRESHCHANDRA PRAMILA 2023016402230102 (47)Bhayandar-(890)	58651 AA	8+	8		FEC101 --	10+	10		58652 AA	7+	7		FEL101 --	17+	17		58655 F	6+	7		FEL102 --	11+	11	18.00	--			
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	P	4.00	2.00	-- --			
		58653 AA	8+	8		FEL103 --	11+	21		58654 AA	8+	8		FEL104 --	16+	28		FEL105 --	28+	28									
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096733	TRIPATHI HARSHIT PRAMODKUMAR SHACHI 2023016402232124 (47)Bhayandar-(890)	58651 32+	12+	44		FEC101 --	13+	13		58652 24+	7+	31		FEL101 --	20+	20		58655 27+	6+	33		FEL102 --	21+	21	18.00	100.00			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.56 --			
		58653 32+	12+	44		FEL103 --	15+	28		58654 57	9+	66		FEL104 --	22+	42		FEL105 --	32+	32									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096734	UPADHYAY CHIRAG AJAY MEENA 2022016402198194 (47)Bhayandar-(890)	58651 34	13+	47		FEC101 --	15+	15		58652 24+	6+	30		FEL101 --	21+	21		58655 25+	6+	31		FEL102 --	21+	21	18.00	102.00			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.67 --			
		58653 32+	11+	43		FEL103 --	16+	34		58654 38+	8+	46		FEL104 --	21+	41		FEL105 --	43+	43									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096735	AKASH YADAV AJEET MEERA 2023016402228672 (47)Bhayandar-(890)	58651 38+	13+	51	18.00	FEC101 14+	14	14	6.00	58652 24+	7+	31	8.00	FEL101 22+	22	22	5.00	58655 25+	8+	33	8.00	FEL102 20+	20	20	5.00	Successful 18.00 105.00 5.83 --
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	
		58653 35	14+	49	15.00	FEL103 21+	36	36	8.00	58654 32+	13+	45	15.00	FEL104 21+	40	40	10.00	FEL105 34+	34	34	7.00	7.00				
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096736	YADAV NIKHIL RAJITRAM MEENA YADAV 2023016402229555 (47)Bhayandar-(890)	58651 32+	15+	47	15.00	FEC101 13+	13	13	6.00	58652 7F	6+	13	0.00	FEL101 19+	19	19	4.50	58655 7F	6+	13	0.00	FEL102 15+	15	15	3.50	Unsuccessful 18.00 -- -- --
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	
		58653 5F	14E	19	0.00	FEL103 15+	26	26	6.00	58654 10F	8+	18	0.00	FEL104 14+	25	25	6.00	FEL105 23+	23	23	5.00	5.00				
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	E	5.00	5.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096737	YADAV NITESH RAMHRIDAY VIMALA DEVI 2023016402231701 (47)Bhayandar-(890)	58651 40+	16+	56	18.00	FEC101 10+	10	10	4.00	58652 24+	10E	34	10.00	FEL101 10+	10	10	2.00	58655 1F	6+	7	0.00	FEL102 17+	17	17	3.50	Unsuccessful 18.00 -- -- --
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	2.00	E	5.00	10.00	0.50	P	4.00	2.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	
		58653 25F	8+	33	10+	FEL103 10+	20	20	4.00	58654 13F	17+	30	0.00	FEL104 14+	25	25	6.00	FEL105 26+	26	26	6.00	6.00				
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE					
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096738	YADAV RITHIK SATISH NILAM 2023016402233963 (47)Bhayandar-(890)	58651 46+	11+	57	57	FEC101 19+	19	19	19	58652 25+	6+	31	31	FEL101 21+	21	21	21	21	21	58655 25+	6+	31	31	FEL102 18+	18	18	18	18.00	106.00	5.89	--
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.89	--				
		58653 49	8+	57	57	FEL103 16+	33	33	33	58654 33+	9+	42	42	FEL104 22+	41	41	41	41	41	FEL105 33+	33	33	33	33	33	33	33	33	33	33	
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	7.00	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --				FINAL GRADE --				FINAL GRADE --													
7096739	YADAV SHREYA RANGBHADUR SUNITA 2023016402230237 (47)Bhayandar-(890)	58651 32+	13+	45	45	FEC101 17+	17	17	17	58652 26+	7+	33	33	FEL101 20+	20	20	20	20	20	58655 29+	7+	36	36	FEL102 20+	20	20	20	18.00	105.00	5.83	--
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.83	--				
		58653 46	10+	56	56	FEL103 16+	36	36	36	58654 32+	10+	42	42	FEL104 23+	44	44	44	44	44	FEL105 33+	33	33	33	33	33	33	33	33	33	33	33
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	7.00	7.00
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --				FINAL GRADE --				FINAL GRADE --													
7096740	JERIN ABRAHQM RACHEL 2022016402239243 (76)Navi Mumbai-(426)	58651 0F	8+	8	8	FEC101 14+	14	14	14	58652 0F	6+	6	6	FEL101 16+	16	16	16	16	16	58655 0F	9+	9	9	FEL102 14+	14	14	14	18.00	--	--	--
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	D	6.00	3.00	--	--	--	--	--	--
		58653 7F	AA	7	7	FEL103 11+	25	25	25	58654 8F	11+	19	19	FEL104 16+	34	34	34	34	34	FEL105 36+	36	36	36	36	36	36	36	36	36	36	36
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	8.00	8.00
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --				FINAL GRADE --				FINAL GRADE --													

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096741	ERIC ALHAT SHILPA 2022016402245077 (76)Navi Mumbai-(426)	58651 32E	10+	42		FEC101 10+	10			58652 24+	6+	30		FEL101 15+	15		58655 24+	6+	30		FEL102 10+	10			18.00 --	
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	-- --
		58653 32E	8+	40		FEL103 10+	24			58654 27F	8+	35		FEL104 14+	31		FEL105 38+	38								
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096742	PRANIT GASPAS BANSODE MANISHA 2022016402234137 (76)Navi Mumbai-(426)	58651 32+	9+	41		FEC101 11+	11			58652 25+	6+	31		FEL101 20+	20		58655 24+	6+	30		FEL102 13+	13			18.00 94.00	
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	5.22 --
		58653 41	11+	52		FEL103 13+	27			58654 36+	8+	44		FEL104 18+	35		FEL105 44+	44								
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096743	/ BERNARDINE ALLAN D'SOUZA VARSHA 2022016402229136 (76)Navi Mumbai-(426)	58651 24F	9+	33		FEC101 13+	13			58652 24+	7+	31		FEL101 21+	21		58655 24+	6+	30		FEL102 13+	13			18.00 --	
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --
		58653 40+	14+	54		FEL103 16+	34			58654 44+	8+	52		FEL104 20+	40		FEL105 42+	42								
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096744	KAMBLE JESHER SAMUEL ARCHANA 2023016402143716 (76)Navi Mumbai-(426)	58651 24F	11+	35		FEC101 11+	11			58652 24+	8+	32		FEL101 11+	11		58655 28+	10+	38		FEL102 11+	11			Unsuccessful 18.00 --				
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	D	6.00	12.00	0.50	P	4.00	2.00	-- --			
		58653 32E	10+	42		FEL103 10+	27			58654 18F	15+	33		FEL104 13+	28		FEL105 23+	23											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	E	5.00	5.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096745	MISHRA DEVENDRA MAHENDRA POONAM 2022016402246815 (76)Navi Mumbai-(426)	58651 32+	8+	40		FEC101 14+	14			58652 24+	6+	30		FEL101 21+	21		58655 24+	6+	30		FEL102 15+	15			Successful 18.00 100.50				
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.58 --			
		58653 36+	13+	49		FEL103 15+	28			58654 50	10+	60		FEL104 19+	35		FEL105 37+	37											
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096746	PAKHARE AYUSH SANJAY SUREKHA 2022016402229113 (76)Navi Mumbai-(426)	58651 32+	11+	43		FEC101 10+	10			58652 30E	8+	38		FEL101 10+	10		58655 29+	6+	35		FEL102 10+	10			Unsuccessful 18.00 --				
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	D	6.00	12.00	0.50	P	4.00	2.00	2.00	E	5.00	10.00	0.50	P	4.00	2.00	-- --			
		58653 26F	11+	37		FEL103 11+	23			58654 33+	8+	41		FEL104 13+	28		FEL105 33+	33											
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096747	ADITYA SANJAY PAWAR POOJA 2022016402245046 (76)Navi Mumbai-(426)	58651 32	9+	41		FEC101 15+	15			58652 32+	7+	39		FEL101 23+	23		58655 42+	6+	48		FEL102 18+	18		18.00	114.00	Successful			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	B	8.00	4.00	6.33	--		
		58653 37+	13+	50		FEL103 17+	35			58654 39+	9+	48		FEL104 19+	39		FEL105 43+	43											
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096748	CHE TAN SANJAY SANAS ANJANA 2022016402248362 (76)Navi Mumbai-(426)	58651 32+	8+	40		FEC101 15+	15			58652 24+	6+	30		FEL101 19+	19		58655 24+	6+	30		FEL102 16+	16		18.00	--	Unsuccessful			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--		
		58653 17F	12+	29		FEL103 14+	31			58654 36+	8+	44		FEL104 19+	38		FEL105 41+	41											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096749	AYAAN MOOSA THAKUR ALMAS 2023016402143546 (76)Navi Mumbai-(426)	58651 AA	10+	10		FEC101 11+	11			58652 AA	6+	6		FEL101 16+	16		58655 24+	7+	31		FEL102 15+	15		18.00	--	ABS			
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--		
		58653 AA	11+	11		FEL103 13+	27			58654 AA	13+	13		FEL104 14+	27		FEL105 24+	24											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	E	5.00	5.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096750	BELWATKAR SAMRUDDHI SANTOSH SUNITA 2023016402505885 (76)Navi Mumbai-(428)	58651 33+	17+	50	5	FEC101 --	21+	21	2	58652 28	11+	39	3	FEL101 --	23+	23	2	58655 28+	12+	40	4	FEL102 --	25+	25	2	18.00 123.00			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.83 --			
		58653 32+	17+	49	5	FEL103 --	23+	44	3	58654 38+	15+	53	3	FEL104 --	23+	42	2	FEL105 --	37+	37	3								
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096751	BHALEKAR SMRITI SANTOSH SUREKHA 2023016400721581 (76)Navi Mumbai-(428)	58651 32+	10+	42	5	FEC101 --	11+	11	2	58652 26+	9+	35	3	FEL101 --	12+	12	2	58655 24+	6+	30	3	FEL102 --	20+	20	2	18.00 101.50			
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	E	5.00	10.00	0.50	E	5.00	2.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.64 --			
		58653 39+	10+	49	5	FEL103 --	21+	41	3	58654 48	13+	61	3	FEL104 --	17+	38	2	FEL105 --	23+	23	2								
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	C	7.00	21.00	1.00	A	9.00	9.00	1.00	E	5.00	5.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096752	BHAT SRINIVAS GANESH RAJESHWARI 2023016400722487 (76)Navi Mumbai-(428)	58651 34+	13+	47	5	FEC101 --	17+	17	2	58652 26+	6+	32	3	FEL101 --	21+	21	2	58655 24+	10+	34	3	FEL102 --	24+	24	2	18.00 --			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 18F	14+	32	5	FEL103 --	23+	41	3	58654 32+	8+	40	3	FEL104 --	23+	44	2	FEL105 --	36+	36	3								
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096753	CHAUDHARI ADITYA ASHISH DIPTI 2022016402117962 (76)Navi Mumbai-(428)	58651 32+	8+	40		FEC101 15+	15			58652 24+	6+	30		FEL101 20+	20		58655 24+	9+	33		FEL102 23+	23		18.00	--				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 26F	13+	39		FEL103 19+	38			58654 32+	11+	43		FEL104 24+	43		FEL105 40+	40											
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096754	CHAUDHARI SOHAM DNYANESHWAR KAVITA 2022016402096194 (76)Navi Mumbai-(428)	58651 18F	12+	30		FEC101 17+	17			58652 24+	6+	30		FEL101 21+	21		58655 25+	8+	33		FEL102 23+	23		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 21F	9+	30		FEL103 21+	43			58654 35+	14+	49		FEL104 24+	46		FEL105 40+	40											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096755	ARYAN RATANSING CHAVAN KAVITA 2023016400722696 (76)Navi Mumbai-(428)	58651 32+	17+	49		FEC101 19+	19			58652 33	11+	44		FEL101 22+	22		58655 28+	14+	42		FEL102 24+	24		18.00	123.00				
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.83 --			
		58653 32+	16+	48		FEL103 23+	38			58654 53+	11+	64		FEL104 23+	40		FEL105 40+	40											
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096756	DANGLE JEET SANJAY SEEMA 2023016400722472 (76)Navi Mumbai-(428)	58651 32+	13+	45		FEC101 --	16+	16		58652 26+	10+	36		FEL101 --	21+	21	25	11+	36		FEL102 --	25+	25	18.00	106.00				
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.89	--		
		58653 32+	12+	44		FEL103 --	22+	38		58654 32+	13+	45		FEL104 --	22+	42		FEL105 --	36+	36									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096757	ABHISHEK BAPU DIGHE PADMINI DIGHE 2021016402192335 (76)Navi Mumbai-(428)	58651 43+	12+	55		FEC101 --	17+	17		58652 36+	14+	50		FEL101 --	22+	22	AA	12+	12		FEL102 --	20+	20	18.00	--				
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	--	--		
		58653 64+	18+	82		FEL103 --	21+	39		58654 51+	20+	71		FEL104 --	15+	26		FEL105 --	37+	37									
		3.00	O	10.00	30.00	1.00	A	9.00	9.00	3.00	B	8.00	24.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096758	/ GAVAD KHUSHI VIJAY PRATIBHA 2023016400723371 (76)Navi Mumbai-(428)	58651 39+	11+	50		FEC101 --	19+	19		58652 24+	7+	31		FEL101 --	19+	19	26E	13+	39		FEL102 --	25+	25	18.00	--				
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	--	--		
		58653 23F	11+	34		FEL103 --	22+	38		58654 32E	9+	41		FEL104 --	23+	42		FEL105 --	35+	35									
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096759	ISHAN S INGOLE KANCHAN 2023016402505324 (76)Navi Mumbai-(428)	58651 40+	9+	49		FEC101 15+	15			58652 24+	6+	30		FEL101 20+	20		58655 30+	6+	36		FEL102 21+	21		18.00	103.00	Successful			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.72	--		
		58653 34	11+	45		FEL103 20+	33			58654 32+	11+	43		FEL104 23+	40		FEL105 39+	39											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096760	ARMAAN JAISINGH BABITA 2023016400720891 (76)Navi Mumbai-(428)	58651 32+	8+	40		FEC101 13+	13			58652 26+	8+	34		FEL101 19+	19		58655 24+	10+	34		FEL102 24+	24		18.00	--	Unsuccessful			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--		
		58653 33E	14+	47		FEL103 21+	35			58654 17F	11+	28		FEL104 23+	38		FEL105 34+	34											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096761	JHA PRANAY VINAY POOJA 2022016402118377 (76)Navi Mumbai-(428)	58651 32+	10+	42		FEC101 14+	14			58652 24+	6+	30		FEL101 21+	21		58655 35+	11+	46		FEL102 24+	24		18.00	--	ABS			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	--	--		
		58653 AA	13+	13		FEL103 20+	42			58654 35+	10+	45		FEL104 23+	45		FEL105 38+	38											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096762	/ KAJALE JANHAVI SANGHAPAL SUREKHA 2023016400721596 (76)Navi Mumbai-(428)	58651 32+	8+	40		FEC101 19+	19			58652 24+	7+	31		FEL101 22+	22		58655 24+	8+	32		FEL102 25+	25		18.00	109.00	Successful			
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.06	--		
		58653 44	13+	57		FEL103 24+	46			58654 34+	12+	46		FEL104 23+	39		FEL105 41+	41											
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096763	KALE GAURAV BHAIRAVNATH ULPA 2023016402505692 (76)Navi Mumbai-(428)	58651 40+	12+	52		FEC101 16+	16			58652 25+	11+	36		FEL101 22+	22		58655 31+	7+	38		FEL102 22+	22		18.00	117.00	Successful			
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.50	--		
		58653 33	14+	47		FEL103 24+	47			58654 33+	13+	46		FEL104 23+	42		FEL105 41+	41											
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096764	/ KAMBLI PURVA VINAY VEDIKA 2023016400722263 (76)Navi Mumbai-(428)	58651 21F	9+	30		FEC101 16+	16			58652 24+	6+	30		FEL101 18+	18		58655 30+	7+	37		FEL102 22+	22		18.00	--	Unsuccessful			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--		
		58653 32+	10+	42		FEL103 20+	43			58654 10F	8+	18		FEL104 16+	37		FEL105 31+	31											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096765	MORE MANOJ BABAJI LALITA 2023016400721291 (76)Navi Mumbai-(428)	58651 32+	14+	46	100	FEC101 14+	14	14	100	58652 24+	7+	31	100	FEL101 19+	19	19	100	58655 24+	9+	33	100	FEL102 24+	24	24	100	Successful 18.00 103.50 5.75 --			
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00				
		58653 54	9+	63	100	FEL103 17+	27	27	100	58654 32+	8+	40	100	FEL104 22+	40	40	100	FEL105 35+	35	35	100								
		3.00	C	7.00	21.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096766	CHETAN SACHINDRA PATIL KAVITA 2022016402117312 (76)Navi Mumbai-(428)	58651 16F	13+	29	100	FEC101 14+	14	14	100	58652 30+	9+	39	100	FEL101 21+	21	21	100	58655 24+	7+	31	100	FEL102 23+	23	23	100	Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 23F	13+	36	100	FEL103 21+	34	34	100	58654 32+	10+	42	100	FEL104 23+	36	36	100	FEL105 38+	38	38	100								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096767	PATIL DHUVSINGH HITENDRA SAVITA 2023016400722197 (76)Navi Mumbai-(428)	58651 15F	12+	27	100	FEC101 11+	11	11	100	58652 24E	6+	30	100	FEL101 16+	16	16	100	58655 24E	7+	31	100	FEL102 20+	20	20	100	Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32E	8+	40	100	FEL103 14+	26	26	100	58654 14F	8+	22	100	FEL104 16+	33	33	100	FEL105 21+	21	21	100								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096768	PATIL KULDEEP RAHUL ARCHANA 2023016400731896 (76)Navi Mumbai-(428)	58651  AA    3.00 F 	10+	10		FEC101  --    1.00 C 	16+	16		58652  14F    2.00 F 	8+	22		FEL101  --    0.50 O 	22+	22		58655  24E    2.00 P 	7+	31		FEL102  --    0.50 O 	22+	22	Unsuccessful  18.00 --    -- --	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096769	/ PATIL PAYAL RAJESH MINAKSHI 2023016400721774 (76)Navi Mumbai-(428)	58651  32+    3.00 E 	13+	45		FEC101  --    1.00 C 	17+	17		58652  24+    2.00 P 	8+	32		FEL101  --    0.50 O 	21+	21		58655  38+    2.00 C 	9+	47		FEL102  --    0.50 O 	23+	23	Successful  18.00 119.00    6.61 --	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096770	PATIL RUSHIKESH YOGESH SEEMABAI 2022016402118211 (76)Navi Mumbai-(428)	58651  13F    3.00 F 	12+	25		FEC101  --    1.00 B 	18+	18		58652  25+    2.00 E 	9+	34		FEL101  --    0.50 O 	22+	22		58655  30+    2.00 D 	11+	41		FEL102  --    0.50 O 	23+	23	Unsuccessful  18.00 --    -- --	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096771	PATIL YASH DINESH DIPALI 2023016400723003 (76)Navi Mumbai-(428)	58651 32+ 3.00 P	8+ 4.00	40 12.00	4.00	FEC101 16+ 7.00 C	16 7.00	16 7.00	7.00	58652 26E 2.00 P	7+ 4.00	33 8.00	8.00	FEL101 20+ 10.00 O	20 5.00	5.00	5.00	58655 24+ 2.00 P	7+ 4.00	31 8.00	8.00	FEL102 23+ 10.00 O	23 5.00	5.00	5.00	Unsuccessful 18.00 -- -- --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096772	PAWAR SANCHIT DEEPAK PREMA 2022016402116912 (76)Navi Mumbai-(428)	58651 32 3.00 E	15+ 5.00	47 15.00	4.00	FEC101 15+ 7.00 C	15 7.00	15 7.00	7.00	58652 24+ 2.00 P	6+ 4.00	30 8.00	8.00	FEL101 19+ 10.00 A	19 4.50	4.50	4.50	58655 24+ 2.00 E	10+ 5.00	34 10.00	10.00	FEL102 23+ 10.00 O	23 5.00	5.00	5.00	Successful 18.00 98.50 5.47 --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096773	RAJGURU SHIVANI SANTOSH MANISHA 2022016402118594 (76)Navi Mumbai-(428)	58651 4F 3.00 F	12+ 0.00	16 0.00	0.00	FEC101 15+ 7.00 C	15 7.00	15 7.00	7.00	58652 24+ 2.00 P	7+ 4.00	31 8.00	8.00	FEL101 23+ 10.00 O	23 5.00	5.00	5.00	58655 AA 2.00 F	6+ 0.00	6 0.00	0.00	FEL102 23+ 10.00 O	23 5.00	5.00	5.00	Unsuccessful 18.00 -- -- --
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096774	RATHOD HARSHAL KISHOR UMA 2022016402118203 (76)Navi Mumbai-(428)	58651 32+	8+	40		FEC101 --	11+	11		58652 27+	6+	33		FEL101 --	19+	19		58655 24+	11+	35		FEL102 --	23+	23	18.00 --	
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 32+	14+	46		FEL103 --	19+	34		58654 6F	9+	15		FEL104 --	20+	35		FEL105 --	42+	42						
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096775	SAWANT SUYASH SUNIL SHUBHANGI 2022016402117022 (76)Navi Mumbai-(428)	58651 32+	8+	40		FEC101 --	18+	18		58652 24+	7+	31		FEL101 --	21+	21		58655 25+	11+	36		FEL102 --	23+	23	18.00 105.00	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.83 --
		58653 33	14+	47		FEL103 --	20+	35		58654 35+	14+	49		FEL104 --	24+	39		FEL105 --	40+	40						
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096776	SHARMA ALOK JAIPRAKASH DOLLY 2022016402117776 (76)Navi Mumbai-(428)	58651 32+	8+	40		FEC101 --	16+	16		58652 35+	6+	41		FEL101 --	24+	24		58655 24+	11+	35		FEL102 --	24+	24	18.00 102.00	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.67 --
		58653 34+	9+	43		FEL103 --	21+	33		58654 37	11+	48		FEL104 --	22+	34		FEL105 --	43+	43						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 @C:sum of credit points GPA: @CG/@C  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096777	SHEGAONKAR PRATAP RAJENDRA MANISHA 2023016400751301 (76)Navi Mumbai-(428)	58651 32+	8+	40		FEC101 13+	13			58652 24+	8+	32		FEL101 20+	20		58655 24+	7+	31		FEL102 23+	23			Successful 18.00 90.00 5.00 --	
		3.00 P	4.00	12.00	1.00 D	6.00	6.00	2.00 P	4.00	8.00	0.50 O	10.00	5.00	2.00 P	4.00	8.00	0.50 O	10.00	5.00	1.00 C	7.00	7.00	1.00 C	8.00	8.00	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096778	ANSH AJAY SHELAR NEELAM SHELAR 2023016400723235 (76)Navi Mumbai-(428)	58651 35+	8+	43		FEC101 11+	11			58652 24+	10+	34		FEL101 20+	20		58655 13F	6+	19		FEL102 22+	22			Unsuccessful 18.00 -- -- --	
		3.00 P	4.00	12.00	1.00 P	4.00	4.00	2.00 E	5.00	10.00	0.50 O	10.00	5.00	2.00 F	0.00	0.00	0.50 O	10.00	5.00	1.00 F	9.00	9.00	1.00 A	9.00	9.00	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096779	SUSAR SHIVAM RAJU ASHA 2023016400722611 (76)Navi Mumbai-(428)	58651 36	8+	44		FEC101 10+	10			58652 24+	8+	32		FEL101 10+	10		58655 24+	7+	31		FEL102 22+	22			Successful 18.00 86.00 4.78 --	
		3.00 P	4.00	12.00	1.00 P	4.00	4.00	2.00 P	4.00	8.00	0.50 P	4.00	2.00	2.00 P	4.00	8.00	0.50 O	10.00	5.00	1.00 C	7.00	7.00	1.00 B	8.00	8.00	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096780	THOOL ABHISHEK ATUL VIDESHA 2023016400723251 (76)Navi Mumbai-(428)	58651 33	10+	43		FEC101 13+	13			58652 24+	7+	31		FEL101 17+	17		58655 24+	9+	33		FEL102 23+	23		18.00	93.50	Successful			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.19	--		
		58653 32+	10+	42		FEL103 14+	32			58654 32+	8+	40		FEL104 20+	40		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096781	UGHADE GOURI SHAILESH ARCHANA 2023016400723301 (76)Navi Mumbai-(428)	58651 9F	11+	20		FEC101 17+	17			58652 24+	6+	30		FEL101 23+	23		58655 24+	9+	33		FEL102 24+	24		18.00	--	Unsuccessful			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 12F	8+	20		FEL103 20+	40			58654 15F	11+	26		FEL104 23+	46		FEL105 42+	42											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096782	WORLIKAR ABHIJEET ATUL SARITA WORLIKAR 2023016400722054 (76)Navi Mumbai-(428)	58651 32+	8+	40		FEC101 13+	13			58652 24+	6+	30		FEL101 19+	19		58655 26+	8+	34		FEL102 23+	23		18.00	99.50	Successful			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.53	--		
		58653 32+	11+	43		FEL103 17+	32			58654 41	10+	51		FEL104 21+	39		FEL105 37+	37											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096783	AKHIL MOHAMED ISMAIL BADRUNISHA 2023016400950942 (76)Navi Mumbai-(690)	58651 32E	8+	40		FEC101 15+	15		58652 27+	7+	34		FEL101 16+	16		58655 25+	7+	32		FEL102 16+	16		18.00	--		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 32+	8+	40		FEL103 19+	31		58654 19F	11+	30		FEL104 19+	34		FEL105 45+	45									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096784	THAUFEEQ AHAMED MUNNAWAR HUSSAIN - RAHILA 2022016402075542 (76)Navi Mumbai-(690)	58651 42	17+	59		FEC101 20+	20		58652 26+	7+	33		FEL101 20+	20		58655 26+	9+	35		FEL102 21+	21		18.00	108.00		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.00 --
		58653 32	12+	44		FEL103 19+	33		58654 32+	13+	45		FEL104 22+	40		FEL105 36+	36									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096785	MOHAMMED AZAAN ANSARI SHAMA 2023016400948912 (76)Navi Mumbai-(690)	58651 34E	8+	42		FEC101 10+	10		58652 17F	8+	25		FEL101 10+	10		58655 24+	8+	32		FEL102 12+	12		18.00	--		
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	-- --
		58653 19F	10+	29		FEL103 10+	21		58654 32+	15+	47		FEL104 13+	25		FEL105 24+	24									
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	E	5.00	5.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096786	/ HEDAU SANJANA DIPAK SHEELA 2023016400949591 (76)Navi Mumbai-(690)	58651 33+	AA	33		FEC101 19+	19			58652 AA	AA	AA		FEL101 19+	19		58655 AA	AA	AA		FEL102 17+	17		18.00	--	
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	F	0.00	AB	0.50	A	9.00	4.50	2.00	F	0.00	AB	0.50	C	7.00	3.50	-- --
		58653 AA	AA	AA		FEL103 20+	36			58654 AA	8+	8		FEL104 19+	33		FEL105 38+	38								
		3.00	F	0.00	AB	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096787	/ KONAR PRIYADHARSHINI MUTHUSAMY - KUPPU 2022016402073334 (76)Navi Mumbai-(690)	58651 32+	8+	40		FEC101 21+	21			58652 AA	6+	6		FEL101 20+	20		58655 24+	7+	31		FEL102 22+	22		18.00	--	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32+	10+	42		FEL103 18+	34			58654 49+	41+	53		FEL104 19+	37		FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096788	/ NADAR RAGASATHYA MURUGESAN AMUTHA 2023016400946766 (76)Navi Mumbai-(690)	58651 37	10+	47		FEC101 20+	20			58652 26+	6+	32		FEL101 19+	19		58655 25+	6+	31		FEL102 18+	18		18.00	101.50	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.64 --
		58653 36	8+	44		FEL103 19+	34			58654 37	8+	45		FEL104 21+	37		FEL105 46+	46								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096789	PILLAI ASHOK RAJA ARPUTHAM JYOTHI LAKSHMI 2023016400949695 (76)Navi Mumbai-(690)	58651 32+	10+	42		FEC101 --	21+	21		58652 8F	7+	15		FEL101 --	19+	19		58655 AA	7+	7		FEL102 --	20+	20	Unsuccessful 18.00 --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		58653 2F	12+	14		FEL103 --	19+	36		58654 36+	8+	44		FEL104 --	18+	35		FEL105 --	45+	45									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096790	PILLAI KARTHIKRAM MUTHURAMAN ANANTHI 2023016400949931 (76)Navi Mumbai-(690)	58651 32+	10+	42		FEC101 --	21+	21		58652 16F	6+	22		FEL101 --	19+	19		58655 26+	6+	32		FEL102 --	21+	21	Unsuccessful 18.00 --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 34E	9+	43		FEL103 --	21+	36		58654 32+	11+	43		FEL104 --	21+	37		FEL105 --	46+	46									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096791	SUBRAMANI SENDHIL PILLAI BINDU 2023016400946677 (76)Navi Mumbai-(690)	58651 36E	10+	46		FEC101 --	18+	18		58652 24+	6+	30		FEL101 --	20+	20		58655 24+	6+	30		FEL102 --	18+	18	Unsuccessful 18.00 --				
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 38+	8+	46		FEL103 --	19+	34		58654 20F	8+	28		FEL104 --	20+	34		FEL105 --	42+	42									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096792	/ VIDHYA SUNDARVEL PILLAI KAVITHA 2023016400946194 (76)Navi Mumbai-(690)	58651 32E	9+	41		FEC101 23+	23			58652 24+	6+	30		FEL101 19+	19		58655 26+	7+	33		FEL102 19+	19		18.00	--				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --			
		58653 18F	9+	27		FEL103 19+	33			58654 39+	9+	48		FEL104 20+	33		FEL105 42+	42											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096793	RAHUL PRASAD KANNAN CHANDRA PUSHPAM 2023016400946387 (76)Navi Mumbai-(690)	58651 17F	11+	28		FEC101 21+	21			58652 24+	6+	30		FEL101 17+	17		58655 29E	10+	39		FEL102 15+	15		18.00	--				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	C	7.00	3.50	-- --			
		58653 32+	16+	48		FEL103 19+	37			58654 32E	8+	40		FEL104 18+	34		FEL105 40+	40											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096794	RATWADKAR KAUSTUBH HEMANT JYOTHSNA 2022016402075302 (76)Navi Mumbai-(690)	58651 39+	12+	51		FEC101 16+	16			58652 18F	6+	24		FEL101 20+	20		58655 27+	6+	33		FEL102 16+	16		18.00	--				
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 40+	11+	51		FEL103 17+	32			58654 32E	9+	41		FEL104 22+	43		FEL105 39+	39											
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 @C:sum of credit points GPA: @CG/@C  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096795	RUMDE BRIJESH BHOLENATH GEETA 2023016400948266 (76)Navi Mumbai-(690)	58651 10F	3F	13	10F	19+	19	19	4F	6+	10	10F	19+	19	25+	6+	31	10F	17+	17	18.00	--	--	Unsuccessful		
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 13F	9+	22	58654 22F	8+	30	30	58655 25+	6+	31	58656 26+	7+	33	58657 27+	8+	34	58658 28+	9+	35	58659 29+	10+	36	58660 30+	36	
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096796	THEVAR SUDARSHAN MUTHURAMALINGAM - LAXMIVADIVU 2022016402077444 (76)Navi Mumbai-(690)	58651 4F	9+	13	58652 24+	6+	30	30	58655 25+	6+	31	58656 26+	7+	33	58657 27+	8+	34	58658 28+	9+	35	58659 29+	10+	36	58660 30+	36	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	-- --
		58653 40+	9+	49	58654 32+	8+	40	40	58655 25+	6+	31	58656 26+	7+	33	58657 27+	8+	34	58658 28+	9+	35	58659 29+	10+	36	58660 30+	36	
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096797	UTEKAR TANUSH GOVIND SUREKHA 2022016402075492 (76)Navi Mumbai-(690)	58651 35+	9+	44	58652 26+	7+	33	33	58655 25+	6+	31	58656 26+	7+	33	58657 27+	8+	34	58658 28+	9+	35	58659 29+	10+	36	58660 30+	36	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 37+	9+	46	58654 32+	11+	43	43	58655 25+	6+	31	58656 26+	7+	33	58657 27+	8+	34	58658 28+	9+	35	58659 29+	10+	36	58660 30+	36	
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00





University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096801	DABRE VIJAY NIRMALA 2023016401033091 (97)BORIVALI-(531)	58651 33+	10+	43		FEC101 --	21+	21		58652 30	6+	36		FEL101 --	22+	22		58655 24+	6+	30		FEL102 --	19+	19	18.00 106.50	
		3.00 P	4.00	12.00	1.00 O	10.00	10.00	2.00 E	5.00 10.00	0.50 O	10.00	5.00	2.00 P	4.00	8.00	0.50 A	9.00	4.50	5.92	--						
		58653 32+	10+	42		FEL103 --	23+	44		58654 35+	14+	49		FEL104 --	22+	44		FEL105 --	47+	47						
		3.00 P	4.00	12.00	1.00 O	10.00	10.00	3.00 E	5.00 15.00	1.00 O	10.00	10.00	1.00 O	10.00	10.00	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --										
7096802	DAVE DHURV HITESH GAYATRI 2022016402082074 (97)BORIVALI-(531)	58651 28F	11+	39		FEC101 --	18+	18		58652 24+	7+	31		FEL101 --	19+	19		58655 24+	6+	30		FEL102 --	16+	16	18.00 --	
		3.00 F	0.00	0.00	1.00 B	8.00	8.00	2.00 P	4.00 8.00	0.50 A	9.00	4.50	2.00 P	4.00	8.00	0.50 C	7.00	3.50	--	--						
		58653 32+	8+	40		FEL103 --	14+	30		58654 32+	8+	40		FEL104 --	20+	35		FEL105 --	39+	39						
		3.00 P	4.00	12.00	1.00 C	7.00	7.00	3.00 P	4.00 12.00	1.00 B	8.00	8.00	1.00 A	9.00	9.00	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --										
7096803	DBRITTO AARON NIKHIL RENITA 2022016402234114 (97)BORIVALI-(531)	58651 41	13+	54		FEC101 --	18+	18		58652 38+	6+	44		FEL101 --	15+	15		58655 31+	8+	39		FEL102 --	15+	15	18.00 114.00	
		3.00 D	6.00	18.00	1.00 B	8.00	8.00	2.00 D	6.00 12.00	0.50 C	7.00	3.50	2.00 D	6.00	12.00	0.50 C	7.00	3.50	6.33	--						
		58653 36+	11+	47		FEL103 --	14+	26		58654 43+	9+	52		FEL104 --	20+	40		FEL105 --	37+	37						
		3.00 E	5.00	15.00	1.00 D	6.00	6.00	3.00 D	6.00 18.00	1.00 O	10.00	10.00	1.00 B	8.00	8.00	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --										

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096804	DSILVA MARK ANTHONY MAGGIE 2023016401021147 (97)BORIVALI-(531)	58651 35	9+	44		FEC101 11+	11			58652 24+	11+	35		FEL101 17+	17		58655 24+	6+	30		FEL102 11+	11		18.00	91.50	5.08	--		
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00				
		58653 33	8+	41		FEL103 15+	32			58654 36+	10+	46		FEL104 17+	36		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096805	PREET PETER DSILVA NAYANA 2023016401021186 (97)BORIVALI-(531)	58651 19F	12+	31		FEC101 18+	18			58652 24+	10+	34		FEL101 19+	19		58655 28+	6+	34		FEL102 18+	18		18.00	--	--	--		
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00				
		58653 32+	8+	40		FEL103 18+	32			58654 32+	9+	41		FEL104 20+	42		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096806	SLANI LUCAS FERNANDES SILVIRUPA 2023016401020523 (97)BORIVALI-(531)	58651 34+	13+	47		FEC101 22+	22			58652 24+	14+	38		FEL101 21+	21		58655 28+	6+	34		FEL102 20+	20		18.00	124.00	6.89	--		
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00				
		58653 46	11+	57		FEL103 22+	37			58654 45+	15+	60		FEL104 20+	40		FEL105 46+	46											
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096807	/ FERREIRA ALTHIA ATKIN JENNIFER 2023016401021155 (97)BORIVALI-(531)	58651 24F	8+	32		FEC101 --	20+	20		58652 27+	7+	34		FEL101 --	19+	19		58655 24+	7+	31		FEL102 --	17+	17	18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 17F	11+	28		FEL103 --	21+	33		58654 19F	10+	29		FEL104 --	21+	42		FEL105 --	42+	42						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096808	/ MAITHILI MAHESH GHADIGAONKAR - NANDINI 2022016402080493 (97)BORIVALI-(531)	58651 36+	11+	47		FEC101 --	20+	20		58652 11F	6+	17		FEL101 --	22+	22		58655 28+	6+	34		FEL102 --	19+	19	18.00 --	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --
		58653 33+	12+	45		FEL103 --	21+	37		58654 33+	11+	44		FEL104 --	23+	42		FEL105 --	38+	38						
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096809	GONSALVES ELRIC HARIK SABINA 2023016401040616 (97)BORIVALI-(531)	58651 36+	8+	44		FEC101 --	21+	21		58652 25+	6+	31		FEL101 --	16+	16		58655 25+	10+	35		FEL102 --	18+	18	18.00 110.50	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00	6.14 --
		58653 47	11+	58		FEL103 --	21+	42		58654 32+	15+	47		FEL104 --	20+	41		FEL105 --	42+	42						
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096810	MONISH GORI KUSUM 2023016401020987 (97)BORIVALI-(531)	58651 5F	11+	16		FEC101 11+	11			58652 9F	4F	13		FEL101 15+	15		58655 16F	6+	22		FEL102 12+	12			Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	E	5.00	2.50	-- --
		58653 5F	8+	13		FEL103 13+	29			58654 17F	8+	25		FEL104 18+	37		FEL105 25+	25								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096811	KOCHIKAR MANASVI MANISH URMILA 2023016401020786 (97)BORIVALI-(531)	58651 26F	8+	34		FEC101 18+	18			58652 27E	8E	35		FEL101 17+	17		58655 24+	8+	32		FEL102 12+	12			Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	E	5.00	2.50	-- --
		58653 28F	8+	36		FEL103 17+	34			58654 39+	18+	57		FEL104 20+	40		FEL105 41+	41								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096812	BRIAN MEROLON LOBO IRENE 2022016402082027 (97)BORIVALI-(531)	58651 36+	8+	44		FEC101 13+	13			58652 24+	8+	32		FEL101 15+	15		58655 24+	6+	30		FEL102 11+	11			Successful 18.00 88.50	
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	4.92 --
		58653 39	8+	47		FEL103 12+	26			58654 32+	9+	41		FEL104 18+	35		FEL105 37+	37								
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096813	LOPES RICARDO RICHARD VANDANA 2023016401033052 (97)BORIVALI-(531)	58651 21F	15+	36	---	20+	20	9F	7+	16	---	19+	19	24+	6+	30	---	17+	17	18.00	--					
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 35+	9+	44	---	22+	44	32+	11+	43	---	21+	43	---	40+	40	---									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096814	LOPES STASH TONY SNEHAL 2022016402081411 (97)BORIVALI-(531)	58651 33+	8+	41	---	16+	16	24	9+	33	---	20+	20	24+	6+	30	---	15+	15	18.00	92.50					
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.14 --
		58653 32+	12+	44	---	11+	25	41+	9+	50	---	11+	21	---	39+	39	---									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	P	4.00	4.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096815	MACHADO ANISH NISHAL NISHAL MACHADO 2023016401020554 (97)BORIVALI-(531)	58651 32+	17+	49	---	12+	12	31+	12+	43	---	17+	17	24+	6+	30	---	15+	15	18.00	102.00					
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.67 --
		58653 44	11+	55	---	15+	29	35+	8+	43	---	19+	39	---	44+	44	---									
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096816	MAKWANA TANMAY HEMANT DARSHANA 2023016401020763 (97)BORIVALI-(531)	58651 19F	10+	29		FEC101 18+	18			58652 25E	7+	32		FEL101 15+	15		58655 24+	6+	30		FEL102 16+	16		18.00	--				
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 6F	8+	14		FEL103 21+	33			58654 36+	12E	48		FEL104 21+	39		FEL105 43+	43											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096817	MHATRE BHARGAV VINOD PRATIBHA 2022016402082283 (97)BORIVALI-(531)	58651 32+	12+	44		FEC101 18+	18			58652 24+	7+	31		FEL101 22+	22		58655 37	6+	43		FEL102 19+	19		18.00	104.50				
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	5.81 --			
		58653 37+	8+	45		FEL103 14+	27			58654 48+	11+	59		FEL104 15+	25		FEL105 40+	40											
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096818	ASHMIT SHIRLEY 2023016401023266 (97)BORIVALI-(531)	58651 40	8+	48		FEC101 18+	18			58652 26+	9+	35		FEL101 19+	19		58655 24+	6+	30		FEL102 16+	16		18.00	100.00				
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.56 --			
		58653 35+	8+	43		FEL103 22+	35			58654 32+	11+	43		FEL104 21+	39		FEL105 41+	41											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096819	MURZELLO STEVE GLEN KAVITA 2023016401020732 (97)BORIVALI-(531)	58651 32+	19+	51	18.00	FEC101 17+	17	17	7.00	58652 26+	14+	40	12.00	FEL101 19+	19	19	4.50	58655 29	6+	35	10.00	FEL102 15+	15	15	3.50	Successful 18.00 109.00 6.06 --
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	6.06 --
		58653 35+	12+	47	15.00	FEL103 22+	35	35	8.00	58654 32+	10+	42	12.00	FEL104 20+	38	38	9.00	FEL105 42+	42	42	10.00	10.00	10.00	10.00	10.00	10.00
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	10.00	10.00	10.00	10.00	10.00
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --				FINAL GRADE --												
7096820	NUNES ROSSELL ONIL SWEEDLE 2023016401040713 (97)BORIVALI-(531)	58651 33	9+	42	12.00	FEC101 21+	21	21	10.00	58652 25+	7+	32	8.00	FEL101 20+	20	20	5.00	58655 28+	6+	34	10.00	FEL102 20+	20	20	5.00	Successful 18.00 104.00 5.78 --
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.78 --
		58653 37+	10+	47	15.00	FEL103 22+	37	37	8.00	58654 32+	12+	44	12.00	FEL104 21+	39	39	9.00	FEL105 43+	43	43	10.00	10.00	10.00	10.00	10.00	10.00
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	10.00	10.00	10.00	10.00	10.00
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --				FINAL GRADE --												
7096821	PALA BHOOMI PIYUSH SONAL 2022016402081353 (97)BORIVALI-(531)	58651 51	9+	60	21.00	FEC101 21+	21	21	10.00	58652 24+	9+	33	8.00	FEL101 22+	22	22	5.00	58655 24+	10+	34	10.00	FEL102 19+	19	19	4.50	Successful 18.00 111.50 6.19 --
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	6.19 --
		58653 49	10+	59	18.00	FEL103 15+	29	29	6.00	58654 33+	10+	43	12.00	FEL104 18+	30	30	7.00	FEL105 41+	41	41	10.00	10.00	10.00	10.00	10.00	10.00
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	10.00	10.00	10.00	10.00	10.00
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --				FINAL GRADE --												

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096822	AADITYA ANIL PARAB ASHWINI 2023016401021975 (97)BORIVALI-(531)	58651 41E	14+	55		FEC101 18+	18			58652 25+	7+	32		FEL101 22+	22		58655 30+	7+	37		FEL102 18+	18		Unsuccessful 18.00 --					
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	-- --			
		58653 32+	AA	32		FEL103 22+	35			58654 45E	8+	53		FEL104 21+	40		FEL105 44+	44											
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096823	PATOLE JOEL DAVID SHILPA 2023016401021317 (97)BORIVALI-(531)	58651 32+	16+	48		FEC101 17+	17			58652 24+	6+	30		FEL101 20+	20		58655 24+	7+	31		FEL102 16+	16		Successful 18.00 110.50					
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	6.14 --			
		58653 37+	9+	46		FEL103 24+	37			58654 53	13+	66		FEL104 20+	41		FEL105 41+	41											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096824	DIVIT PRADEEP SHETTY VIJAYA 2023016401021952 (97)BORIVALI-(531)	58651 32+	8+	40		FEC101 22+	22			58652 24+	6+	30		FEL101 18+	18		58655 31+	6+	37		FEL102 19+	19		Successful 18.00 102.50					
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	5.69 --			
		58653 32+	11+	43		FEL103 21+	41			58654 34	8+	42		FEL104 20+	41		FEL105 41+	41											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096825	SHETTY TANISH MAKARAND SHAKILA 2023016401020747 (97)BORIVALI-(531)	58651 32+	18+	50	5	FEC101 ---	21+	21	21	58652 25+	15+	40	40	FEL101 ---	20+	20	20	58655 35+	6+	41	41	FEL102 ---	16+	16	16	Successful 18.00 112.50 6.25 --
		3.00 D	6.00	18.00	1.00 O	10.00	10.00	10.00	2.00 D	6.00	12.00	10.00	10.00	0.50 O	10.00	5.00	10.00	2.00 D	6.00	12.00	10.00	0.50 C	7.00	3.50	10.00	
		58653 32	8+	40	4	FEL103 ---	21+	37	37	58654 32+	8+	40	40	FEL104 ---	21+	41	41	FEL105 ---	44+	44	44					
		3.00 P	4.00	12.00	1.00 B	8.00	8.00	8.00	3.00 P	4.00	12.00	10.00	10.00	1.00 O	10.00	10.00	10.00	1.00 O	10.00	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096826	SOANS JOYSON AUSTIN HARSHALATHA 2023016401021171 (97)BORIVALI-(531)	58651 32+	10+	42	4	FEC101 ---	19+	19	19	58652 24	7+	31	31	FEL101 ---	19+	19	19	58655 25+	6+	31	31	FEL102 ---	16+	16	16	Successful 18.00 101.00 5.61 --
		3.00 P	4.00	12.00	1.00 A	9.00	9.00	9.00	2.00 P	4.00	8.00	10.00	10.00	0.50 A	9.00	4.50	10.00	2.00 P	4.00	8.00	10.00	0.50 C	7.00	3.50	10.00	
		58653 32+	11+	43	4	FEL103 ---	17+	31	31	58654 39	13+	52	52	FEL104 ---	20+	39	39	FEL105 ---	42+	42	42					
		3.00 P	4.00	12.00	1.00 C	7.00	7.00	7.00	3.00 D	6.00	18.00	10.00	10.00	1.00 A	9.00	9.00	10.00	1.00 O	10.00	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096827	STEVES NIGEL LAWRENCE BLANCHE 2023016401029433 (97)BORIVALI-(531)	58651 40+	11+	51	5	FEC101 ---	22+	22	22	58652 24+	8+	32	32	FEL101 ---	22+	22	22	58655 24+	7+	31	31	FEL102 ---	21+	21	21	Successful 18.00 111.00 6.17 --
		3.00 D	6.00	18.00	1.00 O	10.00	10.00	10.00	2.00 P	4.00	8.00	10.00	10.00	0.50 O	10.00	5.00	10.00	2.00 P	4.00	8.00	10.00	0.50 O	10.00	5.00	10.00	
		58653 36	10+	46	4	FEL103 ---	19+	32	32	58654 36+	9+	45	45	FEL104 ---	21+	40	40	FEL105 ---	40+	40	40					
		3.00 E	5.00	15.00	1.00 C	7.00	7.00	7.00	3.00 E	5.00	15.00	10.00	10.00	1.00 O	10.00	10.00	10.00	1.00 O	10.00	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096828	TIWARI AANTARIKSHKUMAR ARUNKUMAR - MAYADEVI 2022016402081821 (97)BORIVALI-(531)	58651 23F	8+	31		FEC101 15+	15		58652 31+	7+	38		FEL101 21+	21	58655 24+	6+	30	FEL102 15+	15		Unsuccessful 18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 27F	9+	36		FEL103 14+	27		58654 42E	8+	50		FEL104 14+	25	FEL105 48+	48										
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096829	YADAV NILESH SIYARAM AASHA 2023016401021863 (97)BORIVALI-(531)	58651 32+	12+	44		FEC101 18+	18		58652 27	6+	33		FEL101 21+	21	58655 24+	6+	30	FEL102 19+	19		Successful 18.00	104.50				
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.81 --
		58653 32+	8+	40		FEL103 20+	39		58654 39+	12+	51		FEL104 22+	44	FEL105 43+	43										
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096830	BOTKE SHAYAAN SALIM REHANA 2023016402074064 (98)Bhoisar-(802)	58651 34+	8+	42		FEC101 12+	12		58652 41	6+	47		FEL101 10+	10	58655 34+	7+	41	FEL102 14+	14		Successful 18.00	89.00				
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	C	7.00	14.00	0.50	P	4.00	2.00	2.00	D	6.00	12.00	0.50	D	6.00	3.00	4.94 --
		58653 33+	8+	41		FEL103 20+	30		58654 34+	10+	44		FEL104 15+	29	FEL105 22+	22										
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096831	GOKHALE RUSHIKESH SANGEETKUMAR - VAISHALI 2023016402074234 (98)Bhoisar-(802)	58651 2F	8+	10		FEC101 12+	12			58652 15F	6+	21		FEL101 14+	14		58655 24+	8+	32		FEL102 10+	10			Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	-- --
		58653 22F	13+	35		FEL103 20+	30			58654 19F	10+	29		FEL104 14+	28		FEL105 22+	22								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096832	JADHAV RUCHI BHALCHANDRA MILAN 2023016402066834 (98)Bhoisar-(802)	58651 32+	15+	47		FEC101 23+	23			58652 36+	11+	47		FEL101 20+	20		58655 24+	11+	35		FEL102 23+	23			Successful 18.00 133.00	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	7.39 --
		58653 52+	12+	64		FEL103 21+	40			58654 59	11+	70		FEL104 20+	39		FEL105 42+	42								
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096833	KADAM OM RAJENDRA REENA 2023016402067393 (98)Bhoisar-(802)	58651 36+	12+	48		FEC101 17+	17			58652 24+	7+	31		FEL101 18+	18		58655 24+	7+	31		FEL102 19+	19			Successful 18.00 101.50	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.64 --
		58653 33+	8+	41		FEL103 22+	39			58654 46	11+	57		FEL104 19+	38		FEL105 31+	31								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7096834	KUMMARI TANAY CHINNAMDANNA LALITHA 2023016402067234 (98)Bhoisar-(802)	58651 34	14+	48	4	FEC101 19+	19	19	19	58652 27+	10+	37	37	FEL101 22+	22	22	22	58655 29+	9+	38	38	FEL102 22+	22	22	22	18.00	113.00	6.28	--
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00				
		58653 33+	15+	48	4	FEL103 20+	39	39	39	58654 35+	13+	48	48	FEL104 20+	39	39	39	FEL105 39+	39	39	39								
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096835	KUSHWAHA AMAN RAMANAND SHEELA 2023016402066826 (98)Bhoisar-(802)	58651 34+	14+	48	4	FEC101 17+	17	17	17	58652 24+	10+	34	34	FEL101 18+	18	18	18	58655 32+	7+	39	39	FEL102 15+	15	15	15	18.00	--	--	--
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50				
		58653 34+	12+	46	4	FEL103 20+	39	39	39	58654 20F	8+	28	28	FEL104 17+	35	35	35	FEL105 22+	22	22	22								
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096836	MAHADIK OMKAR DINESH DRUPTIKA 2022016402054607 (98)Bhoisar-(802)	58651 37+	14+	51	5	FEC101 18+	18	18	18	58652 24+	9+	33	33	FEL101 21+	21	21	21	58655 34+	12+	46	46	FEL102 20+	20	20	20	18.00	122.00	6.78	--
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00				
		58653 36	9+	45	5	FEL103 21+	37	37	37	58654 53+	10+	63	63	FEL104 20+	41	41	41	FEL105 42+	42	42	42								
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096837	/ MANIHAR MEHEK SAMEER NAGMA 2023016402074002 (98)Bhoisar-(802)	58651 32+	13+	45		FEC101 --	18+	18		58652 24+	11+	35		FEL101 --	21+	21		58655 26+	8+	34		FEL102 --	21+	21		Successful 18.00 104.00 5.78 --			
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00				
		58653 34+	11+	45		FEL103 --	19+	34		58654 32	9+	41		FEL104 --	18+	36		FEL105 --	38+	38									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096838	MARKANDE TOHID ABBAS MAHEJABEEN 2022016402054871 (98)Bhoisar-(802)	58651 33+	12+	45		FEC101 --	16+	16		58652 34+	9+	43		FEL101 --	19+	19		58655 31+	11+	42		FEL102 --	18+	18		Unsuccessful 18.00 -- -- --			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00				
		58653 26F	9+	35		FEL103 --	20+	33		58654 41+	12+	53		FEL104 --	21+	41		FEL105 --	38+	38									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096839	MISHRA VIVEK MAYASHANKAR VANDANA 2022016402054662 (98)Bhoisar-(802)	58651 AA	8+	8		FEC101 --	20+	20		58652 24+	8+	32		FEL101 --	18+	18		58655 28+	9+	37		FEL102 --	19+	19		ABS 18.00 -- -- --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50				
		58653 AA	11+	11		FEL103 --	16+	30		58654 AA	10+	10		FEL104 --	17+	35		FEL105 --	38+	38									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096840	MOMIN OSAID AHMED SALEEM AHMED - REHANA 2023016402066633 (98)Bhoisar-(802)	58651 20F	10+	30		FEC101 ---	20+	20		58652 24+	6+	30		FEL101 ---	16+	16		58655 26+	11+	37		FEL102 ---	19+	19	18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --
		58653 32+	11+	43		FEL103 ---	20+	35		58654 15F	13+	28		FEL104 ---	20+	39		FEL105 ---	31+	31						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096841	PANDEY KRISHNA SHASHANK ARCHANA 2023016402111154 (98)Bhoisar-(802)	58651 AA	11+	11		FEC101 ---	19+	19		58652 27+	7+	34		FEL101 ---	20+	20		58655 27+	9+	36		FEL102 ---	22+	22	18.00 --	
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 AA	8+	8		FEL103 ---	21+	38		58654 32+	12+	44		FEL104 ---	19+	37		FEL105 ---	37+	37						
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096842	PANDEY SHUBHAM SHIVSHANKAR MANISHADEVI 2022016401713112 (98)Bhoisar-(802)	58651 34+	11+	45		FEC101 ---	17+	17		58652 AA	8+	8		FEL101 ---	21+	21		58655 AA	9+	9		FEL102 ---	18+	18	18.00 --	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	-- --
		58653 AA	12+	12		FEL103 ---	22+	41		58654 AA	9+	9		FEL104 ---	19+	38		FEL105 ---	33+	33						
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7096843	PATHAK ANMOL JAYSHANKAR PUSHPA 2022016402055174 (98)Bhoisar-(802)	58651 40+	11+	51		FEC101 --	21+	21		58652 24E	7+	31		FEL101 --	21+	21		58655 29+	8+	37		FEL102 --	21+	21		Unsuccessful 18.00 --			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 21F	8+	29		FEL103 --	21+	36		58654 46+	9+	55		FEL104 --	19+	38		FEL105 --	42+	42									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096844	PATIL JAY VISHWAS CHHAYA 2023016402067451 (98)Bhoisar-(802)	58651 25F	11+	36		FEC101 --	18+	18		58652 24+	8+	32		FEL101 --	10+	10		58655 24+	10+	34		FEL102 --	13+	13		Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	-- --			
		58653 20F	9+	29		FEL103 --	20+	38		58654 32E	8+	40		FEL104 --	16+	34		FEL105 --	22+	22									
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7096845	PAWADE JAY ASHOK AVANTI 2023016402074145 (98)Bhoisar-(802)	58651 32+	10+	42		FEC101 --	20+	20		58652 32	10+	42		FEL101 --	22+	22		58655 35+	10+	45		FEL102 --	20+	20		Successful 18.00 113.00			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	6.28 --			
		58653 32+	12+	44		FEL103 --	22+	37		58654 43+	14+	57		FEL104 --	18+	37		FEL105 --	39+	39									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE						
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G							
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11														
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G							
7096846	/ SANKHE VAIBHAVI VINAY ANJALI 2023016402067257 (98)Bhoisar-(802)	58651 32+	14+	46	46	FEC101 19+	19	19	19	58652 28+	11+	39	39	FEL101 19+	19	19	19	19	19	19	58655 24+	11+	35	35	FEL102 20+	20	20	20	18.00	108.50	6.03	--
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	10.00	0.50	O	10.00	5.00						
		58653 32+	9+	41	41	FEL103 17+	35	35	35	58654 34	14+	48	48	FEL104 20+	39	39	39	39	39	39	FEL105 39+	39	39	39								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00	9.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																						
7096847	SHAH VIVEK BIPIN SEJAL 2022016402050985 (98)Bhoisar-(802)	58651 32+	9+	41	41	FEC101 16+	16	16	16	58652 14F	6+	20	20	FEL101 17+	17	17	17	17	17	17	58655 24+	6+	30	30	FEL102 17+	17	17	17	18.00	--		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	8.00	0.50	C	7.00	3.50						
		58653 24F	15+	39	39	FEL103 20+	32	32	32	58654 32+	12+	44	44	FEL104 18+	39	39	39	39	39	39	FEL105 38+	38	38	38								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00	9.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																						
7096848	SINGH AAKASH SUNIL RINKU DEVI 2022016402055151 (98)Bhoisar-(802)	58651 3F	8+	11	11	FEC101 19+	19	19	19	58652 24+	6+	30	30	FEL101 19+	19	19	19	19	19	19	58655 24+	6+	30	30	FEL102 18+	18	18	18	18.00	--		
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	8.00	0.50	B	8.00	4.00						
		58653 33E	8+	41	41	FEL103 16+	29	29	29	58654 15F	8+	23	23	FEL104 20+	39	39	39	39	39	39	FEL105 37+	37	37	37								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	8.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																						

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7096849	ARYAN DHIRENDRA SINGH SAPNA 2023016402066424 (98)Bhoisar-(802)	58651 7F	8+	15		FEC101 17+	17			58652 9F	6+	15		FEL101 20+	20		58655 17F	6+	23		FEL102 20+	20			Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 21F	8+	29		FEL103 19+	36			58654 32E	11+	43		FEL104 19+	38		FEL105 36+	36								
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096850	SINGH VIKAS AMRESH PRATIMA 2023016402066954 (98)Bhoisar-(802)	58651 32+	8+	40		FEC101 16+	16			58652 32	7+	39		FEL101 21+	21		58655 25+	9+	34		FEL102 18+	18			Successful 18.00 95.00	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	5.28 --
		58653 32+	12+	44		FEL103 17+	33			58654 33	8+	41		FEL104 16+	30		FEL105 32+	32								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7096851	TIWARI NIKHIL KUMAR NARENDRA RENU 2022016402054685 (98)Bhoisar-(802)	58651 1A	11+	11		FEC101 19+	19			58652 25E	6+	31		FEL101 20+	20		58655 12F	9+	21		FEL102 19+	19			Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	-- --
		58653 9F	12+	21		FEL103 17+	29			58654 4F	15+	19		FEL104 13+	28		FEL105 40+	40								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Information Technology) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 12 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7096852	VARMA RAKESH RAJPAT SHANTHI 2022016402050672 (98)Bhoisar-(802)	58651 32+	12+	44		FEC101 --	20+	20		58652 24+	6+	30		FEL101 --	19+	19		58655 24+	8+	32		FEL102 --	20+	20	Successful 18.00 103.50		
		3.00	P	4.00 12.00		1.00	O	10.00 10.00		2.00	P	4.00 8.00		0.50	A	9.00 4.50		2.00	P	4.00 8.00		0.50	O	10.00 5.00	5.75 --		
		58653 48	8+	56		FEL103 --	19+	37		58654 32+	8+	40		FEL104 --	20+	38		FEL105 --	39+	39							
		3.00	D	6.00 18.00		1.00	B	8.00 8.00		3.00	P	4.00 12.00		1.00	A	9.00 9.00		1.00	A	9.00 9.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7096853	/ YADAV MANSI VIRENDRA SUNITA 2023016402067242 (98)Bhoisar-(802)	58651 32E	14+	46		FEC101 --	20+	20		58652 16F	7+	23		FEL101 --	21+	21		58655 26E	10+	36		FEL102 --	22+	22	Unsuccessful 18.00 --		
		3.00	E	5.00 15.00		1.00	O	10.00 10.00		2.00	F	0.00 0.00		0.50	O	10.00 5.00		2.00	E	5.00 10.00		0.50	O	10.00 5.00	-- --		
		58653 17F	8+	25		FEL103 --	17+	33		58654 14F	11+	25		FEL104 --	19+	38		FEL105 --	39+	39							
		3.00	F	0.00 0.00		1.00	C	7.00 7.00		3.00	F	0.00 0.00		1.00	A	9.00 9.00		1.00	A	9.00 9.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

